Anglo-Qhinese School (Junine)/
Augle-Qhinese School (Primary)

2017 PRELIMINARY EXAMINATION

MATHEMATICS
PAPER 1 (ROOKLET A)
PRIMARY SIX
Name: { } Class: Primary6
Date: 23 August 2017 Duration of Booklets A & B: 50 minutes

 INSTRUCTIONS TO CANDIDATES

You are not ail wed o s a__’calcuiator







Questions 17 to 10 carry 1 mark each. Questions 11 fo 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the Optical
Answer Sheet (OAS). , {20 marks)

1. Mrs Lim bought a car for $119 815.
What is this amount when rounded off {o the nearest $10007?

1) $119000
2) $11980D
3)  $119900
4)  $120 000

N

What is the missing number in the box?

§ 2,2 _ S
11 11 11 ik 11
1} 5
2) 6
3) 7
4y 8



Find the value of %ﬁ — w+dwhen w=-18.

1)
2)
3) 13
4) 45

In the 4 clocks below, labelled A, B, C and D, which_two clocks have a
fime difference of 20 minutes?
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A B C D

1) BandD
2}y BandC
3) AandC

4) CandD

A3



Which two lines in the square grid below are perpendicular to each
other? ’

1) AEandEC
2) Ak andBC
3) ADandBC
4) ADand EC

A cube has 4 of its faces painted in blue. The total area painted in blue
is 84 cm? What is the volume of the cube?

1) 4cmd

2) B4cm?
3) 256cm®
4y 512cmd

A4



Mrs Yeo has 110 gummies to be packed in gift bags. Each gift bag can
hold a maximum of 6 gummies. What is the smallest number of gift

bags she needs?

1) 16
2) 17
3) 18
4) 19

A roll of stickers is made up of stickers of star, heart and cloud shapes.
The shapes are repeated in the pattem as shown below. Each shape

sticker takes up about 1 cm of the rol} of stickers.

%O@@%&k’%@ﬁi{@'

Geoff gave away 1 m of the roll of stickers. How many heart shaped

1eom

AV

stickers would he have given away?

1) 20
2) 25
3) 40
4) 50

A5



8.  Which of the following is not a net of a pyramid?

1)

2)

3)

4)

A6



The bar graph below shows the expenditure of Mr Lee.

. § :
§ §

-

ood Clothing Transport Savings Leisure

On which item does he spend ~§— as much as the amount he spends on
food?

1) Clothing
2) Transport
3) Savings
4) Leisure

A7



11.  The figure is made up of 4 squares, P, Q, R and S. What fraction of the
figure is square R?

Pv
1
1 3
1
2) 3
1
3) 9
A
4 92
12.
A
2-
LB
c
waﬂj

Refer to the square grid above, which of the following statements is true?

1} Point B is south of Point A.
2) Point Cis north of Point B.
3) Point A is north-east of Point D.
4} Point D is south-west of Point B.

A8



13.

The average height of 3 children, Aaron, Benjamin and Coen, was
150 cm. Aaron was 9 cm taller than Benjamin and Benjamin was
12 cm shorter than Coen. Find the height of Benjamin.

1) 143 om
2} 152 em
3) 185em

-4} 164 cm

A sum of money was shared among Jonathan, Benny and Samuel in
theratio 4 : 8 : 5. if Jonathan and Benny received $252 more than
Samuel, how much money did Samuel receive?

1) $105
2) $180
3) $240
4) $315

A9



15. in the 4 diagrams below, labelled A, B, C and D, which 3 of them have
the same shaded area?

A B C D
1) AB,C
2) ABD
3) B,CD
4) ACD . .

A10
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Questions 16 1o 25 carry 1 mark each, Write your answers in the spaces provided.
Give your answers in the units stated and to its simplest form whenever necessary.
{10 marks)

16. Find the value of 80 — 56 =B x 6.

Ans:_

17. Express 6—2» as a decimal.

Ans :

18. 3 girls share 2 identical butter cakes equally.
5 boys share 4 identical butter cakes equally.
What is_the difference befween each boy’s and each girl’s share?

Ans :

2 Sub-Total ;




19. Measure and write down the size of £p in the figure.

Ans :

20. Ataclass ga’dm—‘zrimg,%~ of the girls is equal o % of the boys. Express the

iotal number of boys as a fraction of the total number of girls.

Ans :

3 Sub-Total : !



21.  Whatis the perimeter of a semicircle of diameter 7 em?

22
ke x= <%
(Take 7)

7 em

Ans: cm

22. 7 machines can produce k cupcakes. How many cupcakes will 3 such

machines produce?

Ans

23.  Find the area of the shaded part.

Ans: cm?

4 Sub-Total ;




24. Find the area of a circle of diameter 20 cm. (Take 1 = 3.14)

Ans : cm?

25. Thefigure below is made up of identical triangles. Five of them are shaded.
Shade three more triangies so that XY is the line of symmetry for the figure.

5 Sub-Total :




Questions 26 to 30 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For guestions which require units, give your
answers in the units stated. (10 marks)

26, MrWong has some bookmarks. If he gives each of his pupils 4 bookmarks,
he will have 8 bookmarks lefl. If he gives each of his pupils 6 bookmarks

instead, he will be short of 10 bookmarks. How many bookmarks did
Mr Wong have? -

Ans:

27.  Aschool has 1 500 pupils. 40% of them are girls. 60% of the boys go to
school by school bus. How many boys go to school by school bus?

Ans:

6 Sub-Total :




28. John had 1.5 m of wire. He used some of it to form a shape as shown
below. If b= 5, how much of the wire was not used to make the shape?

{2b+ 15)cm - {2b+ 15)cm

2bem 25 em

(2b + 10) cm

Ans : cm

29.  Arectangular vase has a square base. The height of the vase is twice the
length of the square. Find the volume of the vase.

7cm

Ans: om?

7 Sub-Total -




30. The pie chart below shows the resulls of a survey carried out among
Primary 5 and Primary 6 pupils in a school to find out the favourite sport
among the pupils.

Tennis
110
1
S(?ccer- S
Swimming
450

How many pupils chose Chess as their favourite sport?

Ans :

8 Sub-Total :
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For quest:ons which require units, give. your
answers in the units stated. {10 marks)

1. A restaurant js having a promotion on buffet. The price of the buffet is
$38 per customer. For every 3-paying customers, the 4® customer will
dine for free. What is the greatest number of customers who dined at
the buffet if $608 was spent?

Ans

o

In the diagram, ABCD is a parallelogram. ADE and BFE are straight
lines. AF = BF, £ABF = 57° and £CBF = 40°. Find 2y.

Ans:

2 Qith.Tnial - ! l




:I).

A rectangular container with a base of 30 c¢m by 20 cm and height 10 cm
was partially filled with water. After another 1500 cm?® of water was®

the water level at first?

Ans: cm

Jim was at the Airport in country A. At 2.15 p.m., he flew off to country B
and arrived there 2 hours later and saw that the clock in country B

showed 3.15 p.m. if the time in country A is 10 p.m., what time is it in
country B? : *

Ans: p-m.

3 Sub-Total : ; [



The line graph shows the number of visitors to the museum over
five days.

850
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What is the percentage of the total number of visiiors who visited

the museum on Monday? Round off your answer 1o the nearest 1
decimal place.

Ans:

%

Sub-Tolal - ‘ ‘



For questions 6 1o 18, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets [ ] at
the end of each question or part-question. (50 marks)

6. Mrs Amin spent an equal amount of money on 4 apple pies and 7 curry
puffs at a bakery. Each apple pie cosis 90 cents more than each curry
puff. How much did Mrs Amin spend altogether?

Ans: [31

5 Sub-Total : ‘ ‘



7. In the square grid below, two sides of a trapezium ABCD have been
drawn.

a) Complete the drawing of the trapezium within the grid such that
BC is parallel to AD and AD is twice the length of BC. [1]

b) AB also forms one side of a tiangle ABE in which AB = AE and
£BAE is aright angle. [2]

B C}

- - e
JE

8. Caleb bought a camera with 40% of his money and a radio which cosis
$83 less than the camera. If he spent $265 altogether, how much
money did he have at first?

Ans: (31

6 Sub-Total : I ;




A rectangular container measuring 20 om by 20 cm by 38 em is

- completely sealed so that the water cannot be removed. The height of
the water level is 18 cm. When it is tumed to the side as shown below,
what would the height of the water level be? Give your answer correct {o

2 decimal places.
,"k
120cm m

y q
7716 om |

ORI

V ORI A L T S
'//’/j;/;()cm S

20 cm

Ans : 131

7 Sub-Total : ] ‘



10. The table below shows the number books read by each pupil in a class of
40 pupils. One of the numbers in the table is covered by an'ink blot.

Number of books read by each pupit | 0 14

Number of pupils 4 20

The average number of books read by the pupils in the class is 9.
What is the number covered by the ink blot?

Ans : 131

8 Sub-Total : i ‘ )



11. The figure below shows an empty rectangular tank measuring
80 ¢m by 50 cm by 60 ¢cm.
Water flows from Tap A into the tank at a rate of 8 litres per minute and
from Tap B at a rate of 6 litres per minute. Tap C drains water from the
tank at a rate of 4 litres per minute. At 1 p.m., Tap A was turned on. At
1.15 p.m., Taps B and C were also turned on. At what time will the tank
be completely filled with water?

5
iR
2>
5
o
w

T
1

60 cm
o 50 cm
80 cm . »
Ans: , 4]

S Sub-Total : ‘ ‘_—l



12. Jasmine spent “g- of her.méneyon 6 mugs. She bought another 3 identical
mugs and 10 files with the rest of her money.

a) What fraction of her money did she spend on the 10 files?

b)  How many files could she buy if she had spent all her money on
files only?

Ans:a) [2}

b) &

L 10D Crarda T sl - i !



13.

Mr Gopal spentjsw of his money on 5 mechanical pencils and

12 highiighters. The cost of each mechanical pencil is 3 fimes the cost
of each highlighter. He bought some more of the same mechanical

pencils with % of his remaining money.

a) What fraction of bhis money was spent on the additional
mechanical pencils?

b) How many mechanical pencils did he buy aliogether?

Ans : a) 1]

b) 13}

11 Sub-Total : ‘ i



14.  Inthe diagram below, ABC and DEF are equilateral triangles. GCFHis
a straight line. £«DFH =65° and £GCB-=100°.

a) Find 2x.
b) Find 2y.
H
Ans : a) {21
b) {2

12 Sub-Total : } }



15.

At 9 a.m., Katie left Sunville and drove towards the city at an average
speed of 60 km/h. Two hours later, Perry also left Sunville and drove
along the same route as Katle. After travelling 270 km, Perry caught
up with Katie.

(a) What was Peny’s average speed?

(b) How far apart would they be at 3 p.m.?

Ans : a) {2

b) 2]

13 Sub-Total :




16. At aflorist, roses are sold at 4 stalks for $9 while camations are sold at 7
stalks for $6. Mrs Ting bought an equal number of staiks of roses and
camations. She spent $117 more on the roses.

‘a) How many stalks of flowers did she buy altogether?
b) Her sister visited the same florist and spent an equal amount of

money on the stalks of roses and carnations. What fraction of the
stalks of flowers she bought were roses?

Ans:a) 13]

b) {2}

14 Sub-Total : ] ‘



17.

A figure is drawn on a square piece of paper of side 20 cm. lts outline
consists of a large quadrant, 1 smaller quadrant, a semi-circle and a

straight line. The radius of the smaller quadrant is twice the radius of the
semi-circle.

For each of the following, use the calculator value of = to find

a) the perimeter of the figure correct fo 2 decimal places,

b) the area of the figure corect to 2 decimal places.

e o o g

20 cm

w~v-~u-nu_n-1

e vt o e R o s s o o o -

Ans:a) 2

b) i3]

15 Sub-Total : { ’



18.

The total number of sweets in Container A, Container B, Container C
and Container D was 450. After | doubled the number of sweets in
Container A, took out half of the sweels in Container B; added 50-sweets
to Container C and took out 40 sweets from Container D, the number of
sweets in Container A to Container B {o Container C to Container D is
thenintheratio1:2:3:4.

a)  What is the ratio of the number of sweets in Container A to the

number of sweets in Container B at first?

b) What is the total number of sweelts in the four containers in the
end?

Ans : a) 2]

b). i3]

End of Paper 2

16 Sub-Total : ‘ l
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LEVEL
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SUBJECT :
TERM

Paper 1

ANSWER KEY

2017
PRIMARY 6

ANGLO-CHINESE (JUNIOR/PRIMARY)
MATHEMATICS

PRELIMINARY EXAMINATION
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Q16
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Q19
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Q26 44 bookmarks
Q27 540 boys

Q28 60cem

Q29 686 cm’

Q30 240 pupils

Paper 2

Q1 21 customers
Q2 26°

03  30x20x10= 6000
6000 — 1500 = 4500
4500 + 30 +20 = 7.5cm

Q4 Ypm

Q5 525+ 750 + 475 + 550 + 800 = 3100
3100 =700 = 31
525 + 31 = 16.9354 ~ 16.9°

Q6 da=T¢
4x0.9=3.6
3.6+3=12
1.2x7x2= %16.80

Q7 (a&kb)

Q8 40% on camera }
40% - 83 on radio }265
265 + 83 =348
348 + 80=4.35
4.35 x 100 => $435



Q9% 20x20x18="7200
7200 + 38 + 20 =9.4736 9.47 em

010 9 x40=360
20 x 14=280
360 280 =80
80+16=5

Q11 8000 x 15=120000
60 x 80 x 50 = 240000
240000 ~ 120000 = 120000
8+6—~4=10
1200600 + 10000 =12
L5 pm+ 12 min = 1:27 pm

Q12 {(a) %=5 mugs

6
~=Y mugs

D

9 6 3
57575
3,322
(b) sx3=:
10 x 3 = 30 files
Q3 (@) =

{(b) 17 pencils

Q14 (3) <ZLCEFE=180°-60°-65°— 55°
ZFCA = 180° - 100° - 60° — 20°
£x=180°-20° - 55° = 105°

(b) ZCIB=180°-105°— 75°
LEJA = 180° - 75° — 105°
Ly = 180° - (180° - 105° - 60° = 165°



Q15 (a) 270-120=150
150+ 60=2.5hr
270 + 2.5 = 108 kmn/h

(b)  108x1;=162
1_
60 x 1§~ 90

162 - 90 = 70 km

Q16 (a) 168 stalks

b o

Q17 () 40x2xm=10
'lﬁx%xycx 5
2ﬂx%xn= 5
WOn+5x+57 +10=728318=72.83cm

(b) 196.35cm2

QI8 (a) 1:8

(b)y 450-40=410
410 + 50 =460
460+ 23 =20
20 x 20 = 400 sweets



| CATHOLIC HIGH SCHOOL
~ PRELIMINARY EXAMINATION TWO (2017)
| PRIMARY SIX
MATHEMATICS
PAPER 1
(BOOKLET A)

Name : ( )

Class :Primary 6 -
Date :23 August 2017

Total Time for Booklets A and B: 50 min
15 questions

20 marké

INSTRUCTIONS TO CANDIDATES

‘Do not tum over this page until you are told to do so.

Fol_low a{llzfin.st.ructigns carefully.

Answer all questions. -

Shade your answers in the Optical Answer Sheet (OAS) pravided.

The use of calculators is NOT allowed.







Questions 1 to 10 carnry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the comrect answer.
Make your choice {1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical
Answer Sheet. All diagrams are not drawn {o scale. {20 marks)

1. Round 16 641 to the nearest hundred.

o
@
3)

{4

16 000
16 600
16 700
17 000

2. Which one of the following is the same as 3090 g?

(1)
2)
3)
)

3kg
3kg
30 kg
30 kg

8g.
9Og
8g
90 g

3. Which one of the following is likely to be the height of a dining table top

from the ground?

(1) 85cm .
2 85m

(3) 85cm

4 85m

{Go on 1o the next page)



What is the value of 2 ones, 8 tenths and 14 hundredths?

(1) 2.804
@2 2814
(3) 2.4
(4) 294

Which one of ihe following has the same value as 7 + —g— ?

o B3
o 1.3
3 :}x%
w

Express 0.7% as a fraction.

M 5

@ =
@ 5
@ 155

{Go on to the next page)



7. Five landmarks A, B, C, D and E on a map are shown in the square grid
below.
A
_.
DL
N
E
e T,
Cc
L 2
Dennis is at landmark E.
He faces west and turns 135° ant:»clocmase
Which one of the following landmark is he now facmg’?
M A
2 B
3 C
4 D
8. Wendy paid $280 for 3 similar shirts and 2 similar belts. The price of

each belt is half the price of each shirt. What is the price of each belt?

(1)
@
)
)

$35
$40
356
$70

(Go on to the next page)



9.  Jane used a packet of flour to bake some muffins and cupcakes. After
using % of the packet of flour for muffins and 210 g of flour for
cupcakes, she had 150 g of flour left. What was the mass of flour used
for the muffins?

(1) 70g

(2) 120g
3) 240g
(4 ©00g

10.  The solid shown is fbrmed using some unit cubes.

How many unit cubes are used to form the solid?
' i/“““z
(1) 8
2 9
3 10
4 11
11.  The price of a Pego figure set was $20. Sally bought one such figure set

and had to pay 7% GST on the price. How much did she pay for the
Pego figure set?

(1) $1.40
2) $9.80
(3 $21.40
@ $27

{Go on to the next page)



12.

Number of
sets left
unsold

A toy store sold 200 sels of brick games during a 4-day sale. The line
graph shows the number of sets left unsold at the end of each day.

200
180
160
140
120
100
80
60
40
20
0

(1)
(2)
&)
(4)

T~

20%
40%
60%
80%

AN
~
™~
\\
2 3 4
Day

What percentage of the brick games were sold at the end of Dgy 37

13.

John had tﬁrice as many local stamps as foreign stamps. After giving
away 59 local stamps and 11 foreign stamps, John had equal number of
local and foreign stamps left. How many foreign stamps were there at

first?

(1)
)
)
4

24
35
72
105

{Go on 1o the next page)



14. 10 identical rectangular cards are placed in a straight line at equal
distance from one card to the next card.

1st 417 | rerermreeer e e e 40th

Y

92 cm

How far apart is one rectangular card from the next one?

(1) 72cm

{2) 8om
3 9om .
4 92cm

15. A box contained equal number of red and blue marbles. The blue

- marbles are repacked into 2 smaller bags in the ratio 5 : 7. The

difference in the number of marbles between the itwo bags is 30
marbles. How many marbles were there in the box at first?

(1) oo

(2) 105
(3 180
(4) 360

END OF BOOKLET A



PRELIMINARY EXAMINATION ~ (2017)

 PRIMARY SIX
MATHEMATICS
PAPER 1
(BOOKLET B)
- Name : a ‘ { )

Class Rrimary 6
Total Time for Booklets A and B: 50 min Booklet A
15 questions Booklet B

20 marks
Total

INSTRUCTIONS TO CANDIDATES

Do not turn over this page until you are told to do so.
Follow all instructions carefully.

Answer all guestions.

Write your answers in this booklet.

The use of calculators is NOT allowed.

Booklet A and B consist of 13 printed pages.



Questions 16 fo 25 carry 1 mark-each.-Write your answers in the spaces

provided. For questions which require units, give your answers in the units
staled. {10 marks)
16.  Write one million, ten thousand and ninety in numerals.

Donot write
in this space

Ans:
17. Findthevalue of 56 - {20 +5)x 3+ 1
Ans:
18.  The number line below is marked at equal intervals.

What is the value of X?

Ans:

(Go on to the next page;



19.  Write down all the common factors of 30 and 386. Do not write
in this space
Ans:
20.  Figure ABCDEF is made up of 2 identical squares ABEF and BCDE.
What fraction of the figure is shaded?
Give your answer in the simplest form.
Ang”
, . : . 8m
21.  Find the value of 3 —m when m=6.
Ans:
(Go on to the next page)



22. The table shows the car park charges at a car park. :

First hour

$2.50

Every subsequent % hour or part thereof

$1.50

Mrs Lee parked in the car park from 8.45 a.m. {o 11.00 a.m. on the
same day. How much did she pay for the car park charges?

Ans:$

Do not write
in this space

.23, In the figure, ABCD is a rectangle. AEF is a straight line. Find ~BEF.

A

B

120°

73°

Ans.

{Go on to the next page)




24.  In the square grid below, three straight lines are drawn. Do not write
Draw three more straight lines to form a symmetric figure with XY as the | inthis'space
line of symmetry.

25. The figure below shows a rectangular garden of length 10 m and
breadth 7 m with a foolpath of 0.8 m wide. What is the area of the
garden excluding the footpath?

‘7m

vi

{l

Ans: m

marks for questions 16 to 25

{Go on o the next page)
10



Questions 26 to 30 carry 2 marks each. Show your working and ‘write..your.
answers in the spaces provided. For questions which require units, give your
answers in the units stated. (10 marks)

26. Al a fruit stall, 3 mangoes cost as much as 2 papayas. Each papaya
costs $0.70 more than a mango. What is the cost of a papaya?

Ans: $

- Do ot write
in this space

° s

27. The figure below is made up of a quarler circle and ‘an equilateral
triangle. Find the perimeter of the figure. Give your answer in terms of =.

14 cm

Ans: cm

{Go on to the next page)
i1 -



28.  Arectangular piece of paper BCEF is folded along the dotted line AD as | Do not write
shown below. Find ZADC. inthis space

E

Before folding After folding

Ans: i

29. ‘ Some chicken nuggets were shared among a group of children. When
each child tried taking 5 chicken nuggets, there were 12 chicken
nuggets left over. When each child tried 1o take 8 chicken nuggets, they

found that they needed 8 more nuggets. How many children were there
in the group?

Ans:

(Go on to the next page)
12



30.

A triangle LMN is drawn by joining dots on the square grid below with
three straight lines.

" (@) Measure and write the size of ZLMN.

{b) In the same way, draw a right-angled triangle wath the same area as
tnangle LMN and the same base LN.

- - - - - - - » K - a -

Ans: (a) °

Do not write
in this space

Total marks for questions 26 to 30

END OF BOOKLET B
END OF PAPER 1

13




PRELIMINARY ~EXAMI‘NAT!QN (2017)
PRIMARY SIX
MATHEMATICS
PAPER 2
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Class : Primary 6 Paper® / .
Booklet A 20
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Total Time: 1 h 40 min Booklet B 20
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100

INSTRUCTIONS TO CANDIDATES

Do not turn over this page until you are told to do so.

Follow all instructions carefully.
Answer all guestions.

Write your answers in this booklet.

The use of an approved calculator is expected, where appropriate.

This booklet consists of 16 printed pages.



Questions 1 to 5 carry 2 marks each. Show your working clearly and write your | Do not write
answers in the spaces provided. For questions which require units, give your | in this space
answers in the units stated. All diagrams are notdrawn toscale. (10 marks)

1. A fish burger costs $1 less than a chicken burger. The total cost of 4 fish
burgers is $x.

(a) Express the cost of 20 fish burgersin terms of x.

(b) Express the cost of a chicken burger in terms of x.

Ans: (a) $
s

2. The average of 4 numbers is 27. When one of the numbers is removed,

the sum of the remaining numbers is 72. What is the number that has
been removed?

Ans:




3. In the square grid below, AB is one side of a trapezium ABCD. Do not write
{(a) Draw and label BC that is equal in length as AB and perpendicular | this space

to AB.
{b) Draw and jabel CD that is parallel to AB and twice the length of AB.

TR

4. Maverick and Nathan completed a run with a fotal time of 23 minutes.
Maverick was 5 minutes faster than Nathan. How long did Maverick take
{o complete the'run?

Ans: min:




5. The pattem in the box shows part of a tessellation. o Do not write
Extend the tessellation by drawing two more unit shapes in the space | " hisspace
provided in the box.




For questions 8 to 18, show your working-and write your answers- in the | Do not write
spaces provided. The number of marks available is shown in brackets | ] at | ™S space
the end of each question or part-question. All diagrams are not drawn to
scale. ; {50 marks)

6. The mass of a container with 50 identical cupsis 1500 g - When 30 of the
cups are removed, the mass of the container with the remamang cups is
660 9. What is the mass of each cup?

Ans: 3]




7. The graph below shows the number of v:s:tors who arrived in Smgapore "Do not write |

from 2010 to 2013. : in this space
16
14 S—
EERN— *
. A ——— N ———
Number of 10 | S —
(in million) g = : -~ I . N
6 . E— . — . E—
4 | S S
D ———§
0 * Ve, 2 , — - 37 & 2ot g se
2010 212011 . 2012 2013

Year

(38) What was the ratio of the number. of visitors in 2011 to the number
of visitors in 2012 to the number of visitors in 20137

‘{(b) What was the percentgge increase in the number of visitors who
visited Singapore in 2013 compared to 20107 Give your answer
correct to 2 decimal places.

Ans: (a) ‘ i1
(b) 2]




8, Jack and Alison have a total of $352 at first. After Jack spent g of his | Donot write

3 3 ; in this space
money and Alison spent © of her money, they had equal amount of
money left. How much money did Jack spend?

Ans: B}




The ratio of the volume of liquid in container A to the volume of liquid in
container B was 5 : 2. When 112 ml of liquid from container A was

-poured into container B, the ratio of the volume of liquid in container A to
the volume of liquid in container B became 1 : 2. What was the volume
of liquid in container B in the end?

Ans 133

Do not write
in this space




10.

388 candies were given to some children at a festival. Each boy was
given 5 candies and each girl was given 3 candies. There were 18 more

girls than boys at the festival. How many children were there at the

festival?

Do notwrite
in this space




1.

In the figure, ABCG is a rhombus and ACDE is a parallelogram.

ZABC = 74°, Z/FCE = 29° and ~GAF = 10°.

(a) Find ZFAC.

A

(b) Find ZECD.

Ans: {(a)
(b)

2
21

Do not write
in this space




12.

Anne ,
Anna has 150 more stamps than Beily. After Anne sold% of her stamps

and Betly sold g of her stamps, Anne has 191 more sitamps than Beitty.
How many stamps do both giils have in total at first?

Do not write
in this space

Ans: 4

10



13. Derek uses four identical rectangles to form the figure ABCD with a
~ shaded square in the middle as shown below. Rectangle AMNP is one
. such rectangle. The perimeter of rectangle AMNP is 30 cm. The area of

the shaded square is 81 cm?.

A M B
P
A
‘D c P
(a) Find the length of PN.
(b)- What is the area of figure ABCD?
Ans:

A 4

(@)
(b)

length=7?

121

@]

D0 notwrite
in this space

1



14.

After a discount of 25%, the price of a theme park ticket is $65.25.
Senior citizens are given a further discount of $7.

(a) Whatis the total amount of discount given to senior citizens for the
' ticket?

{(b) Whatis the percentage discount given to senior citizens for the
ticket? Give your answer to the nearest whole number.

Ans (a): 2]

b): §7)

Do not wiite
 in this space

12



15.

At the start of a birthday partly, % of the children were boys and the rest

were girls. During the ;Sal?y, some boys left and the remaining number of

boys were % of the children. 32 boys then joined the party. The number

of children was 10 more than the number of children at the start of the

~ party. How many children were there at the start of the party?

Ans: 14

Do notwrite
in this space

13



16.

The figure below is formed by a rectangle and three circles A, B and C.
The diameter of circle A is half that of circle B and the diameler of circle
B is half that of circle C. Line XY Is the line of symmetry of the figure.
(a) What is the diameter of circle A?

{(b) Find the shaded area.

Take = =3.14

Do not write
in this space

56 cm
+
Ans: {a) {2
(b) i3}

14



17.

Candies were only sold in packets of 12. Each packet was sold at $5.

Mrs Lim had $128 and bought as many packets of candies as possible.
She re-packed them into 42 boxes. Some boxes contained 6 candies

while the rest contained 8 candies.

(@  How many candies did she buy?

{b) .How many boxes contained 8 candies?

Ans: (a)

[2)

(b)

i3]

Do not write
.in this space

15



18.

“fifty-cent coins.

Three boys Alan, Ben and Carl had the same number of coins. Alan and
Ben each had a mix of twenty-cent and fifty-cent coins. Alan had 7
twenty-cent coins while Ben had 17 iwenty-ceni coins. Carl had only
(a) Of the three boys, who had the most money and who had the least?

(b) What was the difference in the total value of Alan and Ben's coins?

{c) Ben used all his fifty-cent coins to buy stationery. He then had $9.10
less than Carl. How many fifty-cent coins did.Carl have?

Ans: (a) Most

Least [}
@) __ 2
© ”

END OF PAPER.
PLEASE CHECK YOUR WORK CAREFULLY.
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EXAM PAPER 2017

LEVEL : PRIMARY 6
SCHOOL  : CATHOLIC HIGH SCHOOL
SUBJECT : MATHEMATICS

Paper 1

Section A

Q1102 1 Q3 Q4 Q5/Q6 | Q7 Q8 Qe QoiQ1iQi2iQi3| Q14| Qls

2 2 3 4 1 4 3 1 3 2 3 4 1 2 4

Q16 1010090

Q17 45
Q18 4.06
Q19 1,236

Q20

SRR

Q21 10
Q2 $7
Qz3  77°
Q24

Q25 644m?-
Q26 $2.10°

Q27 (7w +42)cm
Q28 135°




Paper 2

Q1 {a) 4 fish burgers = $x
1 fish burger = s—f

20 ﬁsh} burgers = -sfix 20

= $5x
{b) 1 chicken burger = 1 fish burger + $1

=5
= +¥1
=$e+n

Q2 27 x4=108

108 - 72 =36
Q3 :

Q4

Q5

g PR . . » . . .
U YUY

Q6  Mass of 50 cups + container = 1500g
Mass of 20 cups + container = 660g
Mass of 30 cups = 840g
Mass of 1 cup = 840g =+ 30
=28g

Q7 @ 2011 : 2012 : 2013
13.5 : 15 : 14.5
27 : 30 : 29 D X2
(v 145-11=3.5 '
35+=11=0.3182
0.3182 x 100%.= 31.82%

AV}



Q8

Q9

Q10

Qi

’ spent Left
Jack 20 1
3 3
Alison | %m %m
g'of Jack = % of Alison : Equal Fraction
Zof Jack =2 of Alison
f’: 5
6+5=11
$352 =11 =%32
6-2=4
4.x$32 =$128-
T A [-1-B [Tom
At ﬁrSi’ 5[1;(3 . 2‘.]x3 7Un
At the end 1Ux7 N 2Ux7 3Ux7 Totaf remained
vnchanged
A I: B | Total
. Atfirst . |- 15u || -6u™ | 21u
Attheend | 7u |:| 14u | 21u
15u—~7u=8u .

112ml = 8 = 14mf
14 x 14ml = 196m!

3x8=54
398 -54 =344
5+3=8

344 =8=43
43x2=86

86 +18 =104

(a) 180° - 74° = 106°
106°+ 2 = 58°
53° - 10°= 43°

(b)180° — 43° = 137°
53° + 290 = §2°
137° — 820 = 55°

s




Q12

Q13

Q14

Q15

191 -150 = 41
1, _5
SA=2B-41
A=11B-123

A=B+ 150
150 + 123.= 273 .
-; B =273

=B=273+7

=39

B=39x8

=312

A=312+150

=462

A+B=462+312
=774

{a) 9x9=81
9+9=18
30-18=12
12+4=3
9+3=12

{(b)y12x3=36
36x4 =144

144 + 81 =225

(a)100-25=75

$62.25+3=%21.75
$21.25 + $7 = $28.75

(b) $21.75 x 4 = $87

$28.75 + $87 =0.33
0.33 x 100% = 33%

Before After
Boys | : | Giris | Total Boys Girls | Total
S50a 1:] 20a o 2u5 3ue
15u | : 6u 21u 4u 6u 10u

Girls remained
unchanged

10u + 32 = 21u +10 (32 boys joined, 10 more children}

1tu=22
fu=2
2iu=42




Q18 (@) lu+2u+4u=7u
7u =56
u=586+7

=8

- (b} Area of circle A=3.14 x4 x 4
= 50.24cm?
Areaofcircle B=3.14x8x 8

. = 200.96 cm?
AreaofcircleC=3.14x 16 x 16

=803.84 cm?

Area of rectangle = 56 x 32

‘ = 1792cm?

Total area of circles = 1055.04em?
Area of shaded = 1792 — 1055.04.
= 736.96 cm?

Q17 (a)$128+$5=2586
25 x 12 = 300

{b) Assume all are 8 candies boxes

42 x 8 =336

336-300=36
8-6=2
36+2=18

Q18 (3). 208 504
Alan 7 17
Ben 17 7 .
Carl - 24

Alan = 0.2x7 + 0.5x17
= $98.90
Ben = 0.2x17 + 0.5x7
= $6.90 {Least)
Carl =0.5x24
=$12 (Most)

(b) $9.90 - $6.90 = $3
(c) 0.20x17 = $3.40

$3.40 + $9.10 = $12.50
$12.50 + 0.50 = 25

2AD






| CATHOLIC HIGH SCHOOL
~ PRELIMINARY EXAMINATION TWO (2017)
| PRIMARY SIX
MATHEMATICS
PAPER 1
(BOOKLET A)

Name : ( )

Class :Primary 6 -
Date :23 August 2017

Total Time for Booklets A and B: 50 min
15 questions

20 marké

INSTRUCTIONS TO CANDIDATES

‘Do not tum over this page until you are told to do so.

Fol_low a{llzfin.st.ructigns carefully.

Answer all questions. -

Shade your answers in the Optical Answer Sheet (OAS) pravided.

The use of calculators is NOT allowed.







Questions 1 to 10 carnry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the comrect answer.
Make your choice {1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical
Answer Sheet. All diagrams are not drawn {o scale. {20 marks)

1. Round 16 641 to the nearest hundred.

o
@
3)

{4

16 000
16 600
16 700
17 000

2. Which one of the following is the same as 3090 g?

(1)
2)
3)
)

3kg
3kg
30 kg
30 kg

8g.
9Og
8g
90 g

3. Which one of the following is likely to be the height of a dining table top

from the ground?

(1) 85cm .
2 85m

(3) 85cm

4 85m

{Go on 1o the next page)



What is the value of 2 ones, 8 tenths and 14 hundredths?

(1) 2.804
@2 2814
(3) 2.4
(4) 294

Which one of ihe following has the same value as 7 + —g— ?

o B3
o 1.3
3 :}x%
w

Express 0.7% as a fraction.

M 5

@ =
@ 5
@ 155

{Go on to the next page)



7. Five landmarks A, B, C, D and E on a map are shown in the square grid
below.
A
_.
DL
N
E
e T,
Cc
L 2
Dennis is at landmark E.
He faces west and turns 135° ant:»clocmase
Which one of the following landmark is he now facmg’?
M A
2 B
3 C
4 D
8. Wendy paid $280 for 3 similar shirts and 2 similar belts. The price of

each belt is half the price of each shirt. What is the price of each belt?

(1)
@
)
)

$35
$40
356
$70

(Go on to the next page)



9.  Jane used a packet of flour to bake some muffins and cupcakes. After
using % of the packet of flour for muffins and 210 g of flour for
cupcakes, she had 150 g of flour left. What was the mass of flour used
for the muffins?

(1) 70g

(2) 120g
3) 240g
(4 ©00g

10.  The solid shown is fbrmed using some unit cubes.

How many unit cubes are used to form the solid?
' i/“““z
(1) 8
2 9
3 10
4 11
11.  The price of a Pego figure set was $20. Sally bought one such figure set

and had to pay 7% GST on the price. How much did she pay for the
Pego figure set?

(1) $1.40
2) $9.80
(3 $21.40
@ $27

{Go on to the next page)



12.

Number of
sets left
unsold

A toy store sold 200 sels of brick games during a 4-day sale. The line
graph shows the number of sets left unsold at the end of each day.

200
180
160
140
120
100
80
60
40
20
0

(1)
(2)
&)
(4)

T~

20%
40%
60%
80%

AN
~
™~
\\
2 3 4
Day

What percentage of the brick games were sold at the end of Dgy 37

13.

John had tﬁrice as many local stamps as foreign stamps. After giving
away 59 local stamps and 11 foreign stamps, John had equal number of
local and foreign stamps left. How many foreign stamps were there at

first?

(1)
)
)
4

24
35
72
105

{Go on 1o the next page)



14. 10 identical rectangular cards are placed in a straight line at equal
distance from one card to the next card.

1st 417 | rerermreeer e e e 40th

Y

92 cm

How far apart is one rectangular card from the next one?

(1) 72cm

{2) 8om
3 9om .
4 92cm

15. A box contained equal number of red and blue marbles. The blue

- marbles are repacked into 2 smaller bags in the ratio 5 : 7. The

difference in the number of marbles between the itwo bags is 30
marbles. How many marbles were there in the box at first?

(1) oo

(2) 105
(3 180
(4) 360

END OF BOOKLET A



PRELIMINARY EXAMINATION ~ (2017)

 PRIMARY SIX
MATHEMATICS
PAPER 1
(BOOKLET B)
- Name : a ‘ { )

Class Rrimary 6
Total Time for Booklets A and B: 50 min Booklet A
15 questions Booklet B

20 marks
Total

INSTRUCTIONS TO CANDIDATES

Do not turn over this page until you are told to do so.
Follow all instructions carefully.

Answer all guestions.

Write your answers in this booklet.

The use of calculators is NOT allowed.

Booklet A and B consist of 13 printed pages.



Questions 16 fo 25 carry 1 mark-each.-Write your answers in the spaces

provided. For questions which require units, give your answers in the units
staled. {10 marks)
16.  Write one million, ten thousand and ninety in numerals.

Donot write
in this space

Ans:
17. Findthevalue of 56 - {20 +5)x 3+ 1
Ans:
18.  The number line below is marked at equal intervals.

What is the value of X?

Ans:

(Go on to the next page;



19.  Write down all the common factors of 30 and 386. Do not write
in this space
Ans:
20.  Figure ABCDEF is made up of 2 identical squares ABEF and BCDE.
What fraction of the figure is shaded?
Give your answer in the simplest form.
Ang”
, . : . 8m
21.  Find the value of 3 —m when m=6.
Ans:
(Go on to the next page)



22. The table shows the car park charges at a car park. :

First hour

$2.50

Every subsequent % hour or part thereof

$1.50

Mrs Lee parked in the car park from 8.45 a.m. {o 11.00 a.m. on the
same day. How much did she pay for the car park charges?

Ans:$

Do not write
in this space

.23, In the figure, ABCD is a rectangle. AEF is a straight line. Find ~BEF.

A

B

120°

73°

Ans.

{Go on to the next page)




24.  In the square grid below, three straight lines are drawn. Do not write
Draw three more straight lines to form a symmetric figure with XY as the | inthis'space
line of symmetry.

25. The figure below shows a rectangular garden of length 10 m and
breadth 7 m with a foolpath of 0.8 m wide. What is the area of the
garden excluding the footpath?

‘7m

vi

{l

Ans: m

marks for questions 16 to 25

{Go on o the next page)
10



Questions 26 to 30 carry 2 marks each. Show your working and ‘write..your.
answers in the spaces provided. For questions which require units, give your
answers in the units stated. (10 marks)

26. Al a fruit stall, 3 mangoes cost as much as 2 papayas. Each papaya
costs $0.70 more than a mango. What is the cost of a papaya?

Ans: $

- Do ot write
in this space

° s

27. The figure below is made up of a quarler circle and ‘an equilateral
triangle. Find the perimeter of the figure. Give your answer in terms of =.

14 cm

Ans: cm

{Go on to the next page)
i1 -



28.  Arectangular piece of paper BCEF is folded along the dotted line AD as | Do not write
shown below. Find ZADC. inthis space

E

Before folding After folding

Ans: i

29. ‘ Some chicken nuggets were shared among a group of children. When
each child tried taking 5 chicken nuggets, there were 12 chicken
nuggets left over. When each child tried 1o take 8 chicken nuggets, they

found that they needed 8 more nuggets. How many children were there
in the group?

Ans:

(Go on to the next page)
12



30.

A triangle LMN is drawn by joining dots on the square grid below with
three straight lines.

" (@) Measure and write the size of ZLMN.

{b) In the same way, draw a right-angled triangle wath the same area as
tnangle LMN and the same base LN.

- - - - - - - » K - a -

Ans: (a) °

Do not write
in this space

Total marks for questions 26 to 30

END OF BOOKLET B
END OF PAPER 1
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PRELIMINARY ~EXAMI‘NAT!QN (2017)
PRIMARY SIX
MATHEMATICS
PAPER 2
Name ( ) _
Class : Primary 6 Paper® / .
Booklet A 20
. ’ Paper 1 ‘
Total Time: 1 h 40 min Booklet B 20
18 questions paper 2 A
80 marks
Total Marks

Parent’s Signature:

100

INSTRUCTIONS TO CANDIDATES

Do not turn over this page until you are told to do so.

Follow all instructions carefully.
Answer all guestions.

Write your answers in this booklet.

The use of an approved calculator is expected, where appropriate.

This booklet consists of 16 printed pages.



Questions 1 to 5 carry 2 marks each. Show your working clearly and write your | Do not write
answers in the spaces provided. For questions which require units, give your | in this space
answers in the units stated. All diagrams are notdrawn toscale. (10 marks)

1. A fish burger costs $1 less than a chicken burger. The total cost of 4 fish
burgers is $x.

(a) Express the cost of 20 fish burgersin terms of x.

(b) Express the cost of a chicken burger in terms of x.

Ans: (a) $
s

2. The average of 4 numbers is 27. When one of the numbers is removed,

the sum of the remaining numbers is 72. What is the number that has
been removed?

Ans:




3. In the square grid below, AB is one side of a trapezium ABCD. Do not write
{(a) Draw and label BC that is equal in length as AB and perpendicular | this space

to AB.
{b) Draw and jabel CD that is parallel to AB and twice the length of AB.

TR

4. Maverick and Nathan completed a run with a fotal time of 23 minutes.
Maverick was 5 minutes faster than Nathan. How long did Maverick take
{o complete the'run?

Ans: min:




5. The pattem in the box shows part of a tessellation. o Do not write
Extend the tessellation by drawing two more unit shapes in the space | " hisspace
provided in the box.




For questions 8 to 18, show your working-and write your answers- in the | Do not write
spaces provided. The number of marks available is shown in brackets | ] at | ™S space
the end of each question or part-question. All diagrams are not drawn to
scale. ; {50 marks)

6. The mass of a container with 50 identical cupsis 1500 g - When 30 of the
cups are removed, the mass of the container with the remamang cups is
660 9. What is the mass of each cup?

Ans: 3]




7. The graph below shows the number of v:s:tors who arrived in Smgapore "Do not write |

from 2010 to 2013. : in this space
16
14 S—
EERN— *
. A ——— N ———
Number of 10 | S —
(in million) g = : -~ I . N
6 . E— . — . E—
4 | S S
D ———§
0 * Ve, 2 , — - 37 & 2ot g se
2010 212011 . 2012 2013

Year

(38) What was the ratio of the number. of visitors in 2011 to the number
of visitors in 2012 to the number of visitors in 20137

‘{(b) What was the percentgge increase in the number of visitors who
visited Singapore in 2013 compared to 20107 Give your answer
correct to 2 decimal places.

Ans: (a) ‘ i1
(b) 2]




8, Jack and Alison have a total of $352 at first. After Jack spent g of his | Donot write

3 3 ; in this space
money and Alison spent © of her money, they had equal amount of
money left. How much money did Jack spend?

Ans: B}




The ratio of the volume of liquid in container A to the volume of liquid in
container B was 5 : 2. When 112 ml of liquid from container A was

-poured into container B, the ratio of the volume of liquid in container A to
the volume of liquid in container B became 1 : 2. What was the volume
of liquid in container B in the end?

Ans 133

Do not write
in this space




10.

388 candies were given to some children at a festival. Each boy was
given 5 candies and each girl was given 3 candies. There were 18 more

girls than boys at the festival. How many children were there at the

festival?

Do notwrite
in this space




1.

In the figure, ABCG is a rhombus and ACDE is a parallelogram.

ZABC = 74°, Z/FCE = 29° and ~GAF = 10°.

(a) Find ZFAC.

A

(b) Find ZECD.

Ans: {(a)
(b)

2
21

Do not write
in this space




12.

Anne ,
Anna has 150 more stamps than Beily. After Anne sold% of her stamps

and Betly sold g of her stamps, Anne has 191 more sitamps than Beitty.
How many stamps do both giils have in total at first?

Do not write
in this space

Ans: 4

10



13. Derek uses four identical rectangles to form the figure ABCD with a
~ shaded square in the middle as shown below. Rectangle AMNP is one
. such rectangle. The perimeter of rectangle AMNP is 30 cm. The area of

the shaded square is 81 cm?.

A M B
P
A
‘D c P
(a) Find the length of PN.
(b)- What is the area of figure ABCD?
Ans:

A 4

(@)
(b)

length=7?

121

@]

D0 notwrite
in this space

1



14.

After a discount of 25%, the price of a theme park ticket is $65.25.
Senior citizens are given a further discount of $7.

(a) Whatis the total amount of discount given to senior citizens for the
' ticket?

{(b) Whatis the percentage discount given to senior citizens for the
ticket? Give your answer to the nearest whole number.

Ans (a): 2]

b): §7)

Do not wiite
 in this space

12



15.

At the start of a birthday partly, % of the children were boys and the rest

were girls. During the ;Sal?y, some boys left and the remaining number of

boys were % of the children. 32 boys then joined the party. The number

of children was 10 more than the number of children at the start of the

~ party. How many children were there at the start of the party?

Ans: 14

Do notwrite
in this space

13



16.

The figure below is formed by a rectangle and three circles A, B and C.
The diameter of circle A is half that of circle B and the diameler of circle
B is half that of circle C. Line XY Is the line of symmetry of the figure.
(a) What is the diameter of circle A?

{(b) Find the shaded area.

Take = =3.14

Do not write
in this space

56 cm
+
Ans: {a) {2
(b) i3}

14



17.

Candies were only sold in packets of 12. Each packet was sold at $5.

Mrs Lim had $128 and bought as many packets of candies as possible.
She re-packed them into 42 boxes. Some boxes contained 6 candies

while the rest contained 8 candies.

(@  How many candies did she buy?

{b) .How many boxes contained 8 candies?

Ans: (a)

[2)

(b)

i3]

Do not write
.in this space

15



18.

“fifty-cent coins.

Three boys Alan, Ben and Carl had the same number of coins. Alan and
Ben each had a mix of twenty-cent and fifty-cent coins. Alan had 7
twenty-cent coins while Ben had 17 iwenty-ceni coins. Carl had only
(a) Of the three boys, who had the most money and who had the least?

(b) What was the difference in the total value of Alan and Ben's coins?

{c) Ben used all his fifty-cent coins to buy stationery. He then had $9.10
less than Carl. How many fifty-cent coins did.Carl have?

Ans: (a) Most

Least [}
@) __ 2
© ”

END OF PAPER.
PLEASE CHECK YOUR WORK CAREFULLY.
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EXAM PAPER 2017

LEVEL : PRIMARY 6
SCHOOL  : CATHOLIC HIGH SCHOOL
SUBJECT : MATHEMATICS

Paper 1

Section A

Q1102 1 Q3 Q4 Q5/Q6 | Q7 Q8 Qe QoiQ1iQi2iQi3| Q14| Qls

2 2 3 4 1 4 3 1 3 2 3 4 1 2 4

Q16 1010090

Q17 45
Q18 4.06
Q19 1,236

Q20

SRR

Q21 10
Q2 $7
Qz3  77°
Q24

Q25 644m?-
Q26 $2.10°

Q27 (7w +42)cm
Q28 135°




Paper 2

Q1 {a) 4 fish burgers = $x
1 fish burger = s—f

20 ﬁsh} burgers = -sfix 20

= $5x
{b) 1 chicken burger = 1 fish burger + $1

=5
= +¥1
=$e+n

Q2 27 x4=108

108 - 72 =36
Q3 :

Q4

Q5

g PR . . » . . .
U YUY

Q6  Mass of 50 cups + container = 1500g
Mass of 20 cups + container = 660g
Mass of 30 cups = 840g
Mass of 1 cup = 840g =+ 30
=28g

Q7 @ 2011 : 2012 : 2013
13.5 : 15 : 14.5
27 : 30 : 29 D X2
(v 145-11=3.5 '
35+=11=0.3182
0.3182 x 100%.= 31.82%

AV}



Q8

Q9

Q10

Qi

’ spent Left
Jack 20 1
3 3
Alison | %m %m
g'of Jack = % of Alison : Equal Fraction
Zof Jack =2 of Alison
f’: 5
6+5=11
$352 =11 =%32
6-2=4
4.x$32 =$128-
T A [-1-B [Tom
At ﬁrSi’ 5[1;(3 . 2‘.]x3 7Un
At the end 1Ux7 N 2Ux7 3Ux7 Totaf remained
vnchanged
A I: B | Total
. Atfirst . |- 15u || -6u™ | 21u
Attheend | 7u |:| 14u | 21u
15u—~7u=8u .

112ml = 8 = 14mf
14 x 14ml = 196m!

3x8=54
398 -54 =344
5+3=8

344 =8=43
43x2=86

86 +18 =104

(a) 180° - 74° = 106°
106°+ 2 = 58°
53° - 10°= 43°

(b)180° — 43° = 137°
53° + 290 = §2°
137° — 820 = 55°

s




Q12

Q13

Q14

Q15

191 -150 = 41
1, _5
SA=2B-41
A=11B-123

A=B+ 150
150 + 123.= 273 .
-; B =273

=B=273+7

=39

B=39x8

=312

A=312+150

=462

A+B=462+312
=774

{a) 9x9=81
9+9=18
30-18=12
12+4=3
9+3=12

{(b)y12x3=36
36x4 =144

144 + 81 =225

(a)100-25=75

$62.25+3=%21.75
$21.25 + $7 = $28.75

(b) $21.75 x 4 = $87

$28.75 + $87 =0.33
0.33 x 100% = 33%

Before After
Boys | : | Giris | Total Boys Girls | Total
S50a 1:] 20a o 2u5 3ue
15u | : 6u 21u 4u 6u 10u

Girls remained
unchanged

10u + 32 = 21u +10 (32 boys joined, 10 more children}

1tu=22
fu=2
2iu=42




Q18 (@) lu+2u+4u=7u
7u =56
u=586+7

=8

- (b} Area of circle A=3.14 x4 x 4
= 50.24cm?
Areaofcircle B=3.14x8x 8

. = 200.96 cm?
AreaofcircleC=3.14x 16 x 16

=803.84 cm?

Area of rectangle = 56 x 32

‘ = 1792cm?

Total area of circles = 1055.04em?
Area of shaded = 1792 — 1055.04.
= 736.96 cm?

Q17 (a)$128+$5=2586
25 x 12 = 300

{b) Assume all are 8 candies boxes

42 x 8 =336

336-300=36
8-6=2
36+2=18

Q18 (3). 208 504
Alan 7 17
Ben 17 7 .
Carl - 24

Alan = 0.2x7 + 0.5x17
= $98.90
Ben = 0.2x17 + 0.5x7
= $6.90 {Least)
Carl =0.5x24
=$12 (Most)

(b) $9.90 - $6.90 = $3
(c) 0.20x17 = $3.40

$3.40 + $9.10 = $12.50
$12.50 + 0.50 = 25

2AD
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Do not tum over this page until you are told to do so.
Follow all instructions carefully.

Answer all questions. A
Shade your answers in the Optical Answer Sheet (OAS) provided.

You are not allowed to use a calculator.



Questions 1 to 10 carry 1 mark each, Questions 11 to 15 cany 2 marks sach.
For each qusstion, Tour options are glven. One of them is the correct answer.
Make your cholce and shade your answer {1,2,30r4)onthe Optical Answer Shest.

(20 marks)

2,

What Is the value of 30 onés, 30 tenths and 30 hundredths?

(1) 333
(2) 3033
{3) 33.03
{4) 13330
8,2
Find the value of 3 ;-5
3
{1) Y
) 18
o —
2 27
K]
3 xS
3 1 3
4
M 1 6

Which of the following is the same 35 4020 g ?

(1) 4k 2g
2 4kg20g
(3) 40kg 2g
(4) 40kg20g

{Go on to the next pags)



Mrs Toh started her 20-minuts jog at 8.35 a.m. After her jog, she did her
housework until 8,15 a.m. How much time did she spend doing her
housework? ’

(1) 1h20min
(2) 1h40min
3) 2h20min
(40 2h40min

The 1able below shows the number of library books borrowed by soms
pupils on a particular day.

Numbar of _

books 0 1 2. 3 4
borrowed »

| pupils

How many puplls borrowed at least 3ilibrary books?

(1y 24
(2 18
(3 12
4 4

Find ‘fh& value of 33~ {18 ~12 + 3).

(1) 1
2 9
@ 19
@ 3

{Go on 1o the next pags)



7‘

In the diagram balové, the lstters R, E, L, A and X are drawn on a square

grid.

>
<l

Which of the letters above have only 1 line of symmetry?

1
@
&
(4

Aand E
Aand X
EandR

L.and X

{Go onto the next page)



The figure bslow shows a pyramid.

Which one of the following is not a net of the pyramid?
&) \ 2)

(3) | , {4)

{Go on to the next page)



10.

11.

Fatimah spent 30% of her salary and still had $4200 of her salary left.
How much money did she spend?

(1
2
@)

(4)

$600
$980
$1400
$1800

The rectangle EFGH below Is made up of 8 identical squares. What s
the ratlo of the area of the shaded part fo the area of the unshaded part?

E

(1)
(2)

) -

@ .

F

Jack and Bill had $300 altogether. After Jack spent $60, he had hvice as
much money as Bill. How much money did Bill have?

(1)
2
(3)
4

$70
$80

$140
$160

{Go on to the next page)



12. In the figure below, ABCD Is a rectangle. ZBAC = 34° and ZCED = 72,
Find the value of ZACE,

A B
34¢

720

(1) 18°
@ r
(3 18°
@ 2r

13. The ple chart shows the number of frujts sold at a frult stall.

There are 65 pears and 100 mangoes-at the stall. The number of
mangoes is twice the number of oranges. How many apples are there at

the stall?

M 115
2) 145
(3 165
4) 185

{Go on to the next page)



14,

15.

A baker sold 400 cakes In 5 days. Each day, he sold 7 cakes fewer than
the previous day. Find the number of cekes he sold on the fisst day.

(1) 59
2) 68
(3) 87
4) o4

The figure below is made up of 3 identical squares, each with an area of
81 cm? The squares overlap each other as shown below. The overlapped -
parts are ldentical. Given that the area of the figure ls 183 cm?, find the
area of each overlapped part.

(1) 20em?
{2) 30cm?
(3) 51om?
(4) 60cm?

(Go on to Booklet B)
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Class: Primary 6

Total Time for Booklets A and B: 50 min

Do not turn aver this page until you are told to do so.
Follow all instructions carefully.

Answer all questions.

White your answers in this booklet,

You are not allowed 1o use a calculator.

20




Questions 16 to 25 camry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.
{10 marks)

18.  Round off 49 988 {o the nearest hundred,

Ans: _

17. In a Mathematics test, Abel scored 84 marks, Barney scored 68 marks and
Chris scored 48 marks, What was thelr average score for the test?

Ans:

18.  Mrs Tes paid for 8 identical bowls with a fifty-dollar note.
She recelved $m change. Express the cost of 1 bowl in terms of m.

Ans: $
(Go on 1o the next page)

Do not write
in this space




19.

20.

The table shows the postage charges for sending letters.

Mass ‘ Cbst
First20g - $1.20
Every additlonal 10 g or part iheraof $0.356

Wendy posted a letter weighing 38 g. How much monsy did she havs to pay

as postage?

Find the area of the triangle shown below.

Ans: §

gcm

Ans:

om?

{Go onto the next page)

Do notwrite
In this space




21.

22.

The graph below shows the number of durians sold from Monday to Friday.

Number of durians

Mon Tue Wed Thu. Fr

What is the ratio of the number of durlans sold on Wednesday to the total
number of durians sold over the five days?

Ans:

The ple chart below represents the number of spsctators at a soccer match,
What fraction of the spectators is made up of men?
Give your answer In the simplsst form.

{Go on to the next page)

H

i

Do not write
inthis space




23.  Find Zy In the figure below. Do not wilte
inthis space.

Ans: 0

-24.  Inthe figure below, ACE and BCD are straight lines.
£LABC = 88°, ZCAB = 44° and ZCDE = 55°. Find ZCED.

Ans: N




25.  Fourldentical 7~cm squares wers cut out from a rectangular pisce of grey | Do notwrite
paper measuring 100 cm by 46 cm as shown below. Find the perimeter of | 1 (s space
the remalning plece of grey paper.

———0m >

Ans: : om

(Go on to the next page)




Questions 28 to 30 cary 2 marks each. Show your working clearly and wiite your
answers In the spaces provided. For questions which require units, give your
answers in the units stated.
{10 marks)
26.  Sally used 2 identical ploces-of ribbon to tie a hamper. -g. of each piece of
ribbon was 4 m. Find the total length of the ribbon used. Express your answer

as a fraction in its simplest form.

Ans: _m

27. In the figure below, XYZ Is an isoscsles triangle.
Given that ZXWV = 93°, ZUWV =10°and ZWUX =85°, find £X2Y.

Ans:.

e

1 Donotwiite

inthis spacs



Do notw
28.  The price of an eraser is % the price of a pencil. The price of a highlighter Is | i, m“,:;"ffgg

% the price of an eraser. Given that each highfighter costs $1.50, find the cost |
of the pencil.

. Ans: 3

29. A childhood game is played by rolling a wheel as shown bsilow.

The radius of a wheel Is 40 cm. What is the distance covered when the whes]
makes 10 complete tums? (Take n = 3.14)

Ans:, cm

{Go on to the next pags)



30.

Chiloe collected 2 types of bookmarks. The table shows the number of each
iype of bookmarks she had at first.

Materials of bookmarks | Number of bookmarks
‘ Paper 69
Plastic 38

After Chloo’s father gave her some paper bookmarks, the percentage of her
plastic bookmarks decreased 1o 20%. Find the total number of bookmarks
given to Chioe by her father.

Ans:

End of Paper 1

Do not writa
in this space
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Do not tum over this page until you are told to do so,

Follow all instructions carefully.

Answer all questions.

Show your working clearly as marks are awarded for correct working.
Write your answers in this booklet.

You are allowed 10 use a calculator.



Questions 1 to 5 carry 2 marks each. Show your working ¢tlearly and write your
answers In the spaces provided. For questions which require units, give your
answers In the units stated. (10 marks)

1. A chef bought a total of 8 kg of prawns =nd fish. He cooked 3.8585 kg of
fish and had —} of the mass of fish left. What s the mass of prawns he

bought?

Ans: ka

2. The figure below is made up of a quadrant and 2 identical sgmicircles of
radius 40.5 cm. Find the perimeter of the figure. (Take x = -2;',?4

Ans: cm

Do not write

.| Inthis spact

{Go on to the next page)}




3.

W

Since January, David deposits his savings Into his bank accountevery | Donotwite
month. The graph below shows the amount of money in David’s bank In this space

account at the end of each month from January to May.

$2,000 , : ¥

$1.800 |— ——4

$1.600 +— : e i -

$1400 - =

$1,200 :

$1,000 !
- .
$600
$400
$200

$0
. WJen Feb Mar Apr May
Month

Amount of Money

Given that David’s monthly salary is $4500 what percentage of David’s
salary did he save in March? Express your answer as a fraction in'its
simplest form.

Ans: ___ : %

Peter must score an average of 85 points for 3 games in order towin a
prize at a funfalr. Peter scored 68 points and 78 points for the first 2
games. What is the least numb@f of points he needs to score in the 3rd

game o Win a prize?

Ans:

{Go on to the next page)

2 | B *




5, Mrs Yip had 815 red pens and 549 blus pens. After selling twice as many | Do not wri
biue pens as red pens, she had a fotal of 363 pens left. How many red In this spas
pens had sha left?

Ans:

{Go on to the next page)




For questions 8 to 18, show your working clearly and write your answers in the
spaces provided. The number of marks available is shiown in brackets| Jatthe
end of each question or part-question.

(50 marks)

8. The figure belaw consists of a square and a circle with diameter of 6 cm.
What Is the area of the tinshaded pat? (Take n = 3.14)

Ans:. {3}

3. Ben received $1.50 more pocket money than Jerry daily. Each boy spent
£2.20 a day and saved the rest. When Jerry had saved $28.80, Ben had
saved $24 more than Jeiry. How much pocket money did Bén receive
daily?

Ans: [3]

Do not write

- inthis space

{Go on {o the next page)




A rectangular fank measures 34 cm hy 52 cm by 16 cm. Alice managed to | Do not wite
fit in a total-of 56 identical cubes Info the tank before covering it with a lid. | 0 this space
This was the. gieatsst humber of such cubes she could fit into the tank.
Given that the length of one side of the cube Is a whole number find its
length,

Ans: (3]

(Go on to the next page)




9.

Weiming Is £ ysars old now. His mother is 1 year younger than his fathar, | Do notwrite
In 4 years’ ime. Weiming's father will be ivice Weiming’s age. How old i | I /s space
Weiming’s mothernow? Express your answerintermsof £

Ans: [3]

{Go on to the next page)

° l i

| .




10.

In the figure below, ABCD Is a rhombus. <EDB = 87° ZFEG = 110° and
ZBAD = 86°. Given-that GED, FEC and FDB are straight lines, find «FGD.

F

Ans: [3]

{Go onto the next page)

In this space




11,

Steven and Tom started cycling at the same time along & 8,5 kmtrack. Do not writa
Both did not change thelr speeds throughout the whole joumey. Steven | 1t space
cycled st a speed of 30 mimin fester than Tom. When he reached the
end of the track, Tom was 800 m behind him. What was Tom's cycling
speed In m/min?

Ans: [4]}

{Go on to the next page)

8 ‘ !




12

Meifen has a numbsr of 10¢, 204 and 50¢ coins inthe ratio of8:3: 5

respectively. The tolal value of all the coins is $195.

(a) Melfen spent haif the number of her 50¢ coins. Find the new ratio
of the numbsr 6F 10¢ coins to the number of 20¢ coins fo the
remaining number o 50§ coins.

(b) Whatis the total value of the 20¢ toins?

Ans: (8) [11
(b) {31
(Ge sn te the next pags)

Do not write

| In this space




13.

Mrs Tang had some money. She used §53 to pay for 4 ldentical large
potted plams and 7 identical small potted piams

If she bought another large potted plant, she would be short of $3.50.
If she bought another small potted plant. she would have $1.50 left.

a) What is the difference in price between the large and the small potted
plant?

b) Find the price of one large potied plant,

Ang: (3) {1]

(b) {31

Do not write
n this space:

{Ge #n i the next page)

10 '



14.

Every month, Jevier spends -g of his salary on food ~g~ of the remainder on

rent and saves the rest of his salary.

{a) Whatfraclion of his salary does Jevier sava?
Give your answer in the simplest form

(b) Jevieris saving to buy a laplop that costs $4000. Given that he spends
$1200 on food every' manth. how long will he teke fo save In order to
buy the laptop?

Ans: (a) [2]
{b) [3]
{Go on{o the next page)

Do not writ
in this spac

"1




16.

The figure below shows 2 rectangular {anks, A and B. Tank A has abase
area of 30 e while Tank B has a base area of 90 cm?.

Tank A

Tank B

a) Tank A contained water to a helght.of 47 cm. What was the volums of

water in Tank A?

b) Tank B was emply at first, Aivin furned on the tap for 6 minutes, allowing
water o flow at a rate of 95 ¢m® min.info Tank B Then, he poured some
water from Tank A into Tank B until the height of the water level in Tank B
was the same as the height of the water level in Tank A. Find the height -

of the water level in Tank B.

Ans:(a)

(b)

12

[1]

[4]

{Go on 1o the next page)

Do not write
InYhis space

*



16.

In tha figurs below, ABC is an isosceles triangle and EFGC is a square.

ZCDE =20° end ZBAC =98° DCFIs a straight line.

(a) Find ZFCA,

{b) Find LDEC.

g<
Ans: (a) (2]
(b) [2]
{Go on to the next page)

13

Do notl wrile
in this spagt

w—y

f



17.

Mr Lau bought & tennis racket and s bag at discounted prices. He spenta
total of $168,75 on the two jtema. Theratio of the amount Mr Lau paid for the
tennis racket to the amount he pald for the bagwas 2: 1,

{8) Find the cost of the bag after the discount.

(b) The tolal discount given for the two items was $31.25. MrLauwas
given a 10% discount for the tennis racket. What was the percentage

Do not write
in this space

discount gjven for the bag?
Ans: (a) 1] |
{b) [4]
{Go on to'the next page)

13 !



18. Numbers are written in order beginning from 1 as shown in the pattem below.

Row 1 1

Row 2 213]4.

Row 3 s|le|{7|s]s
Row 4 1011 {12 {13 1415 18
Row 5 17 | |

Row8 N

Glven that thé pattemn continues,

{a) find the number represented by the letter N:

{b} find the greatest number in Row B,

{c) find the number in the middle of Row 12

Selers;

Mrs Jossphine Lal, Ms Grace Chan, Ms Yew Hew Mel, Mr Yip Yew Fel and Mrs Norsh Idil

Ans: {a)

End of Paper

)

{c)

15

[1]

1]

2]

Do not write
In this space




ANSWER SHEET

EXAM PAPER 2017 (P6)
SCHOOL : HENRY PARK
SUBJECT : MATHEMATICS
TERM : PRELIM

Q1 Q2 Q3 Q4 Q5 Qb Q7 Q8 Q9 Qio
1 3 2 1 2 3 1 4 4 1
Qli Q12 Qi3 Qi4 Q1s
2 1 4 4 2
16)50000

17)68 + 64 + 48 = 180
180+ 3=60 -
18)550 - $Sm
=$(50 —m)
${50 -m)=+6
= ${50-m/6)
19)51.20 + $0.70 = $1.90
20) %2 x 13cm x 4cm = 26cm2




21)30 +25+25+20+15 =115
15:115
3:23
22)100% — 28% — 16% — 8% = 48%
=48/100 = 12/25
23)360° —132° —98° —51° =79°
24)/180° —86° —44° =50°
ZACB= ZDCE
ZCED—>180° —55° —-50° =75°
25)}{100cm + 4cm) x 2 = 290cm
bx7cm=42cm
290cm +42cm = 332cm
26)5/8>4m
1/8-2>0.8m
2->12.8m = 128/10m = 124/5m
27) £XWU->93° ~10° =83°
ZYXZ>180° —83° —65° =32°
£XYZ->180° -32° —-32° =116"
28lH: E: P 3u~>$1.50
3:4 u—>51.50+ 3 =$0.50
8u—>8 x $0.50 = 84

1:2
3:6:8



29)40cm x 2 = 80cm
10x (80cm x 3.14)
=2512cm
30)20% 36
80% —>36 x4 =144
144 —- 69 = 75 bookmarks
Paper 2
1)% ->3.855kg -
% —>3.855kg <3 =1.285kg
1->1.285kg x 4 = 5.14kg
2) % (2 x 22/7x 10.5) x 1% = 82.5
82.5+10.5+10.5 =103.5cm
3)300/4500 x 100 = 62/3
4)85 x 3 = 255
255 -79- 68 = 108.
5)615 +549 =1164
.1164 -363 =801
801-+3 =267
615 — 267 = 348 red pens
6)Area of square {6cm X 6em) =2 = 18cm?2
6cm-<+2 =3cm
Area of circle->3.14 x 3cm x 3cm = 28.26cm2

Area of unshaded—>28.26cm2 — 18cm2 = 10.26cm2



7)$24--%1.50 = 16
$28.80 + $24 = $52.80
$52.80-+16 =$3.30
$3.30 + $2.20 = $5.50
8)52cm—~7cm = 7R3cm
16cm <-7cm = 2R2cm
34cm—-7cm = 4R6cm
7x4x2=56
Ans: 7cm
9)4 years later
w-2(f + 4)
WF->(f+4) x 2 = (2f + 8)
MO(2f+8)—1=(2f+7)
Now
M->(2f + 7) — 4 = (2f + 3) years old
10)£CBD->180° —66° /2=57°
ZEDC—)Q?'; -57° =40°
ZFCD->180° —-40° —110° =30°
11)600m-=-30 m/min =20 min
6.5km = 6500m
Steven speed—>6500m <20 min = 325m/min

Tom speed—>325m/min — 30m/min = 295m/min



12)a)16:6:5
b)150 x $0.20 = $30
13)a}$3.50 + $1.50 =85
b)4 x $5 = $20
$53~520=5$33
$33+(7 +4) =33
$3+9$5=98
14)a)1-2/5=3/5
R>4/9x3/5=4/15
1-2/5-4/15=1/3
b)F>6/15
R->4/5
$>5/15
6u—>%$1200
u=>$1200-6 = $200
5u—~>$200 x 5 = $100 _
S4000-51000 = 4 months
15)a)47cm x 30cm2 = 1410cm3
b)95cm3/min x 6min = 570cm3
1410cm3 + 570 cm3 = 1980cm3

1980¢m3--{90cm2 + 30cm2) = 16.5cm



16)a) ZACB->(180° —98° ) + =41°
ZGCF>90° +2=45°
ZFCA>45° +41° =86°
b) ZFEC>90°
ZCFE>90° 2=45°
ZDEC>180° ~90° —20° —45° =25°
17)a)u->$168.75+3 = $56.25
b)TR->$56.25 x 2 = $112.50
90% ~>$112.50
10% >$112.50<-9 = $12.50
Discount for bag=>$31.25 - $12.50 = $18.75
$56.25 + $18.75 - $75
18.75/75 x 100 = 25%
18)a)(6x 5)+ 1 =31
b)Middle number for row 82>{8 x7) +1 =57
8-1=7 '
57+7 =64
c){12x11)+1=133
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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer Sheet.

{20 marks)

i Round off 145.105 to the nearest hundredth.

(1) 140000

(2) 145.100

(3) 145.110

{4y 150000
2 Which of the following is the most likely height of the desk in a

classroom?

(1) 7om

2y 7m

3y 70cm

4) 70m

3 Sally paid $12 for 30 identical pencils. What was the cost of each
pencil?
(1) $0.04 .
(2) $025
3y 3$0.40
(4) $2.50

2 {Go on to the next page)



Which one of the following fractions is less iha‘n—; ?

M 4
10
2 4
1
4
(3) S
4
@ 33

In the scale below, what is the value of Y?

'
| S S VU U N N NN N T T [ S N |
1 1 1 ¥ J i i i i ¥ | T T ¥ ¥ 1
11.08 11.09 11.1 Y 11.14

(N 1112
2 1114
3) 11.102
@) 11104

Express 36 minutes as a percentage of 2 hours.

(1) 18%
2  30%
3) 36%
@)  60%

3 {00 an te themondoonaat
. 150 on to thernmdonas



7 Which of the following is not a net of the solid below?

M

(2)

(3)

G

4 (Go on to the next page)



10

Find the value of -1«?5—2- 2b+ 3 when b=4.

(1
(2)
(3)
4

4.4
8.6
146
15

In the figure below, ABCD is a parallelogram and XYZ is a triangle.

Find the value of Zp + £q + Zr + Zs.

(M
(2)
3
4

180°
270°
360°
540°

Mrs Lim bought 1.4 m of ribbon to make 5 bows. What was the length

of the ribbon used for each bow?

(1
@
3
(4)

0.28 cm
2.80cm
28 cm

280 cm

-

{Go on 10'e next page)
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12

13

There are 54 girls and 36 boys in a school choir. All of them are
arranged such that there are the same number of pupils in each row.
Each row is made up of either all girls or all boys.

What is the greatest number of pupils in each row?

(m 9
@)

(3)

4 18

Shu Ning bought —:- kg of minced meat. She gave % of it to her

neighbour and % of the remainder to Ali. How much minced meat
had Shu Ning left?

M ko ,
@ Sk

(3) % kg

@) % kg

There were 1600 participants at a conference. 80% of them were
female. Some female participants left the conference and the ratio of
the number of female participants to the number of male participants
became 7 : 4. How many female participants left the conference?

(1) 320
(2) 560
3) 720
(4) 960

6 (Go on to the next page)



14

15

In the figure below, ABC is an equilateral triangle. AE and BD are
straight lines. Find £ £.

(M
2
3
4)

A

45°
75°
105°
120°

The figure below is made up of a quadrant and 2 identical semicircles.
AC is twice of AD. What is the perimeter of the shaded figure below?

(Take n = 2_}%)

(1
2)
@3)
(4)

44 cm
47 cm
51 cm
58 cm
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Questions 18 to 25 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.
(10 marks)

16 Write one million, twenty thousand and three in numerals.

Ans:

17 Find the value of 7056 = 7.

Ans:

18 A:B=5:6andB:C=2:5. Whatistheratioof A:C?

Ans:

Do not write
in this space

2 ‘ (Go on to the next page)



19 The shaded figure below shows an incomplete net of a cube. - Do not writ
Shade the square(s) needed to complete the net of a cube. in this spac

20  The average of 5 numbers is 8. When one of the numbers was removed,
the average became 9. What is the value of the number that was
removed?

Ans:

3 " {Go on to the next page)



21 Express —% as a decimal to 2 decimal places. '
Ans:
. P 4 2 . . L
22 Find the value of 25 "3 Give your answer as a mixed number in its
simplest form.
Ans:
23 In the diagram, a ship is at point B facing the lighthouse. The lighthouse

is north of the ship. The captain of the ship turns the ship 135°
anticlockwise. Which direction is the ship facing now?

Lightiouse

Ans:

Do not write
in this space

4 : {Go on to the next page)



24 A cheetah can run at an average speed of 120 km/h. How long will it take | Do not wr
for the cheetah to run a 42-km marathon? in this spz
Ans: min
25  The figure below shows a right-angled triangle EFG.

Construct 2 lines, HG and HE, such that £ HGE = 40° and HEFG is a
trapezium.

5 {Go on to the next page)



Questions 26 to 30 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give

your answers in the units stated.

(10 marks)

26

The pie chart below shows the Co-curricular Activities (CCA\) that the

Primary 6 pupils of Sophia Primary School participated in. There are 240

pupils in Primary 6. The number of pupils who participate in the
Performing Arts and the Uniformed Group are the same.

Performing
Arts

M

Clubs

(@)  What fraction of the pupils participated in the Performing Arts and

Uniformed Groups?

Sports

Uniform
Groups

Ans:

(b)  20% of the pupils were in the Clubs CCA. How many pupils

participated in Sports?

Ans:

Do not write
in this space

(Go on to the next page)



27  There were two boxes containing yellow and red beads. Each box
“had the same total number of beads. In Box A, the ratio of the number of
yellow beads to the number of red beads was 5 : 1. In Box B, the ratio
of the number of yellow beads to the number of red beads'was 6 : 1.
All the beads were then transferred into an empty container.

What was the ratio of the number of yellow beads to the number of red
beads in the container in the end?

. Do not wril
in this spat

Ans:

28 A rectangle piece of paper is folded at one of the corners as shown in the
diagram below. Find the area of the shaded part.

5cm

Ans: cm?

7 ' {Go on to the next page).



29 ln.the figure below, ABCD is a rhombus and CDE is an isosceles triangle.

ZCDE = 39° and BCE is a straight line. Find Zx.
A D

39°

Ans:

Do not write
in this spac

30  What is the greatest number of cuboids 5 cm by 3 cm by 3 cm that
can fit into a carton 40 cm by 30 cm by 20 cm?

Ans:

End of Paper

8
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write your

answers in the spaces provided. For questions which require units, give your
answers in the units stated. (10 marks)

1 The average mass of Mark, Steven and Raju is 65 kg. The mass of each

of these 3 boys is a whole number. Mark and Steven have the same
mass. Raju’s mass is less than 71 kg. '

What is the largest possible mass of Raju?

Ans: kg

Do not write
in this space

The figure below shows a cuboid. The volume of the cuboid is 780 cm?®.
Find the perimeter of the shaded face of the cuboid.

110 cm

A
A%

13 ¢cm

Ans: cm

(Go on to the next page)



Two wheels, with centres A and B, are rolled along a straight line in bppbsit,e. Do not write
directions. Each wheel makes 3 completed revolutions before touching in this spaci
Wall X and Wall Y. The diameter of each wheel is 62 cm.

What is the distance between Wall X and Wall Y in terms of =?

Wall X Wall' Y

Ans: cm

In the figure below, ABC is a triangle and EBF is a straight line.
AC is parallel to EF and AB = AD. Find £y.

A
E
75°
B™40° D c
F’
Ans:

3 (Go on to the next page) .



Do not write

. : , . 3
5  Mrs Raju bought some files. She gave 100 files to her pupils and 7 of the in this space

remainder to Ms Lim. The number of files left was % of the number of files

she had atfirst. How many files did Mrs Raju buy at first?

Ans:

4 (Go on to the next page)



For Questions 6 to 18, show your working clearly and write your answers inthe | po not wri
spaces provided. The number of marks available is shown in brackets [ ] atthe | in this spa
end of each question or part-question. (50 marks)

6 A 2-m string was used to form the figure below.
C

(w+3)

A . {(35-w)em B

{a)  Express the length of the string that was used to form the figure in
terms of w.

{(b) I w= 4, what was the length of the remaining string?
Give your answer in centimetres.

Ans: (a) 1

(b) 2l

5 ‘ {Go on to the next page)



7  The figure below is made up of 2 triangles. The ratio of the length of BD to | Do not write
the length of DE to the length of ECis 2: 3:2. DE is 12 cm. The shaded | in this space
area of the figure is 60% of the area of Triangle ABC.
What is the area of the unshaded part?

23m

Ans: {3]

8 Tank X with a rectangular base measuring 120 cm by 80 cm was filled
with water to a height of 15 cm. When 30 £ of water was removed from the

tank, the water level dropped to —2— of the height of the tank.
What was the capacity of the tank?

Ans: [3]

6 {Go on to the next page)



9

Mary went to the market and bought 650 g of cod, 0.6 kg of prawns
~and 1 080 g of squid. She gave the fishmonger $100. How much change
did Mary receive? Give your answer to the nearest ten-cent.

Seafood Price per kg
Prawns $23.50
Cod $68.00
Squid - $17.25
Ans: 3]

- Do not wri
in this spa

10

John left Admiralty Town at 11.30 a.m. for Bukit Town which-was 35 km
away. Atthe same time, Bala left Bukit Town for Admiralty Town.

Bala’s speed was 16 km/h faster than John’s speed. They travelled along
the same route. Fifteen minutes later, they were 10 km apart, after passing
each other. Find Bala’s average speed.

Ans: {3] ,k

{Go on to the next page)



11

The figure below is made up of 2 squares and a triangle. % of the smaller

square is shaded and % of the triangle is shaded. The ratio of the area of

the small square to the area of the big square to the area of the triangle is
1:3:2. What fraction of the big square is shaded?

Ans: [4]

- Do not write
in this space

8 {Go on to the next page)



12

Ahmad and David collected some toy cars. The ratio of the number of
Ahmad’s toy cars to the number of David’s toy cars was 8 : 11.

Both of them gave away an equal number of toy cars. In the end, the ratio
of the number of Ahmad’s toy cars to the number of David's toy cars
became 9 : 14. What percentage of his toy cars did Ahmad give away?

Ans: [4]

Do not wri
in this spa

9 ‘ {Go on to the next page)



13

In the figure below, OABC is a parallelogram and OA = Ok = OF.
ADF is a right-angled triangle and AOF is a straight line.

(a) Find £OCB.

(b) Find £CFE.

Ans: (a) 2]

(b) [2]

Do not write
in this spac

10 ‘ {Go on to the next page)



14

The figure below is made up of a big circle, a small circle and a square.
The corners of the square touch the circumference of the big circle.

The radius of the small circle is 8 cm. The area of the square is 256 cm?.
Find the area of the shaded part. (Take = = 3.14)

Ans: [4]

11 (Go on to the next page)

‘Do not write
in this space




16 The line graph below shows the sale of cars in a showroom from January | po not write

to June. Study the graph and answer the questions. in this space
40

o :
o y "
& N | /
2 /
2 20 4 .
S / N/
3 L AV
g
=z

0 ]

Jan Feb Mar April May June
Month

(a) Beiween which 2 months was there the biggest drop in the sale of
cars?

(b)  In which month, was the sale of cars 1% times that of March?

(c) What was the average number of cars sold per month from January to
June?

Ans: (a) and 1]
(b) 4}
() (2]

12 (Go on to the next page)



16 The pattern below shows a series of hexagons which are made using ,
beads and strings. Study the pattern and answer the questions that follow.

@,

Pattern 1

Pattern 2

Pattern 3

(a) How many beads are there in Pattern 5?

(b) Which pattern number will have 253 beads?

{c) Ahmad wants to make a pattern consisting of 43 hexagons.
He has 151 beads. How many more beads does he need?

Ans:

(a)

1]

(b)

©

(2]

2

13

(Go on to the next page)

Do not write
in this spac




Do not writ:

17 In é library, there were 160 books on Bookshelf A. Bookshelf B had 15% in this spac

fewer books than Bookshelf A. The librarian added more books to
Bookshelf B and the number of books on Bookshelf B increased by 25%.
Some books from Bookshelf A were borrowed by some children and the
number of books on Bookshelf A decreased by 10%.

(a) How many books were there on Bookshelf B after the librarian had added
more books?

(b) (i) Was there an overall increase or decrease in the total number of

books?
(i) What was the percentage increase or decrease in the total number of

books? Give your answer correct to the nearest whole number.

Ans: (a) 2]

(b) (1) (1]

(i) [

14 ' {Go on to the next page)



18

A tank measuring 50 cm by 30 cm by 70 cm was completely filled with water
at first. Tap Y was then turned on and water flowed out at a rate of 1.2 £ per
minute. After 10 minutes, Tap X was turned on and water filled the

tank at a rate of 800 cm? per minute. Tap Y was still running when Tap X
was turmned on. Find the height of the water in the tank after Tap X had been
running for 30 minutes,

Tap X‘

ey A
H
70 cm
y
2 Tap Y
- 30 cm
S B0em
Ans: i5]
END OF PAPER. -

15

Do not writ
in this spat
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24) Ans: 21 min




25)

— / & E
‘o'
: g—
26a) Ans: %
26b) Ans:72

27)}Ans: 71:13
28) Ans: 18cm?
29) Ans: 102°
30) Ans: 520

END



PRELIMINARY EXAM PAPER 2017

SCHOOL : METHODIST GIRLS’ PRIMARY SCHOOL
SUBIJECT : PRIMARY 6 MATH PAPER 2
TERM : PRELIMINARY EXAMINATION 2017

PAPER 2 ANSWER

Question 1:
65 x3=195

195-69= 126
126 +2=63
Answer: 69kg

Question 2:
780+3=10=6
B+ 10+ 6+ 10=32
Answer: 32cm

627 x 6 +62 + 62= (372 7 + 124)

Answer: (372t +124)cm -

Question 4:

ZABD= ZADB

=180°-75°- 40°= 65°
ZBAD= 180°- 65°- 65°= 50°
£Y =75%- 50°= 25°
Answer: 25°



Question 5:

fe1s]

OESY TTT

5u-> 100
1u—>20
3x4=12

12u 2> 240
Answer: 240

Questiof 6:
a) 2w- 7+ W+ W+ 3+ 35- W

=2W + W+ W- W- 7+ 3+ 35
= {3w+31}
Answer a: {3w+31)ecm

b)3x4+31=43
2m= 200cm
200-43= 157
Answer b: 157¢cm

Question 7:
12+ 3x7=28

28x 23 x % =322

100%- 60%= 40%
322x 40%= 128.8
Answer: 128.8m?

Question 8:
120x 80x 15= 144000

30L = 30 000cm?

144 000- 30 000= 114 000
114 000 + 3x 5= 190 000
190 000cm?= 190L
Answer: 190L



Question 9:
650g= 0.65kg

1080g= 1.08kg

23.5x0.6=14.1
B8x 0.65=44.2

17.25x 1.08=18.63

100- 14.1-44.2- 18.63=23.07 round up t0 23.10
Answer: $23.10

Question 10:
11.30am j}—28

} €--B 11.30am
Total 10km 2 way of 1to B
ATE 35km- - BT

4km
Total distance -— 35km + 10km= 45km
1h= 16km

15min= %h > ih x 16km=4 km
45km + 4km= 49km

49km + 2 = 24.5km

Speed -> 24.5km —:—ih = 98km/h
Answer: 98km/h




Question 11:

S:B: T

1:3:2

12:36:24

1x12=3

4

1 x24=28

3

3+ 8=11

Fraction of BS > —
36

1
Answer: - of it is shaded

Question 12;
A:D

8:11
9:14 -70

80u-9p=11u-14p
14p-9p=11u-8u
5p=3u

P=0.6u

9p=54u
8u-5u.du=2.6u
2.6u+8x100=32.5
Answer: 32.5%




a) £LCOF= Z0CB
= 180°- 25°- 90°= 65°
Answer: ZOCB is 65°

b) ZAOC= 180°- 65°= 115°

ZAOE= 180°- 38°- 38°= 104°
/EOF=360"- 104°- 115°- 65°= 76"
LOFE= ZEOF

= 180°-76° 22 = 52°

L CFE=52°+ 25°=77°

Answer: 77°



Question 14:

256 =64

Rx r= 128

BQ > ~x3.14x 128 = 100.48
sa-> Ex 3.14x 8 x 8=50.24

100.48- 50.24= 50.24cm?
Answer: 50.24cm?

Question 15:
15a) Answer: February & March

b)20+5=4

4x4 = 16

16x 1-=24

The sale of cars was 1-:;— times that of March in April.
15b) Answer: April

c)(12+ 32+ 16+ 24+ 12+ 36} + 6= 22
15¢) Answer: 22

Question 16:
16a) 5-1=4
4x 4+ 5=21
Answer: a) 21

16b) 253- 5= 248
248 + 4=62

62+ 1=63
Answer: b} 63

16c) 43-1=42

42x 4 +5=173 .
173-151=22 -
Answer: ¢) 22



Question 17
a) 160x 85%= 136

136x 125%= 170
Answer: a} 170

b{i) 160x 90%= 144

After © 144+ 170=314
Before =2 160+ 136=296
Answer: bli) increase

b(ii} 314- 296= 18
22 x100=6
296

Answer: b{ii) 6%

Question 18
50x 30x 70= 10500

1.2 = 1200cm?

1200x 10= 12000
10500- 12000=83000
800x 30= 24000
93000+ 24000= 117000
1200x 30= 36000
17000- 36000= 81000
81000 = 50 =+ 30= 54
Answer: 54cm

END






Index No.

O
A5z

NAN HUA PRIMARY SCHOOL

PRELIMINARY EXAMINATION - 2017

" PRIMARY 6
MATHEMATICS

Paper 1

Section A: 15 Mulitiple Choice Questions ( 20 marks )

Section B: 15 Short Answer Questions ( 20 marks )

Total Time for Paper'1:

50 minutes

INSTRUCTION TO 'CANDIDATES

Aol i

for Questions 1-15.
6. You are not allowed to use calculator for Paper 1.

Marks Obtained

Write your name and index number in the space provided.
Do not turn over the page until you are told to do SO. ’
Follow all instructions carefully.
Answer all questions.

Shade your answers in the Optical Answer Sheet (OAS) provided

Paper 1 Booklet A
/140
Booklet B
Paper 2 ] 60
Total /100
Name :
Class : 6

Date : 23 August 2017

Parent’s Signature :







Section A (20marks)

Questions 1 to 10 carry 1 mark each.

Questions 11 to 15 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical Answer
Sheet. :

1. How many 1000s are there in 2 100 000?

n 21
(2) 210
(3) 2100
(4) 21000
2. Which one of the folloWing is the most likely mass of a new toilet paper
roll?
() 10g
(2) 100 g
(3) 1 kg
(4) 10 kg

3. Round 586 783 to the nearest thousand.

(1) 586000
(2) 587000
(3) 590 000

(4) 600 000



What is the missing number in the box?

2:3= 112

(1)
@)
©)
(4)

H OO N

Which one of the following fractions is smaller than %?

a =
@ &
@
@ =



The figure below shows a square-based pyramid.

Which one of the following is a possible net of the square-based pyramid?

(1

(2)

3

- (4)




A number when rounded to the nearest tenth is 4.0. Which of the following is
the original number?

(1) 3.898
(2) 3.945
(3) 4.046
4)  4.196

Alan took part in a 100 m freestyle swimming race. His performance was
shown in the line graph below.

100 metres freestyle

e

v

100

(o]
o

D
o]

e

/

0 1 .2
Time taken (minutes)

[
o

o

Distance swam (metres)
>
[ew)

What was his average speed for the whole swimming race?
(1) 50 m/min |

(2) 75 m/min

(3) 100 m/min

4) 150 m/min



The table below shows the test marks obtained by a pupil in Mathematics.

| Mathematics Marks (out of 50)

First test ' 40
Second test 50

Find the percentage increase in his marks.

(1)  100%

@  80%

(3)  25%
4 20%

Three triangles are drawn within a grid of 4 identical rectangles. What fraction
of the grid is shaded?

M
@ 2
® =
@ 3



11.

12.

In the figure, ABCD is a rhombus and BEC is an equilateral triangle.
E A

Find £ BAE.
ONRER
@ 19
(3) 22
4 38

Two rectangular tanks are shown below. Tank A contained water to half its
height. Half of the water from Tank A was poured into Tank B without spilling.

80 cm
Tank A

What is the height of the water level in Tank B now?
M
(2)
3
“4)

10 cm
20 cm

40 cm

48 cm




. The pie chart below shows the different types of cupcakes sold at a bakery.
The number of chocolate cupcakes sold was T;'_of the number of cookies and

cream cupcakes sold. What fraction of the cupcakes sold was cookies and
cream? ' '

Strawberry ;
Chocolate

Cookies and
Cream

(1
(2)

)

©w|n s 5!01 W

)



14, Thé figure shows a quarter circle in a semicircle. The diameter of the semicircle

is 14 cm. Find the area of the unshaded parts. (Take n = =

(1

(2)

3
@

22

38.5 cm?
77 cm?

154 cm?
308 cm?

15.  Nina and Polly had $372 altogether. Nina spent twice as much money as Polly.
The amount of money Polly had left was $8 more than what she had spent.
She had twice as much money left as Nina. How much money did Polly spend?

()
(2)
3
4

$40
$80
$160

$168



Section B (20 marks)

Questions 16 to 25 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units; give your answers in the units stated.
[10 marks]

16.

Using each digit only once, form the smallest three-digit number which is a
multiple of 4. ‘

Ans:

17.  What is 9045 divided by 457

Ans: _

18. Ms Lee has %kg flour. She uses _z_of it to make some cupcakes. How

much flour does she have left?

Ans: kg

Do not write
in this space




19.

~ Yixian ran at a speed of 15 km/h for 40 min. How far did he run?

v Ans: km

-

20. The total area of the 6 faces of a cube is 150 cm2. What is the volume of the
cube?
Ans: cm?3
‘'21.  Germaine is facing the cinema. If she turns 225° anticlockwise, where
will she be facing?
. Park Church
- Cinema
Shopping Community
centre club
MRT station School
Library
Ans:

10

Do not write
_in this space




22, The figure below is made up of 10 identical squares. Draw a line of symmetry| po not write
in the figure below. ' » in this space

23. Simplify 149 -3 - 6q + 6.

Ans:

11



24. The figure below is made up of 2 identical smaller semicircles and a bigger
‘semicircle. O is the centre of the bigger semicircle of radius 7 cm. Find the

perimeter of the whole figure. (Take n = 37?_)

Ans: cm

25.  The pie chart below shows the different hobbies that a group of
pupils have. Each pupil has only 1 hobby. 4 more pupils like reading
than playing chess. How many pupils are there altogether?

Shopping
16

Reading

Ans:

12

Do not write
in this space




Questions 26 to 30 carry>2 marks each, Show your working clearly in the space
provided for each question and write your answers in the spaces provided. For each

questions which require units, give your answers in the units stated. [10 marks]
orda ite
26. The shaded figure below is formed by a semicircle and a quadrant)\ﬂ?‘é:N rg’otr:\igts\ggiee
radius of the quadrant is 35 cm. Fmd the perimeter of the shaded part.
(Take = 22%) '
\\ \\\
\\\\ \\Q\e\\\\\\\s N
\ |
]
i
; _
i 135cm
1
1
!
1
]
——————————— A\ 4
Ans: cm e

13



27. - There are 2 triangles, A and B in the figure below. What is the ratio )
of the area of triangle A to the area of triangle B? (L.eave your Do not write
answer in the simplest form) in this space

14 cm
Triangle A Triangle B

Ans : -

28. PQRS and VWRS are parallelograms and UVST is a square.
‘ Given that TVW is a straight line, find ZVPQ. :

V4

Ans

14



29.

Jay folds a piece of rectangular péper along its diagonal AB as shown in the

diagram below.

A

The ratio of the area of Figure 2 to the area of Figure 1is 4 : 7. Ifthe area

Figure 1

Figure 2

of the shaded part is 24 cm?, find the area of the piece of rectangular paper

in Figure 1.

15

Ans :

cm?

Do not write
in this space




30.

The figure below is formed by a square BDEF and a quadrant. Given that

DF = 14 cm, find the total area of the shaded parts. (Take = = :2;2_)

Ans:

cm?

END OF PAPER

16

Do not write
in this space
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Papei' 2 {60 marks)

Questions 1 to 5 carry 2 marks each. Show your workings clearly in the space below it and
write your answer in the space provided. Give your answers in the units stated.

1. | Ben has 10y stamps and Zach has 2y stamps. How many stamps must | Do not
| Ben give to Zach so that they have an equal number of stamps? write in
' Leave your answer in terms of y. this space

Ans: stamps l '

2 4
2. | Vincent spent 5 of his money on a book and Py of the rémaining
money on a file. Vincent had $20 left, how much did he have at first?

Ans: $




A pen cost $2.80 and a file cost $3.60. Tony bought an equai number of | Do not
such pens and files. If he spent $13.60 more on the files than the pens, write in
how many pens did he buy? : this space

Ans: _pens

Using the line XY, construct a triangle XYZ in the space below, such that
£ XYZ = 50° and XZ =7 cm. Label your triangle clearly.




The figure below shows a picture (shaded part) surrounded by a 5 cm
border. The outer border measures 33 cm by 20 cm. What is the area of
the picture?

20cm

Ans: cm?

Do not
write in
this space




For each question from 6 to 18, show your workings clearly in the space below it and write
your answer in the space provided. The number of marks available is shown in brackets
[ ]atthe end of each question or part-question.

Remember to include the units wherever possible.

6. | There were a total of 1300 cows and birds in a large field. There were a | Do not

total of 3440 birds’ and cows’ legs. How many cows were there? write in
this space
Ans: : {3}
7. | Inatest, a class of 34 pupils scored a total of 2890 marks at first.

A mistake in marking was discovered. Half the class of pupils then had 4
marks added to each of them, while the other half had 2 marks added to
each of them. Find the average score of the class in the end.

Ans: R




The figure below shows the net of a box. Three of its faces had areas -
6 cm?, 12 cm? and 18cm? as shown.

a) Wirite down the length (L), breadth (B) and height (H) of the box after
" the net was folded.

b) Find the volume of the box after the net was folded.

2
12 cm H

18 cm? 6 om?
(base)

PN

Ans: a) Length: _, Breadth: , Height : {1']

b) (2]

Sally and Ken drove from Town A to Town B at constant speeds. Ken
started his journey 2 hours after Sally. Ken travelled faster than Sally by
40 km/h and overtook her in 3 hours. Find Sally’s speed.

Ans: 3




10.

Two identical isosceles triangles, ABC and ADE, overlapped as shown
in the figure below. Given that BA = BC, DA = DE and £ COD = 54°, find
£ CAE. ‘

Ans: 3]




11.

2
Rongcai had $1053 more than Caris. After Rongcai gave P

to Caris, they each had the same amount of money.

How much money did Caris have at first?

Ans:

of his money |

[3]




12.

In Country X, the height of six 10-cent coins is the same as that

of five 20-cent coins as shown in diagram 1. Diagram 2 shows an

unknown number of such 10-cent coins stacked to the same height as

another stack of such 20-cent coins.

If the total value of the 2 stacks of coins in diagram 2 is $88,

a) find the number of 10-cent coins used in diagram 2.
b) find the value of all the 20-cent coins used in diagram 2.

Diagram 1
et o ot
— —
—— ——
—

10-cent coins

10-centcoins  20-cent coins

Diagram 2

20-cent coins

Ans: a)

b)




13.

The figure below shows 3 identical circles drawn within a rectangle. The

two slanted lines are the diagonals of the rectangle and OM is a straight

line. If the length of the rectangle is 294 cm, what is the total area of the

unshaded parts? (Take = %).

O
Y e ~
~ -,
4 ~ 4
/ 7
4 /
’
r A\
¥
] ]
;)
A \ Y
A N\ AN
Y ~ ~
~ ~
I > a =
M
< 294 cm >

Ans: 5]




14.

There were some aduits and children at a party. 190 more boys then
joined in, while 65 adults left. As a result, the percentage of girls in the
party decreased from 36% to 24%.

a) Find the percentage increase in the total number of people at the

party.
b) Find the number of girls at the party.

Ans: a) 2]

b) [2]

10




15.

Danny and Petsy each borrowed an identical book from a library. On the |

first day, Danny read % of the book plus 28 pages. On the second day, |

he read % of the remaining book and had 42 pages of the book left. If
Petsy read at most 20 pages of the book daily, what is the least

number of days Petsy would take to finish reading the book?

Ans; [5]

44




16.

A sealed l-shaped container, partially filled with oil (shaded part), was
toppled clockwise into another position as shown. The air space in
diagram 1 was 3360 cm?3. Using the dlmensmns given below, find the
volume of oil in the contalner

Diagram 1 Diagram 2

Toppled clockwise

14 cm
g

Air space <

14 crr:/

27 cm 38 cm

Ans: [5]

192




17.

At a fruit stall, the ratio of the number of avocados to that of the peaches

to that of the lemons was 2 : 9 : 8 at first. The stall owner then sold 52
avocados, 12 peaches and 60 lemons. As a result, the ratio of the
number of peaches to that of the lemons became 6 : 5. What was the
total number of avocados, peaches and lemons left in the stall at the end?

Ans: | [5]

13




18.

Hatta formed some figures that followed a pattern using squares and

circles as shown below.

OO0

000
o0

: L]
| 0 []
L] 10 L]

OO0
Hoar
L0

Figure1 Figure2 ~ Figure 3 Figure 4

The table shows the number of squares and circles for the first four

figures.

Figure number 1 i 2 T 3 4
Number of squares 17 a4 T 73 T 18
Number of circles 2 3 4 5
Number of squares 0OR1 1R1 2R1 3R1

divided by
Number of circles Note: “R” denotes remainder in the above columns.

a) A Figure number has 3481 squares. Find the answer when

its number of squares is divided by its number of circles.

b) In a certain Figure number, 99 R1 is obtained when its number of
squares is divided by its number of circles. Find the total number of

squares and circles in that Figure number.

Ans: a)

b)

— End of Paper 2 —

(2]

[2]

14




YEAR : 2017

LEVEL $ PRIMARY 6
SCHOOL - NAN HUA PRIMARY
SUBJECT s MATHEMATICS
TERM - PRELIMINARY EXAMINATION
Paper 1
Q1 3 Q4 3 Q7 3 | Q10 3 Qi3
Q2 y QS 1 Q8 i Qi1 2 | Q14 1
Q3 2 Q6 3 Q9 3 Q12 1 Q15
Q16 496
Q17 201
1
Q18 7y kg
Q19 10km

Q20 125 cm?
Q21 community club

Q22

Q23 8g+3
Q24 44cm -

Q25 790 pupiis



Q29

Q30

145 e¢m
P |
135°
56 em?

77 cm?

Paper 2

Q1

Q2

Q3

Q@5

10+2=’l2
124+2=6"
6—2=4=>dy stamps

6+4=10
15-10=5
20 5=4
4 x 15 = $60

3.60 — 2.80 = 0.90
13.60 + 0.88 = 17 pens

Length — 33-5-5=23
Breadth —»20-5-5=10
Area —> 23 x 10 = 230 cm?®



N (s PRELVY

Q6 1300 x 2= 2609
3440 - 2600 = 340
A_2=2

o] . —s A
340 + 2 = 420 cows

Q7 34+2=17
17x 4 =68
17x2=34
2890 + 68 + 34 = 2992
2992 + 34 => 88

Q8 (2) Length:§cm , Breadth: 3 em , Height: 2 cm

(b) Volume—6x3x2=35em’

Q% 46x3=120
120+ 2 = 60 km/h

Q10 180 -84 =96
180 - 96 = 84
84+2=42
130 — 54 — 84 = 42°

Qi1 1053+ 2 =3526.50
526.5 + 2 = 263.25
263.25 x 9 = 2369.25
2369.25 — 1053 = $1316.25

Qi2 (a) 88+1.60=55

(]



Q13 2943 =98
98 + 2 =49
Total shaded — né X % X 49 x 49 = 11319

Area of rectangle —» 294 x 98 = 28312

Unshaded —» 28812 — 11319 = 17493 ein?

Ql4 (a) 5x50=250
5 x 75 =375
375 -250

- 750 x 100 = 50%

(b) 5x18=>90 girls .

A
Qis £x3=70
e
70+ 28 =98
08,y
-5-15.3-—13.’

147 + 20 =TR7
7+ 1 => 8 days

Q16 14x16=224
3360 = 224 =15
27-15=12
Volume — 38 x 14 x 12 => 6384 ¢m’



N Hed o PG Y

Q17 450 - 60 =30p

Q1

o

9u— 12 =6p

8u—60=>5p

48u -360 = 30p

3u —> 360 - 60 = 300

lu—> 300+ 3=100

100 x 19=1900

1900 — 52 — 12 - 60 = 1776 fruits

S

(a) V3481=59
3481 + 60 = 53R1

St

(b) 99+1=100
160 x 100 = 10020
160 + 1 =161
16000 + 101 = D101 sguares and cireles

End

wul






PRELIMINARY EXAMINATION, 2017
MATHEMATICS
PAPER 1

(BOOKLET A)

Addilional materials: Oplical Answar Sheet (OAS)  Total Time ForBooklets A& B : 50 min

Name : { )

Cless : Primary6 ___

Date : 2 August 2017

INSTRUCTIONS TO CANDIDATES

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO,

FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL THE QUESTIONS.

SHADE YOUR ANSWERS IN THE OPTICAL ANSWER SHEET {OAS) PROVIDED.
YOU ARE NOT ALLOWED TO USE A CALCULATOR.



Questions 1 to 10 carry 1 mark-each. Questions 11 to 15 cairy 2 marks each.

For:each ~questian; fouroptions are. given. One -of them isﬁiecetrectang;ga!

. (j‘,’"ﬁ}%"émz Shade the comect oval (1, 2, 3 or 4} oi'the
A4 ‘ . ;{20 marks)

4 <,

1. What dogs the digit 5 In 532 081 stand for?

(1) s00

2) 5000
(3) 50000
(4) 500000

2. The price of a television when roundsd to the nearest hundred is $2000.
Which of the following is likely to be the price of the television?

(1) $1948
(2) $1952
(3) $2073
(4)  $2125

3. Arrange the following fractions from the smallest to the largest.,

s 2 7
8’5710

2 7 5
(1) '5376!‘8"

5 7 2
@ 5 %s
2 5 7
(3) —5')'8")’:3"6"
7 5 2
y L,5 2
4) 10" 8 5

MAJPGIPL2017 Page10oi8 {Go on 1o the next pays)



4. Which of the following figures below is a trapezium?

(1) (2) (3)

5. Which of the following fractions is the nearest to 0.8?

(1)

)

{3)

(4)

20

21
30

15
20

10

6. Express 8005 m in kilometres and meires.

(1) 8kmS5m
(2) B8km50m
{3) 80km5m
{4) 80km50m
MAJPB/PLI2017 Page20f 6

4

{Go on to tha next page)




7. What is the value of e whenm=9?

6}
)
3
@

13

78

8. What is the mass of the packet of coffes as shown on the weighing scale in the

figure?

(1) 36kg
{2) 3.7kg
(3) 4ikg
‘4) 42kg

coffes

9. Mrs Lee had g- kg of rice. She gave away % kg of it {o her friends. How much

rice had she left?
M Sk
@ =k
@ =k
W =i
MAZPB/PLI2017

Page3of 6

{Go on 1o the next page)



10.  Thefigure below shows a pyramid with:two sides shaded.

Which of the following are nets of the above solid?

A.

C.

(1) AandBonly

(2) CandDonly

(3) AandConly

(49) BandDonly
MAIPBEIPL 12017

Page 4018

B.

{Go on lo tha next pege)



11, George had some butions. .After he bought more buttons, the number of buttons
hehad increased by 20% t0240. How many buttons dld he have at first?

)
@
3)
4

40
192
200
1200

12, Hulll filled two identical botlles completely with mixtures of orange syrup and water.
The ratio of the amount of orange syrup to the amount of water in the first bottle
was 2 : 1 and in the second bottle was 5 : 4. Whatwas the ratio of the total amount
of orange syrup to the total amount of water in both bottles?

)
2
(3)
“

7:5
7:18
M7
11:18

13.  Tank Awas filled with water to half its helght. Waler from Tank A was poured into
Tank B and filled to its brim.

10om

Pl et

4
’

z “10cm
10 cm

Tank A , Tank B

What was the height of the water level left in Tank A?

Q)
@
3)
(4)

Scm
15 om
30cm

35cm

MA P8I PL 2017 Page 50f6 {Go on 1o the nsxd psgo)



14.  Rahmid bought a plant that was 16 cm tall. He measured the helght of the plant

and.recorded its increase in height by the end of-each week. The:bar.graph below
shows his records,

9 e
8

- Ingreggesdn
thesheight
of the plant
gach week
{cm)

Week 1 Week 2 Week 3

What was the height of the plant at the end of Week 37

(1) 6&cm

{2) 15 cm
{3) 22cm
4) 3tcm

15.  Inthe figure below, ACDE is a trapezium. ABF and BFE are isosceles triangles.
BCDE is a rhombus.

A , _ B C

Find ZBCE.
(1 2r
{2) 54
(3) 63°
@) 84

MAJPBPL 12017 Page 6 0f 6 {Go on lo Bookiet B)
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(BOOKLET B)

Total Time For Booklets A& B: 50 min

Nams : { )

Class : Primary6 ___

Date : 2 August2017 | 20

INSTRUCTIONS TO CANDIDATES

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.

FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL QUESTIONS.

SHOW YOUR WORKING CLEARLY AS MARKS ARE AWARDED FOR CORRECT WORKING.

WRITE YOUR ANSWERS IN THIS BOOKLET.
YOU ARE NQT ALLOWED TO USE A CALCULATOR.



Qqesﬁ
Eot-qite t!oris wh‘leh reqm

. ‘Write your answers in the spaces provided. Do notwrits
‘_ “your-answers In the units stated, (10'marks) | inthisspace

48.  Whatis the first common multiple 3and 6 ?

Answer:

17. Find the value of 5.07 = 1000.

Answer:

18. Whét is the value of % x ;'?g?' Express your answer as a fraction in its simplest

form.

Answer:
19, - Find the value of 118.26 + 9.
Answer:
20.  Simplify9a+ 17 ~5a~4.
Answer:

SCORE

MAIPGIPL 72017 Page 10f6 {Go on 1o the next page}



_ . Do notwita
21.  The figure below shows three identical small semicircles in a big semicire. I thisshon

AD =12 em. What is the radius of each small ssmicircle?

Answer: cm

22,  Study the figure below. Name a pair of parallel lines in the figure below.

Answer: and

23.  The figure below shows some squares. What is the smallest number of squares
that must be added so that line XY is the line of symmelry?

X

Answer:

SCORE

MASPBIPLI20Y7 Page 20of6 {Go on to the next page)



Do notwaite
24 The pattern below shows part of a tesssllation. One of the shapes doss not fitinto - inthis spac

the tessliation shown below. Shade it.

25. ‘ Café-De:Singapore

~ OpenDaily
10.30a.m. t0'9.00 p.m.

For how long is Café De Singapore open each day?
{Give your answer in h and min.)

Answer: h min

SCORE

MAI/PB/PLI2017 Pagas 30f6 {Go on to the next pags)



Questions 28 to 30 carry 2 marks each. Show your working clearly in the space below | po notwits
each question and write your answers i the'spages’ provided. For quastivhs which | inthisspace
require units, give your answers in the units stated. {10 marks )

26.  Annebought % kg of sweets. She gave —;— of them to her friend and packed the
rest equally inlo 4 packets. What was the mass of the sweets in each packet?

Answer: kg

27, The figure below shows a circle PQRS in a square. The radius of the circle is
40 cm. What is the lotal area of the shaded paris? Leave your answer in terms
of .

Answer: om?

SCORE

MAZPSIPLI2017 Page 4 of 8 {Go on 1o the noxt page)



28.  One afternoon, 5 friends rented 3 bicycle from 5.00 p.m. to 6.30p.m. and took Do notwiite

turns to ride on them. Atany time, 3 of them cycled while the other 2 friends “ inis space
rested.

If each of them had the same amount-of cycling time, how many minutes did each
person ride on a bicycle 2

Answer: ‘ min

28.  Shawn was at-a poini. He followed the instructions in the following sequence.

()  Walk 3 steps to the North
{ii) Walk 2 steps to the East
iy  Walk 1 step.to the South

He ended up at point F. Mark the point he started at with a cross {X)and name
its.

N
1"F
P
1 step
SCORE
MA/PB/PLI2017 Page50f8

{Go on to the nexl page)



30. Patrick boug_hi 30 files with all his money. When the price of each file was
decreased by $2, he could buy 12 more files. How much did each file cost
before the decrease in price-2

Answer: $

End of Paper

Satby : Mdm Hol Wan Hua. Ms Jennifer Foo, Mrs Eileen Sew, Ms Joyce Ng

MAJPS/PL12017 ‘Paga 6of 6

SCORE

. Donotvaite
In g space







PRELIMINARY EXAMINATION, 2017

MATHEMATICS
PAPER 2
Time: 1 h 40 min

Paper 1

{Booklet A) 20
N : v .

ame { ) Paper 1 P

Class : Primary6___ (Booklet B) 20
Date : 2 August 2017 - Paper 2 60
Parent’s Signature: TOTAL ' 109
INSTRUCTIONS TO CANDIDATES

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.
FOLLOW ALL INSTRUCTIONS CAREFULLY.
ANSWER ALL QUESTIONS.

SHOW YOUR WORKING CLEARLY AS MARKS ARE AWARDED FOR CORRECT WORKING.

WRITE YOUR ANSWERS IN THIS BOOKLET.
YOU ARE ALLOWED TO USE A CALCULATOR.




Questions 1 {p.5.carry 2 marks sach. Show your working clearly-in the.space providedfor | po not write
emh qgﬁ&ﬁéﬂ anxl giite Your arswersin tHe spaces provided. For questions which réquire] in this spaca
uriifs, glve youranswers in the unts stated. (10°'marks)

1. 5 books and 2 pens cost $41.65. Each book costs 3 times as much as a pen.
How much doés a pen cost 7

Answer: $

2. Container A had 6530 mi of water at first. Some of its water was poured equally
info 15:botlles. In the end, 0.5  of water was left in the container.
What was the volume of water in each botlle?

Answer: ml

SCORE

MA/ZP8IPL/2017 Paas 1 of 16 {36 on 10 the next page)



3. In the figure beloe, ABC is a triangle. ABD is an equilateral friangle. AD = DC Do m‘m
and.£CBB = 150°, Find £DAC. inthis space”

Answer:. °©

4, Albert and Benny had $2640 altogether.
When Albert gave % of his money to Benny, they had the same amount of money.
How much money did Albert have at first?

Answer: $

SCORE

MAZDPRIDI I2R317 Dnana O i 180 F 7 ST Y W SN ¥



5. When Sheryl was 6k years old, sha was twice as old as her brother. How old wil Do nekwite
Shery! be when her brother is 18 years old ? Express your answer in terms of k. in this‘spece

Answer: . years old

SCORE |

MA /P87 PL /2017 Page 3of16 {Go on o the next page}



For. questions:840-18:show yo @me‘zxe@w inhe:space-provided for eachvguestion | po notwts
: wﬁte,your answers In-the ”lk’) rovided. ‘The numbeér of marks-availibiéJs:stiown | Tnthis spiice

inbiaekets [ Jatthe end of éach: quesﬁon or part-question: (58 marks)

6. Alice bought -g— kg of flour. She used % kg of it to bake some cupcakes.

She then gave —;— of the remaining flour to her neighbour. How much flour had
she left? Express your answer as a fraction in its simplest form.

Answier: 131

SCORE

MA /PS5 1PLI2017 Page 4 of 18 {Go on to the noxt pags)






7 In the square grid, one side of a right-angled trlangle STU has been drawn, Do 0ol write
In this space
{a)  Measure the length of ST.

{b)  Line TU s three times the length of ST. £8TU is a right argle.
Complete the drawing of triangle STU within the grid. 2]

Answer: (a) 1

SCORE

MAIPBIPLI2017 Page Sof 18 {Go on to the next page)






8.  Duringasurvey, some pupils were asked to name their favourite sport. Do 0ot wil
The pie chart represents their choices. In this space

Football

Basketball

1

Volleyball
yba Badminton

1
7
Table Tennis

(a) 84 pupils chose basketball as their favourite sport. How many pupils'{cok
part.in the survey altogether?

{b)  How many pupils chose volleyball as their favourite sport?

Answer: {a) (1
) _ 21
SCORE

MA7PS/PL 2017 _ PageBof16 {Go on to the next page)



9 The diagram below shows a rectangle PQTU and a parallelogram RSTU.

20cm

(@) Find the length of QR.

(b) Find the area of the shaded pait.

Answer: (a)

(b)

=2

12

MAIPBTPLI2017

Page 7 0of 18

SCORE

{Go on to the next nanal

Do not write
in il space




10.  The figure below Is made up of B identical rectangles.

—.

4
r

18 cm

() Find the area of 1 rectangle.
(b)  Find the perimeter of the figure.

Do not wiite
in his spoce

Answer: (a) [2}
(o) [2]
SCORE
MAZIP8IPLI2017 : Pags 8ol 16 {Go on to tha next page)



11.  Luke had % as many stamps as Kenny. After Kenny gave 306 stamps to Luke,

the ratio of the number of stamps Luke had to the number of stamps Kenny had
was2:3. .

{a) How many stamps did Kenny have in the end?

{b)  If Kenny wanted Luke to have the same number of stamps as him, how
many more stamps musl Kenny give o Luke?

Answer: (a) [2]
{b) {2l
SCORE

Do not wiite
In this space

MA/P8/PL12017 ' Paga 9 of 16 {Go on lo the next page)




12.  At0900, a lorry started from Town P and travelled fowards Town Q ata speed of | po ot waite
55 km/h for the whole journey. At 11 00, a car started from Town Q and travelled | iotisspace
towards Town P. The speed of the car remalned the samesthroughout the journey.

The car passed the lorry at 13 00 and at mispoint,mebrryhadtmveliedg of the
joumey.

(@) How farwas the lorry from Town P at 13 00?7

{b)  Atwhat time did the car reach Town P?

Answer: (a) 2
b) 2
SCORE

MAIPGIPL 12047 Pate 10 of 18 {Go on b ihe next paae)



13.  Sun Ne bought soms books at an average price of $27. After buying another 00 nat wiite
& books for $39 each, the gverage price of all the books increased to $31.80, in this space
How many books did she buy altogether?

Answer: [31

SCORE

MAZPBIPLIZ2017 Page tiof 18 {Go on o the naxt page)



14.  The petrol price at Stations G and Hwas at $2.40 per litre. Station G gave a 10% | po not wite
discount while Station H gave a 5% discount. For the month of August, Station H | intis space
had a promotion where an additional $1 discount was given for every $12 spent on
petrol.

In August, Mr Kang went to Station G and paid for 38 litres of petrol.
{a)  How much did Mr Kang pay for his petrol at Station G?

(b}  How much would Mr Kang save if he had gone to Station H for the same
amount of petrol in August? -

Station H
5% Discount
Station G
10% Discount August Promotion

Additional $1 discount for

every $12 spent
Answer: {(a) m
(b) 3

SCORE

MAT/PBIPL 2047 Page 120718 {COenicthe next poae)



18.

The figure below shows.a semicircls with a diameter of 84 c¢m and a quarter circle.

EFG with a radius of 28 cm. G is the midpoint of AD. BEG and CFG are straight
lines.

(a) Find the area of the shaded part.

(b)  Find the perimeter of the shaded part.
(Take .=22)

Answer: (a) 2]
{b) [
SCORE

MAJP8IPL 12017 Page 130of 16 {Go on to the next page}

Do not wile
In this space




16.  Container D had a base area of 650 cm? and was filléd with oil o a height of 28 em.| po not wiite
The oil flowed out of a tap In Container D into an emply Confainer E whichhada | inthis 3pace
base area of 400 cm?. The tap was turmned off immediately when the height of the
oil In Container E was twice that of the height of the oll left In Container D.

What was the volume of oil in Container E in the end?

29¢cmi |

Container D

Container £

Answer; 4]

SCORE

MA7PBIPLI201T Page 14 of 16 {Go on {0 the next pags)



17.  Kitly, Leng Leng and Nora shared the cost of a present, 25% of Kitty’s share was | po not write
$18 more than 60% of Leng Leng’s share. Nora paid 25% of what Kitty had paid. | inthis space
Leng Leng paid $28 more than Nora for the present.
(a)  How much did Leng Leng pay for the present?

(b)  How much more did Kitty pay for the present than Nora?

Answer: (a). 3]
(b} 12
"SCORE

MAIPBIPLS2017 Page 15of 18 {36 on 1o the next page)



, Do not write

18.  Jayused identical cubes {o form the following patterns. For each pattern, the In tis space
cubes were glued together to form a solid. The front and the back of the solid
‘were painted.

back

painted /

front
Patiern 1 Pattemn 2 Pattern 3

The number of cubes used and the number of faces painted for each solid were
recorded in the table below.

{a) Complete the table above for Patiern 4. 1
(b)  What was lhe number of faces painted for Pattern 187

{c) 1406 faces were painied for a solid, How many cubes were used to form
) the solid?

Answer: (b) {2
{c) (2]
End of Paper SCORE |
Setby : Mdm HoiWan Hua, Ms Jennifer Foo, Mrs Elleen Sew, Ms Joyce Ng

MAZPSIPLT 2017 Page 16 of 16






ANSWER SHEET

EXAM PAPER 2017 (P6)
SCHOOL : PEI CHUN
SUBJECT : MATHEMATICS

TERM : PRELIM
Q1 Q2 Q3 Q4 Qs 6 | a7 | a8 Qo Q1o
4 2 3 3 3 1 . 1 1 2 4
Q11 Q12 Q13 Q14 Q15 !
3 3 2 a 1 i
16)6 17)5070 18)2/25 19)13.14 20)4a+ 13
21)2cm  22)ED and FG 23)3 “24) 1
' LT

25)10h 30min  26)3/32
27)60011 28)54min

29) 30)57

_H

e




Paper 2
1)total units=>3 x 5 =15

1pen—>41.65+ 17 =$2.45
2)0.5L = 500m|
15 bottles—>6530 — 500 = 6030
1 bottle->6030--15 = 402
3)ZADC=360° —150° —60° =150°
ZACD=180° —-150° =30°
Z DAC=30° <+ 2=15"°
4)uﬁit‘5-}5 x2=10
1unit->2640/10 = 264
Albert—>264 x 6 = 1584
5)6k/2 = 3k
(18+ 3k)
6)Remaining 23/5-%=7/20
Left->7/20 x 2/3 = 7/30kg

7)a)3.4cm
b) T
[ T~
/ L
/ ~

o
L\




8)a)l unit>84/7 =12
Total> 12 x 28 =336
b)Volleyball> 12 x 10 =120
9)a)QR—> 28 -12~12=4cm
b)QV->20-15=5
shaded 220 x 16 x %2 -5 x4 x %4 = 150cm2
10)Breadth—>18 +-6=3
Length> 3x3=9
a)Area 29 x3 =27cm2
b)Perimeter—>26 x 3 = 78cm
11)9 units—>306
1 unit->306/9 =34
a)kenny—>21x34=714
b)Luke->34 x 14 = 1190
Give>714 - (1190/2) =119
12)5/9 journey->4 x 55 = 220
4/9 lourney-=>220/5 x4 =176
(car)speed—>176/2 = 88
Distance—>220/5 x 9 =396
Time—>396+-88=4.5
4.5h =4h 30min
a)220km
b)15 30



13)31.80—-27 =4.80
More—2>{39-31.80) x6=43.2
Buy—>43.20--4.80=9
Total>9 + 6 =15
14)100% - 10% = 90%
1 litre (G discounted price) =2.40 x 90% = 2.16
a)paid—>2.16 x 38 = $82.08
b)1 litre (H discounted price)>2.40 x 95% = 2.28
38 litres—>2.28 x 38 — 86.64
? group->86.64+12 = 7R 2.64"
7x1=7
Paid->86.64 - 7 =79.64
Save—>82.08 —79.64 = 2.44
15)a)Area—>28 x 28 x.22/7 x % + 42 x 42 x 22/7 x % = 2002cm?2
b)Perimeter>28x22/7x2x%+14+14+42x22/7 x2x % +84 =222cm
16)oil>29 x 650 = 18850 '
Total base area=>400 + 400 + 650 = 1450
? group—~>18850--1450=13
E {height)>13x2=26
Oil (E)—>26 x 400 = 10400cm2



17)a)40%-->18 + 28 = 46
Lengleng 46/4 x 10 =$115
b)60% x 4 = 240%
240% - 60% = 180%
More->46/4 x 18 + 18 x 3 = $261
18)a)16 / 20
b)Painted>18 x 19 = 342
1406 =37 x 38
c)pattern No—>37
used—>37 x 37 = 1369
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Paper 1. (Booklet A)
Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each. For
each question, four options are given. One of them is the correct answer. Make your
choice { 1, 2, 3 or4). Shade the oval ( 1, 2, 3 or 4 ) on the Optical Answer Sheet.
You are not allowed to use a calculator. ( 20 marks )

1 6 hundreds, 5 tenths and 4 thousandths is

(1)  600.054
2) 600.504
(3) 600.540
(4)  650.004 ( )
2 Th 3.1,
e value of %3 is the same as
5 1
’ 5 1 .
(1 3%3
3 1
2 25l
(2) 5 %3
3
3 —-%x2
3 £
5
3 Which of the following has the greatest value?
(1) 06
(2) 068+
(3) 0.801
4) 0657 ( )



Timothy attended a sports carnival from 9.50 a.m. to 3.05 p.m.. How long
was the sports carnival?

(1) 3h55min
(2) 5h15min
3) 5h55min
(4) 6h45min N ¢ )
Karis has 50 identical coins of the same value which amount to $25. What is
the value of each coin?
(1 5 cents
{2) 10 cents
(3) 20cents
4) 50 cents

The figure below shows 8 squares. What is the smallest number of squares
that must be added so that line AB will be the line of symmetry?

A B
(1 7
(2 86
3 5
4 4 ( )



Which of the following figures are nets of a cube?

. _
[ | ;
‘ L
A B c
] B [
I B ||
| I | B
D E F
(1) A B.CandD
2 AB.EandF
@3) B.C.DandE
{4) C,D,EandF { )

Ahmad’s savings is 3% times that of Bala's. Find the ratio of Ahmad’s

savings to Bala’s savings.

() 9:5
2) 5:9
(3) 16:5

4 5:16 ( )



10

11

Express 0.804 as a percentage.

(1) 0.804%
(2) 8.04%
(3) 80.4%

(4) 804% ( )

A motorist travelled at an average speed of 80 km/h and reached his
destination in 120 min. Find the distance travelled by the motorist.

(1) 160 km

(2) 96km

(3) 9600 km

(4) 40 km ( )

The figure below is made up of 5 identical rectangles. What fraction of the
figure is shaded?

m < |

@ -

@ = ’

@ 3 ()



The length of each side of a square is an odd number. What is a pessible
perimeter of the square?

() 16cm
(2 20 cm
(3) 24cm
{4) 32 cm ) ( )

in the figure below, ZCAD is 53° and £CDE is 108°. Find £BCD.

1y 72°

@) 125°

(3 127

4)  1671° « )



14

15

Hannah spent % of her pocket money to buy 8 pens. She wanted to. buy

another 8 similar pens but found that she was short of $12. What was the

price of 1 pen?

()
(2)
)
(4)

$1.20
$1.50

$2.00

$4.00 , ( )

The bar graph below shows Debbie’s expenditure on beauty products for the

first half of the year.

1200 ~
£ 1000
2 s I T B
2 800 " - -
35 ]
5 3 e e
u%— 600 -——
g 400 -
5 ]
= 200

0 k ..: .

Jan Feb Mar Apr

In which month did she spend —53- of her combined expenditure in ,Januar.y and

April?
M
2
3
(4)

February

March

May

June ( )

— End of Booklet A —

6
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Questions 16 to 25 carry 1 mark each. Write your answers in the spaces | Do notwrite
provided. For questions which require units, give your answers in the units | in this space.
stated. . (10 marks)

16 Express 9% as a decimal. Give your answer correct to 2 decimal

places.

i

Ans:

17 Find the value of (82 + 72 + 9Y - 30 x 2.

Ans:

i

18 0.3 of a number is 45, What is the number?

Ans:

1 {Go on to the next page)



19 Express 60 £ 80 m ¢ in miltilitres.

Ans: mi

20 The volume of a cube is 64 cm®. Find the length of one side of the
cube.

Ans: cm

21 Refer to the square grid below and fill in the blanks with A, B, C, D or E.

Point is north-east of Point

2 {Go on to the next page)




22 ABC is an isosceles triangle. D is one of the dots inside the box. Draw
two lines, AD and BD, to complete a parallelogram.

£ d

®

<

*®

*

[

L ]

* L 2
» *®
] *

* L 4
» L]
» L4
o L]

[ ] » - o »
|
L 4 L J » » L
» » » L ] [
L 4 » - o »
L J ® » » L

23 The usual price of a watch is $220. What is the price of the watch after
a 30% discount?

Ans: $

{Go onto the next page)




24 The table below shows the number of board games borrowed by pupils
in a month.

Number of board games borrowed 0o | 1 2 3 4

Number of pupils 5 186 5 7 3

How many pupils borrowed 2 or more board games in that month?

Ans:

25  Find the value of 5n — 4 + -3-;22 when n = 4.

Ans: -

4 {Go on to the next page)




Questions 26 to 30 carry 2 marks each. Show your working clea'rly and write | Do notwrite
your answers the spaces provided. For questions which require units, give | in this space.
your answers in the units stated. (10 marks)
286 There are 182 'chi}':kens and cows in a farm. For every 4 chickens,
there are 3 cows. How many more chickens than cows are there?
Ans:
27 Some identical bowls are stacked vertically to save space. In the figure
below, the height of the first stack of 4 bowls is 16 cm. The height of
the secqnd stack of 7 bowis is 25 cm. Find the height of one such bowl.
| 4
25¢cm
16 cm L\\//‘ \___
First stack Second stack
;
Ans: cm ’;

5 {Go on to the next page)




28 The figure below shows two triangles, ABD and BDC. ADC is a straight
line. DA is equal to DB. ZDAB is 59° and £BCA is 20°. Find ~#DBC.

C

Ans:

29 There were B0 children on board a bus at first. 4 boys and 2 girls
alighted from the bus. The ratio of the number of boys to the number of
girls then became 4 : 5. Find the number of boys on board the bus at |
first.

Ans:




30

The pie chart below shows the number of pupils travelling to school by

various modes of transport.

Public Bus
36

Bicycle '
18

"MRT
12

|

School Bus
30

What percentage of the pupils travel by car?

Ans:

%

END OF PAPER 1




PRELIMINARY EXAMINATION

PRIMARY 6
MATHEMATICS
PAPER 2
22 AUGUST 2017
Name 1 Parents signature
Form Class / Register No. : 6R /
Banded Class / Register No. : 6M /

Total time: 1h 40min

INSTRUCTIONS TO CANDIDATES

1. Write your Name, Class and Register No. in the spaces provided
above.

2. DO NOT turn over this page until you are told to do so.

3. Follow all instructions carefully.

4. Answer all questions.

5. Wirite all your answers in this booklet.

6. The use of an approved calculator is expected, where appropriate.
Paper 1 : 40
Paper 2 : : 60

Total Marks : 100

This booklet consists of 15 printed pages, excluding the cover page.




Questions 1 to 5 camry 2 marks each. Show your working clearly and write | Do not write
your answers in the spaces provided. For questions which require units, give | in this space
your answer in the units stated. (10 marks) .

1 Ali has $840 more than Baba. If Ali gives % of his money to Baba, Al

will have ~;- as much money as. Baba. How much money does Ali

have at first?

Ans: §
2 Gillian stood on a weighing machine with her school bag. The total
mass is shown in Figure 1.
a2 ¥ )
lli!ﬂ!ll!ﬂ!!llﬂ’l 'Hpﬂltﬂll’ll!llﬂl
30 40 50 60
. kg J Figure 1

Gillian then put her bag on the floor. Her mass is shown in Figure 2.

/ ¥ | ™\
HllHHIIHIPHI!HHI!Hl!lm‘lm’m

30 40 50 60
- kg . J Figure 2

How heavy did Gillian’s school bag weigh?

Ans: kg

{Go on to the next page)



3 Mrs Fields used 20% of her flour to make some muffins and 60% of | Do not write

the remainder to bake some cookies. What percentage of the flour | P this space

was left?

Ans: %

4 Some pupils were asked to name their favourite subjects. The resulls

were shown in the pie chart below.

English
Mathematics 75

. Sci 2]
Chinese Scienc

33% of the pupils chose Science as their favourite subject. Find the
total number of pupils who chose Chinese and Mathematics as their

favourite subjects.

Ans:

{Go on to the next page)



in a candy store, sweets were packed in packets of 15 sweets each. | Do not write
Lynn bought 3¢ packets of sweets and gave 20 sweets away. How in this space
many sweets had Lynn left? Give the answer in terms of ¢ in the

simplest form.

Ans:

{Go on to the next page)



Questions 6 to 18 show your working clearly and write your answers in the

spaces provided. The number of marks available is shown in brackets [ ]at
the end of each question or part question. (50 marks)

6 The number of pupils in Team A is 4 more than the number of pupils
in Team B. There are 46 boys in Team A and 18 boys in.Team B. The

number of girls in Team A is -g of the number of girls in Team B. |

What fraction of the pupils in Team A are girls? Express your answer

in the simplest form,

Ans: {3}

7 The figure below consists of a rectangle, a semicircle and twe
identical quadrants. The diameter of the semicircle is 35 cm. Find the

perimeter of the shaded region. (Take = = _?__,%)

Ans: {3]

Do not .write
“iny this space

{Go on to the next page)



8 The figure below is made up of 6 identical quadrants. The radius of | Do not write
the quadrant is 6 cm. Find the area of the shaded part. Round off the | in this space
answer to 2 decimal places. '

Ans: {3}

(Go on to the next page)



9 The figure below consists of a square ABCD, a right-angled triangle | Do not write
BCE and an isosceles triangle GCF. GC is equal to CF, DCE and | in this space
BCF are straight lines. #DBG is equal to ZGBC. Find ZBGF.
A B
A 1 (1]
D G ' LjC E
F
!
Ans: {31
6

{Go on 1o the next page)



10 The line graph shows the number of members a football club had | Do not write
each year from 2014 to 2017. What was the percentage increase in | in this space
the number of members from 2015 to 20172

1500 1

1250 -

1000 +
Number of
members 750 {4

i e T W o - - b W

o - oe -
- o

2014 2015 2016 2017

Ans: 31

{Go on to the next page)



11

The total number of children at a National Day Parade was 3760.

After 400 boys and —;;1 of the girls left the parade, the ratio of the

number of boys to the number of girls became 3 : 1. How many more
boys than girls were there at first?

Ans: [4]

Do not write
in this space

(Go on to the next page)



12

Pails A, B and C contain 16 litres, 12 litres and 14 litres of water

respectively. .

—Sé of the water from Pail A was potired into Pail C.

Then, —;: of the water from Pail B was poured equally into Pail A and

C

In the end, % of the water from Pail C was poured back into Pail A.

How many litres of water were in Pail C in the end?

Ans;

14}

(Go on to the next page)

Do not write

1 in this space




13

The figure below consists of a square and four identical isosceles | Do not write
triangles. Each side of the square is 70 cm. Find the area of the |in this space

shaded region.

70 cm

Ans:

(4]

10

{Go on to the next page)



14 The figure below shows a rhombus, ABCD. The rthombus is divided | Do not write
into 6 parts using three straight lines. namely AC, EC and FG. Find | in this space
the sum of Zx and Zy.

Ans: {4}

1"
{Go on to the next page)



15

A lorry was travelling from Town X towards Town Y at a constant
speed of 60 km/h. At the same fime, a car was travelling from Town Y
towards Town X at a constant speed of 98 km/h. The two vehicles
passed each other ata point 57 km from the midpoint between Town
X and Town Y. What is the distance between Town X and Town Y?

Ans: 4]

12
{Go on to the next page)

Do not write
in this space




16

On the school's first fund-raising campaign, Class A raised 4 times as
much money as Class B..On the second fund-raising campaign, Class
A raised another $480 while Class B raised another $320. Class A
raised three times as much money as Class B at the end of the two

campaigns. What was the total amount of money raised by‘ the two

classes at the end of the two campaigns?

Ans: [5)

13
{Go on to the next page)

‘Do not write
in this space




17

The figure below shows 2 empty containers, A and B. Container A is
filled with water flowing in at a rate of 0.96 2/min. Container B is filled
with water flowing in at a rate of 1.2 #/min. The tap for Container A
was turned on for 10 minutes before the tap for ContainerB was
turned on. Both taps were tumed off when the water levels in both

containers are equal. Find the height of the water level when the taps
were turned off.

v 40 cm ﬁ:
30 em

35cm 1 1

20 cm

Container A Container B

Ans: 5

14
{Go on to the next page)

Do not write
in this space




18

Muthu, Nora and Osman agreed to share the cost of a present for
their friend. Muthu agreed to pay 35% of the cost of the present while
Nora agreed to pay 20% of the remaining amount. The rest of the
amount would be paid by Osman. However, when they went to buy

the present, the price of the item had increased by 35%. As a result,
Muthu paid $94.50 for his share.

(8) What was the original price of the present?
(b) How much did Osman pay in the end?

Ans: (a) 3]

(b). 12

— End of Paper 2 —

15

Do not write
in this space
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Answer:

16)9.38 17)30 18)150 19)60080ml 20)4cm 21)Point B is north east of Point A
22) |

23)5154 24)15 25)22 26)26 27)7cm 28)42° 29)28 30)20%






PRELIMINARY EXAM PAPER 2017

SCHOOL : PE1 HWA PRESBYTERIAN PRIMARY SCHOOL
SUBIJECT : PRHVIARY & MIATH PAPER 2

TERM : PRELIMINARY EXAMINATION 2017

PAPER 2:

Answer:

1) After Before

A:B A: B—
1:5 9:3
2:10

6u—> 840

1u—>840 + 6 =140
9u—>140 x9= 1260
Answer: $1260

2) 42kg — 37kg= Skg
Answer: 5kg

3) 1-_}-:-?-
S 5

% X 100% = 32%
Answer: 32%

-

PJZ



4)->75
4
> > 75 x4=300

4/4=100/100
1/100=3

33/100 - 3x33=99
Science: 99

C+M —>300-99-75=126
Answer: 126

6) S5u+18+4= 4u+46
1u—>46-22 =24
qu—>24x4 =96
G/total (A)=96/142 = 48/71
Total {A) > 96+46= 142
Check
Girlsin B —~> 120
96/120 =4/5
Answer: 48/71

7)35+2=175

1/4 x22/7x35=27.5
27.5x2 =55

Answer: 55cm

8)126=72

Area of boomerang 2 {6x6)— % x T x 6x 6 = 7.7257
Area of boomerang -> 7.7257x 6= 46.3542

Area of shaded part > {72 + 46. 3542) 118.35
Answer: 118.35¢cm? .

‘5) Fqc}:d’ - 15 3\{32}'3
boaﬁ‘ﬁ{' 3¢ pqckc“’;; - 18 x 3¢
- = Lxc ,gwee'{’s
La,,,\ gove Gqu? 20 3weels
et 5 hkse - 20
= 5{jc-h) sweels

— -~



9) .

LCGF or ZCFG - (180°-90°) =2 - 45°
LABD > 90° = 2=45

LGBC > 45° +2=225

£BGC > 180° - 22.5°- 90° = 67.5°
ZBGE - 45° + 67.5°=112.5°

Answer: 112.5°

10)

5 gaps > 750-500= 250
1gap - 250 + 5 =50
2016 -> 500 + 150 = 650
2017 = 1000+150 = 1150
Increase = 1150-500 = 650
Increase/2015 = 650/500
650/500 x 100% = 130%
Answer: 130%

1)

First-B:G, 7: 5

End-B: G, 3:1,9:3
5-2u=3u

9u + 400 + 5u = 3760
9u + 5u = 14u

14u = 3760-400= 3360
1u - 3360 =+ 14 =240

5u > 240 x 5 = 1200 {no. 61‘ girls at first)

9u - 240 x 9 = 2160

2160 + 400= 2560 {no. of boys at first)
2160 -1200= 1360 (Diff)

Answer: 1360 more

N s



12)

Step 1
3/8x16=6
A—> 16-6 = 10
C > 14+6= 20

Step 2
1/3x12=4
4+2=2
B—>12-4=8
A2>10+2=12
C—>20+2=22

Step 3
4/11x22=8
C—>22-8=14
A—>12+8=20
Answer: 141

13)

To {11-

Y2 x 70 x70 = 2450
70 +4 =175

V2x70x17.5=1837.5
Answer: 1837.5 cm?




14)

£/ DCA or ZDAC => (180°- 74°) = 2 = 53°
47> 180°-82°=98°

Zx+ 2y - 360° - 98°- 53° = 209°
Answer: 209°

15)

X Jommen Iy

- i C
60km/ h 57km 98km/h

Dist. Travelled by car more than lorry > 57x2= 114

Dist. Travelled by car more than lorry per hour - 98-60 = 38
114 + 38 = 3 (time for car to travel extra dist.)

(98 + 60) x 3= 474

Answer: 474 km

16)

1p= 1u+320

3p=3u+ 960

1u > 960-480 = 480

1p - 480+320= 800 (B-end)

3p > 800 x 3= 2400 {A-end)
Total: (A +B) > 2400+ 800= 3200
Answer: $3200

17)

Water level in A after 10min

-0.96x10x1000/ 20x 40 = 12

960/20 x40 = 1.2 {rise in water level in A per min)

1200/ 20x20= 2 (rise in water levelin B per min)

2-1.2= 0.8 (Every min, B catches up by 0.8cm)

12 + 0.8 = 15 {no. of min for Tap B to turn on to catch up)
1200x 15/ 30x 20=30

Answer: 30cm




183)

1u X 13="13u
7u X 5= 35u
13u X 5= 65u
20u X 5= 100u

47.25u > 945

1u-> 94.5 = 47.25 =2

100u > 100x 2= 200

Answer (a): $200

18b)

Answer (b): 70.2u > 2x 70.2 = 140.40

el P
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SECTION A (20 marks)

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade your answer (1, 2, 3 or 4) on the

OAS provided. Ali diagrams are not drawn to scale.

1. The value of the digit 4 in 364 798 is

(1) 40 ones

(2) 40tens
. () 40hundreds . -
{4y 40 thousands

' 2. Round off 72 590 to the nearest hundred.
(1) 72000
(2) 72500

(3) 72600 .-
(4) 73000

3. Which of the following fractions is equal to 4% ?

1M 5
(2 B
(3) —

@) -



Arrange the following fractions from the smallest to the largest.

5 45 M

3' 86°' 9
5 11 .5
M 3°' 9 '8
n -5 .5
2 9 '3 ' B
n o5 5
@) 9 ' '6"' 3
25 1
6' 3 ' 9

)

. 6 hundreds, 2 tenths and 4 thousandths is

(1) 620.004
(2) 600.240
(3) 600.204
(4) 600.024

Which of the following fractions is nearest to; ?

1
) )

()

-
3l-=

Q) 5
@ ==

Pade R of 15



7.

Which of the following is closest to the reading shown on the weighing scale

below?

({Illlllll['lllllﬂ
. 48- 2

\

J

(1) 50.75 kg
(2) 51.25kg

S 03) 5145kg .
(4) 51.75kg

Which of the following is the same as 7090 m?

(1) 7km 9m

(2) 7km90m
(3) 70km Sm
(4) 70km90m



9. The figure below is made up of 4 identical rectangles. The perimeter of the figure is
28 cm. What is the length of a?

@) 6 cm

(2) 2cm
B Tem
@ o

10.  Which of the following is not a net of a cube?

M (@) (3) )

™o r- £ ar



11. The pie chart represents the countries visited by a group of children during
their school holiday. 20% of the children visited Hong Kong and 360
children visited Malaysia.

Malaysia
360

C\  Hong Kong

""" How miany children visited Thailand?" - -~
(1) 190
2) 200
(3) 300

© (4) 450



12.

13.

Jane stood at the centre of a circle. Her 8 friends stood around her and
spaced themselves out equally as shown below. Jane made a 90°

anticlockwise turn followed by a 135° clockwise turn. In the end, Jane was

facing Emma. Who was Jane facing at first?

Anna
Cindy / Misha
Emma | Cheryl
Michelle

. Rina\

" Eunice -

~ (1) Rina
“(2) Cindy
B .'(3) Anna
(4) Misha

Jimmy is baking some cookies. In 30 minutes, he can bake 10% of the
cookies. After every 2 hours of baking, he stops to rest for 1 hour.
How long will Jimmy take to bake 80% of the cookies? -

(1) 5h
2) 2h
(3) 7h
@) 4h

Darma 7 ~ft 108



14.

15.

Mary had 1360 yellow beads and some green beads at first. After buying
170 red beads, 20% of her beads were green and red. What percentage of
the beads were red beads in the end?

(1) 7.5%
2) 10%
3) 12.5%
@) 25%

" Jenny bought a bag and a wallet during a sale. Each item Was.given a 10%
~ discount. She paid $450 for the two items. Her savings for the bag was four

times the savings on the wallet. What was the price of the bag before the

- sale?

(1) $40

S(2) $50

(3) $100

(4) $400



SECTION B (20 marks)

Questions 16 to 25 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.

All diagrams are not drawn to scale. Answers in fractions or ratio must be expressed
in the simplest form. '

16. Arrange the following numbers from the largest fo the smallest.

796800 , 789604 , 798600 , 789406

Ansf _

17. g of a number is 60. What is %of the number?

Ans :

18. 6.2=5.91—-428+ ?

What is the number in the box?

Ans :

' asn N W A



19. Find the value of 26.25 + 300. Express your answer as a decimal.

Ans :

20. A movi_e:started screening at 11.15 p.m. It lasted 2 h 20 min.
_ What time did the movie end?

Ans : _ a.m.

21. What is the volume of the cuboid shown below?

4 cm

2cm

6 cm

Ans : cm3

™ o AN L AP



22. The average age of three puplls is 12 years old. The youngest pupll is7
years old. What is the average age of the other 2 pupils?

Ans:

123, Find the area of the quarter circle below. Take 77 =3.14.

4 cm

24, Mr Tan spent —2- of his salary on food. He spent -21— of his remaining éalary

on transport. Find the ratio of the amount Mr Tan spent on food to the
amount he spent on transport. '

Ans :




25.

Kevin bought a burger set for lunch and paid $0.91 for 7% GST.
What was the cost of the burger set before GST?

Ans : $



Questions 26 to 30 carry 2 marks each. Show. your working clearly in the space
provided for each question and write your answers in the space provided.

For questions which require units, give your answers in the units stated.

All diagrams are not drawn to scale. Answers in fractions or ratio must be expressed

in the simplest form.

50+ 2a - 148_3whe’na=2.

26. Find the value of

. Ans:

27: Hamid went shopping with a éum of money. Aftervspending —;- of his

" money on a watch and $56 on a tie, he was left with % of the sum of .-

fnoney_he héd at first. How much did Hamid spend altogether?

Ans:§




28. Thirteen square cards of identical size were placed without overiapping to
. form the composite figure shown below. Find the perimeter of the
composite figure. ‘

o S

8 cm )
' :
t
% e
' ,
N ]
\ ]
BN e
- "y
: N V'
: 14 cm .
| Ans : i ’ .cm

29.  The figufe below, ABC is an isosceles:friangle. Find the sum of .4 x and :A Y.

A

Ans :




30.  Steph and Angie went on a vacation with the same amount of money. Each

day, Steph spent $230 while Angie spent $190.
At the end of their vacation, Steph had $240 left while Angie had $720 left.

How many days were they on vacation?

Ans:

End of Paper-
© Please check your work carefully ©

Settérs : Lim Li Shan, Jacqueline Seto, Seah Nam Sin

™ o . . AFr- £ ar@
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Questions 1 to 5 carry 2 marks each. Show your working clearly in the space

provided for each question and write your answers in the spaces provided.

For questions which require units, give your answers in the units stated.

All diagrams are not drawn to scale. (10 marks)

1.  Chloe bought 5n pens. She packed 8 pens into one box.
After giving away 3 boxes, how many boxes of pens had she left?
Give your answer in terms of n.

Ans :

Page 2 of 16 .



2.

Two containers with some water are shown below. Find the total volume of
water in the two containers. '

Ans_:..~ . ; me

* In the figure below, ABDE is a square and BCD is an lsosoeles triangle.
- Given that p4 EDC 1320, find £ DBC.

Ans :

Page 3 of 16



Sally had some bottled drinks. 60% of the bottled drinks were coffee while
the rest were tea. She bought more bottles. of tea. In the end, 40% of the_
bottled drinks were coffee. What was the percentage increase in the
number of bottles of tea when more bottles of tea were added to the bottled
drinks? ‘

Ans : %

ABCD is a parallelogram, £ BAD = 110° and EB = EC.
Find £ ECD when £ BEC = 88°.

Ans :

Page 4 of 16



For questions 6 to 18, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets [ ] at the
end of each question or part-question. (50 marks)

6. Three friends are folding paper butterflies to decorate the class
noticeboard. To fold one paper butterfly, Carol takes 9 min, Diane takes 6
min and Edna takes only 4 min. They start folding at the same time. How
many minutes will they take to fold 285 paper butterflies altogether?

Ans ; [3]

Page 5 of 16



7. At a bakery, 70 more beef pies than chicken pies were baked for the day. After
450 beef pies and 121 chicken pies were sold, there were —1-55 as many beef pies

as chicken pies left. How many pies were baked altogether?

Ans : {3]

Page 6 of 16
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8.  The bar graph shows the number of pets owned by families in a ne

i
2]

(b)

at least 3 pets?

s :(a)

‘Number of pets
in the neighbourhood altogether?

Page 7 of 16

there

- (b) What fraction of the families who own pets, have
 Give your answer in the simplest form.

.. (a) How many pets},are




9. Adam had 110 more marbles than Ben. After Adam lost 129 marbles to Ben in a
game, Ben had 5 times as many marbles as Adam. How many marbles did Ben
have at first?

Ans R

10:  In the figure below, BF is parallel to CE. ABD is a stralght line and BCE is an
isosceles triangle. Fmd Z ABC,

Ans : [3]

Page 8 of 16



11.

Mrs Lee baked some cookies. She gave —51- of them to her neighbours and packed

1 of the remaining for her son’s class party. When she baked another 594

cookies, she found that she now had twice the number of cookies she had baked

atfirst. How many cookies did Mrs Lee give to her neighbours?

Ans : [4]

Page 9 of 16



12.

At a funfair, the ratio of the number of adults to the number of children
was 3 : 2. Among the children, the ratio of the number of girls to the
number of boys was 4 : 5. Each adult ticket cost $10 and each child ticket
cost $6. A total of $21 168 was collected from the ticket sale.

(a) What percentage of the people visiting the funfair were girls?
Leave your answer as a fraction in its simplest form.

(b) How many boys visited the funfair?

Ans: (a) [2]

(b) [3]

Page 10 of 16



13.  The figure below is formed by 1 large semicircle, 2 small identical
semicircles and a straight line. The semicircles are formed along the edges
of a right-angled triangle. The dimensions of the triangle are 3 cm, 4 cm
and 5 cm.

(a) Find the perimeter of the figure. ;
(b) | Find the area of the figure, correct to 2 decimal places.
(Take 7= 3.14)

3

1
»
i
.

4 cm

| Ans: (a) [2]
(b) [3]

Page 11 of 16



14. Figure A below shows a container of height 40 cm. It is made up of two
portions. The top portion is a cuboid which has a square base of4cmand a
height of 28 cm The bottom portion is a cuboid with a rectangular base,
measuring 25 cm by 8 cm. There are 2.656 litres of water inside the
container.

(a) How much more water is needed to fill the container?
(b) The container, containing 2.656 litres of water, is toppled as shown in
Figure B. Find the height of the water level in Figure B.

4 cm
A A :
28 cm
o 40em) o RN R
L 434 j__ .
) 7I /7 T
'] . : ,’ ___________
l l" / 8 cm : 4 ]
I
25 cm
Figure A . Figure B
Ans : (a) 2]
(b) 12

Page 12 of 16



15.  Tim and Ravi had $6894. Tim gave 20% of his money to Ravi. Ravi then
spent 40% of his money. They had $5518 left in the end. How much money
did Ravi have at first?

Ans : (51

Page 13 of 16



16. Meena bought some pens, pencils, erasers and rulers with $1718.45. The
amount of money spent on pens was twice the amount spent on pencils. The
amount of money spent on erasers was 3 times the amount spent on rulers.
The amount of money spent on pens was $213.20 more than the amount
spent on rulers. How much money did Meena spend on rulesand erasers?

Ans :

Page 14 of 16
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17. Sammy drew a figure made up of 3 different rectangles with identical breadth

as shown below. The length of rectangle A is —15-1 the length of rectangle B.

The length of rectangle C is % of the total length of rectangle A and rectangle
B. Length x is equal to length y. Find the length of the figure.

Ans @ ‘ [4]

- Page 15 0f 16



18. A car was travelling from Town A to Town B. At the same time, a van was
travelling from Town B towards Town A. After travelling for 120 km, the car
went past Gem Market at 08 30. At 10 00, the van passed by the car at the
midpoint between Gem Market and Town B. The van reached Gem Market at
12 30. Both the van and the car did not change their speeds for the entire
journey. What was the difference between the speed of the car and the van?

Ans : 4]

End of Paper-
Please check your work carefully ©

Setters : Jacqueline Seto, Lim Li Shan, Seah Nam Sin

Page 16 of 16



YEAR 2017

LEVEL s PRIMARY 6
SCHOOL $ RAFFLES GIRLS’ PRIMARY
SUBJECT : MATHEMATICS
TERM 3 PRELIMINARY EXAMINATION
Paper 1
Q1 3 Q4 2 Q7 3 | Q10 | 4 Q13
Q2 3 Q5 3 Q8 2. 1 Q11 3 Q14 2
1| Qi5

Q3 3 | Q6 4 Q9 i | Q12
Q16 798 600, %96-8560':',:;78§:664:,759;-40‘5:' ". _' ik
Q17 42 »

Q18 4,57

Q19 0.0875

QZO 1:35 am

QZI 48 cm?

Q22 145

Q23 12.56 cm?

Q24 4:3

Q25 $13

Q26

ui| o

Q27 $120

Q28 56 cm

J=




Q29 590°
Q30 12 days
Paper 2
Q1 No. of boxes at first - -5-82
No. of boxes left 23,
::;Sn -24 - i
8
Q2 Totalvol. — 250 ml + 700 m]
~€ => 950 ml
Q3 4£BDC =132° - 90%—> 42°
ZDBC = (180%-42°)+2=>69°
Q4 " 125%
Q5 /BAD=/ZBCD—>110°
ZBCE = (180° - 88°) + 2 — 46°
ZECD = 110° - 46° = 64°
Q6 Total folded in 36 min = (36 + 4) + (36 + 6) + (36 + 9)

=90+6+4
=19

No. of sets of 36 min =285+ 19
=15

Total mins =15x36
=> 540 min




Q8

Q9

RWL&‘; pretiV s

Iu+70-458=5p
f’ Iu-380=5p
2 lu-12I=12p

) .~ L\.
XS 12u - 4560 = 60p )xs

=y

S5u - 605 = 60p

12u — 4560 = 5u - 605
120 — Su = 4560 - 605

Tu —> 3955
3955
lu —> ==
= 565

. At first — 2u+ 70

=(2x 565)+ 76
=> 1200 pies

(a) Totalpets =(1x190)+(2x270)+ 3 x 120) + (40 x 4)
= 1250 pets

(b) . Total families with pets = 190 + 270 + 120 + 40 — 620

Families wnth 3 or more = 120 + 40 -> 160

. 8
cht:ons — 3-2—5 =>-—

Su-129+ 110=1u+ 129
Su—19=1u+ 129
Su—1u=129+19

du —> 148

fu >£‘—’3—-37

(Bu} — 37 x5=185
Ben at first — 185 — 129 = 56 marbles




Q10 /BCD = £BED = ZEBF — 40°

Q11

ZDBE = 180° - (69° + 40°) — 71°
ZCBE = 180° - (40° X 2) — 100°
ZCBD = 100° - 71° — 29°
ZABC = 180° - 29° = 151°

: 1
Neighbours P of total
ok 1
Remaining > 1 T
= % of total

Left “Pe of R
28
375
=i'(0t't tal
T
3 15
At fivst —F
e 15 _ 30
After baking more —> = X 2= =
30_8 _22
15 15 15
22
;;—-) 594
Lo
5 15
3 5% ;
ek 3 = 81 cookies
4




Q12 (a) A C

Total (u) — 27u+ 18u = 45u

% Girls —>;8§x 100% = 17% %

(b) (u) S collected from A — 27u x 10 =270n
(u) $ collected from G —> 8u x 6=48u
(u) § collected from B — 10u x 6 = 60u
' Total — 270u + 48u + 60u = 378

"378u —> 21168, - -
21168 _
lu 378 =56

B (10u) — 56 x 10 = 560 boys

Q13 (a) - ‘Diameter of small semi - =2

Perimeter of 2 small semi —>aTxd
=3.14x2
=6.28

Perimeter of | big semi —>mxdx %
=3.14x5x2
=3.14x5x;
=17.85

Perimeter of figure —7.85+6.28 + 3

= 17.13 cm




® A —>3x3x4=6
5+2=2.5

. 1
Semi > T XFXrXxz

=3.44x2.5x2.5x ;=9.8125

~981 '

. i - Totalarea—>6+9.81 = 158k em’ . "

Q14 (a)é Height of bottom cuboid - 40-28=12

Water in bottom cuboid - 12x25x 8=2400 cm®
Capacity of top —> 28 x 4 x 4 =448 em?®
Total capacity —> 2400 + 448 = 2848 cm’

| " 2,656 £ = 2656 m# |
. Water to be filled — 2848 — 2656 = 192 cm’®

(b) 2656 —448= 2208 (in bottom cuboid)
Base of bottom —> 8 x 12 =96
2208 + 96 = 23 cm



QL Preisn!

QIi5 T at first — 100u
R at first — 100p
100u + 100p —> 6894
T gave — 20u
T left —> 80u
R now — 100p + 20u
R spent —> 40p + 8u
R left — 60p + 12u
80u + 60p + 12u = 5518
92u + 60p = 5518 :
C 100u + 100p = 6894
x5 460u + 300p = 27590 > x3
: & - 300m +300p = 20682 <&
- 160u— 6908 - .
100u — 22 x 100
=4317.50
R at first (100p) — 6894 — 4317 50 = $2576.50
Q16 R—2u "
E — 6u
Pen — 2u + 213.20

Pencil — 1u + 106.60

2u+ 6u+ 2u+213.20 + 1u + 106.60 = 1718.45
1lu +319.80 = 1718.45

11u — 1398.65

lu—127.15

2u + 6u = 8u

S8u—>127.15x 8§ = $1017.20




Q17

'Q18

1lu—5u =6u
6u — 136 -46 =90

lu—==15
6
Overlapped — (15 x 5) - 46 =29

ABC—>24x15=360 ‘
Length —> 360 — 29— 29 £ 302 cm

Car Yan
Time 3 5
Speed - 3
Distance - 5 3

"3y of distances —> 120 km

3u—> 22 x3=180
Van speed —> 180 = 2% =72 km/h

Difference —> (72 +3)x 2=> 48 km/h

End
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5

Questions 1 to 10 carry 1 mark each. Questions 11 o 15 camry 2 marks each. For
each question, four options are given. One of them is the comect answer. Make your
choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the Optical Answer
Sheet. (20 marks)

1 Round off 367.199 to the nearest hundredth.

(1) 367.19
(2) 367.20
(3) 370.199
(4) 400.199

2 Find the value of 30 -3 x4 + 42 + 8.

(1 M
2) 25
(3) 26
) 35

3 There are 30 marbles in Box A and 120 marbles in Box B. What is the ratio
of the number of marbles in Box B to the total nhumber of marbles in both
boxes?

4 Which of the following is the same as 6.05 kg?

(1) 605g .
(2) 6005g
{3) ©6050g
(4) 6500g



The circle below has a radius of 16 cm. What is the circumference of the
circle? (Take = = 3.14)

() 314com
(2) 628cm
(3) 314cm

(4) 1256 cm

In the figure below, ABCD is a rectangle. What is the area of the shaded part?

18 ¢cm




3

Which of the following shapes can be tessellated?

(1)
7))
&)
(4)

The table below shows the marks obtained by five students for their

XandyY
Xand Z
YandZ
X.Yand 2

Mathematics test.
Name of students Marks obtained
Ali 35
Brian 31
Chen Xi 42
Devi 45
Emma 27

How many student(s) obtained more than the average mark for the group?

(N 1
2 2
3 3
4) 4

9

100
{Express your answer as a decimal.)

2 7

5 20

(1) 078
(2) 0.99
(3) 1.14

4

142




kY

10  Figure ABCDE is a 5-sided figure which has all equal sides and angles. Find
£BCD.

B

(1) 36°
@) 72°
(3) 108°
(4) 1440

11 In the figure below, XY is a straight line. Find Za.

(1) 15°
2) 30°
(3) 80°
(4) 90°

12 John drove from Town K to Town L at an average speed of 90 km/h. He left
Town K at 8.45 a.m. and reached Town L at 9.15 a.m. Find the distance
driven by John.

(1) 45km
2) 90km
(3) 135km
(4) 180 km



13

14

5

Tom used a piece of wire to form the outline of a cuboid 20 cm by 10 cm by
15 cm. What was the length of wire used by Tom?

15 cm

;o‘/:{)cm

&

20 cm
(1) 45cm
(2) 8B0cm
{3) 135¢cm
{4) 180cm

The pie chart below shows how Jane spent her monthly allowance.

The amount she spent on {ransport was iwice as much as the amount she
saved. The amount she spent on stationery was half of the amount she
saved. If she spent $180 on ford, how much did she save?

(1) $20
(2) %40
(3) $60
{4) $90



In a class, % of the students wear spectacles. % of those who wear

spectacles are boys and % of those who do not wear spectacles are girls.

What fraction of the students are girls?

11
W 2
17
@
1
® o
31
@ 2
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»

Questions 16 to 25 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. (10 marks)

1 5
Evaluate 4 — - 1= .
186 2 5

(Express your answer as a mixed number in its simplest form.)

Ans:

17  The figure below is made up of-3 identical quadrants with radius of 14 cm.
Find the area of the figure. (Taken = ~2—7—2-)

Ans; cm?




18  The’area of each face of a cube is 49 cm?. What is the volume of the cube?
Ans: cm3
19  The figure below shows the net of a cube. The net is folded to make a cube.
Which letter is opposite of the letter “F"?
D
A B
E F
Ans:
20  The table below shows the time taken by four girls in a swimming

competition.
Name of girls Time taken in seconds
Wendy 63
Jia Ling 66
Yoges 70
Zarina 68

Who is the fastest swimmer?

Ans:




Sarah records the increase in her savings at the end of every month. The bar
graph below shows her records from June to September. She saved $400 at the
end of September. Use the information to answer Questions 21 and 22.

140
120
100 -

Increase
insavings 380
($) 60

40
20
0

21 In which month was the least increase in savings recorded?

Ans:

22  Find the amount of her savings at the end of Augtist.

Ans:.$

23 In the figure below, ABCD is a square and BE = DE. Find £ CBE.
A B

Ans: °




24  Town A and Town B were 360 km apart. At 7 a.m., a car started travelling
from Town A to Town B at a constant speed of 80 km/h. At the same time, a
lorry started travelling from Town B to Town A at a constant speed of
70 km/h. At what time did the car pass the lorry?

Ans: a.m.

25  Peter and Siti took part in a race. When Peter had completed the'race in 20
minutes, Siti had only run g of the distance. Peter’s average speed for the

race was 60 m/min faste}* than Siti. What was the distance of the race?

Ans: m

10 2




Questions 26 to 30 carry 2 marks each. Show your workmgs clearly in the space
provided for each question and write your answers in the spaces provided. For
guestions which require units, give-your answers in the units stated. (10-marks)

26 Thedigits 7, 2, 3, 9, 6 are arranged to form the; greatest odd number. What,
is the difference between the values of the digit ‘9’ and digit '2’?

Ans:

27  The mass of sugar in abag is % kg. It is repacked into packets of —g— kg each.

What is the maximum number of packets of sugar repacked?

Ans:

28  The figure below is made up of squares. Shade three more squares so that
the figure has two lines of symmetry, AB and CD.
A Cc

.

K

11




29 The pattem in the box below shows part of a tessellation. Extend the
tessellation by drawing as many unit shapes as possible in the space
provided within the box.

30  Max had $8y and Nick had $6y. Max spent twice as much.as Nick. If they
had $54 ieft, how much did Nick spend in-terms of y?

Ans: $

END OF PAPER

12
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Questions 1 to 5 carry 2 marks each. Show your working clearly in the space below
each question and write your answers in the spaces provided. For questions which
require units, give your answers in thé units'stated. (10 marks)

1 Gopal had 40 more cards than Wen Jie at first. Wen Jie gave 10 of his cards
to Gopal. Gopal now has 4 times as many cards as Wen Jie. How many cards
did Wen Jie have in the end?

Ans:

°

2 Anne wants to paste some square stickers of equal size onto a board
measuring 32 cm by 24 cm. The board is to be completely covered with no
overlapping or gaps between the stickers. What is the largest possible length
of each side of the square sticker?

Ans - cm




3 The figure below is made up of 2 overfapping squares. The area of the shaded
part is 112 cm?2, What is the Jength of the smaller square?

4 cm

Ans : om

4 The figure below is made up of 4 identical squares. Find the sum of Za, b
and Zc.

Ans.: °




3

Keith, Lucy and Mandy shared to buy a Father's Day gift. Keith paid $2n. Lucy
paid twice as much as Keith-and $8 more than Mandy.

(a) Findt the cost of the gift in terms of n.

{(b) fn=25, ﬁn;i the amount paid by Mandy.

Ans:(a)$ [1]
()3 [1]




For Questions 6 to 18, show your working clearly in the space below each quest:on
and write your answers in the spaces provided. The number of marks available.is
shown in brackets [ ] at the end of each question or part-question. (50 marks)

s At a candy shop, lollipops are sold at $0.40 each or 4 lollipops for $1.50. What
is the most number of loflipops that Miss Chan can buy with $137

Ans: , 31

7 Farah bought 144 red, green and blue beads to make a neckiace. The number

of green beads was twice the number of blue beads. % of the red beads was

18 more than the total number of green beads. How many green beads did
Farah buy?

Ans: 13]




In an event, the adults are divided equally into two groups. In Group A, the
ratio of the number of men to the number of women is 4 : 1. In Group B, the
ratio of the number of men to the number of women is 1 : 3. What is the ratio
of the number of men in Group A to the number of women in Group B?

Ans: 3]

In 2016, 40% of the students in the school were girls and the rest were boys.
There were 124 more boys than gifls. In 2017, some boys transferred to
another school, reducing the number of boys by 25%. What is the total number
of students at the end of 20177

Ans: [3}




10 Susan arranges some 3-cm cubes as shown below. How many more such
cubes will she need if she wants to form a bigger cube with a volume of.
3375 cm®?

Ans: {3




11 The line graph below shows the number of bags sold in a shop from January

to June.
100

50

80 /
Number of 70 /
bags sold 50 < 1/

50

20 _ 7 N\ /

20

10

9 ¥ ) ) 3 T

Jan Feb Mar Apr Moy  June

{a) What was the percentage increase in the number of bags sold from May
to June?

(b) In order to meet the sales target of 700 bags per year, how many more
bags must be sold in the second half of the year?

Ans : (a) [2]

(b) 2]




LY

12 Miss Lim filled the container shown below with water o a height of 25 om at
first.

(a) What was the volume of water in the container at first?

(b) How much more water must Miss Lim add so that the amount of water in
theendis % of the capacity of the container?

40 cm

30 cm
'l. _______________________ e - Yy
. ‘/?.:) ocm :
h 80 cm g
Ans: (a) {2
(b} 3




kY

13  In the figure below, ABCD is a rhombus and CAF, AEG and DEF are straight
lines. Find 2y.

Ans: 3]




14

The figure below is made up of a big semi-circle and 2 identical smaller semi-
circles. The length of VW is 18 cm and VX = XY = YW. The overlapping part of
the 2 smaller semi-circles, Part XYZ, has a perimeter of 18.56 cm. Find the
perimeter of the shaded part. (Take x = 3.14)

Ans: [4]

10




15 The figure below is formed by drawing 4 identical isosceles triangles ABC,
BDE, CFG and EGH inside a square of side 20 cm. A, D, F-and H are
mid-points of the sides of the square. Find the total area of the shaded paits.

E

Ans: [4]

1




16

Tom had 60 more stamps than Jenry at first. Tom gave—} of his stamps to

Jerry. Then Jerry gave —2— of his stamps to Tom. Tom’s uncle also gave 87

stamps to Tom. In the end the number of stamps Tom had was twice the
number of stamps he had at first.

(a) Find the number of stamps Jerry gave to Tom.

{b) Find the number of stamps Tom had in the end.

Ans :{a) 3]
(b) 2

12




17

Daisy brought some money for shopping. She bought 3 dresses and 2 skirls
for $425 and had some money left. She wanted to buy another dress but she
was short of $50. If she decided to buy another skirt instead, she would still be
short of $15. .

(a) How much did one dress cost?

(b) How much did Daisy bring for shopping?

Ans (a) 3}
(b) 21

13 5




18

3

Mr Ong bought 120 sets of laptop. He sold 20% of them at the price he had
paid for them. He scld % of the remaining lapiops at $850 each and the restat

a 12% discount off the selling price of $850. In the end, Mr Ong eamed $3792.
How much did Mr Ong pay for one laptop?

Ans: {51

END OF PAPER

14






ANSWER SHEET

EXAM PAPER 2017 (P6)
SCHOOL : RED SWASTIKA
SUBIJECT : MATHEMATICS
TERM : PRELIM

ORDER CALL:

Q1 Q2 as Q4 Qs Q6 Q7 Q8 Qs Q1o

2 2 4 3 2 3 1 2 3 3

Qi1 Q12 Qi3 Q14 Q15 .

2 1 4 2 1

16)25/12

17)462 cm2 26)89980

18)343cm3 | 27)3

19)D

20)Wendy

21)July

22)$280 .
23)25°

24)9:24 am

25)3200m






Q28

1 ,!xz&v
<
(4
Q29
{t‘g;;’.”}; .
< ‘j—{\;w;/{j’\;
WA Vass
14y-54
Q30 ("%‘—'}
Paper 2

Q1 3u—>40+10+10=60
fu— 60=3=>20

Q2 32+8->4
32+8-53
Ans = 8 cm

Q3 A—>d4x4=16
112 - 16 =96
A/B— 96 +2=48
Length > 48+ 4 —> 12em

Q4 2Lb—>45°
Za+ Ze—y 90°
Sum—> 90° + 45° = 135"

Q5 (ay Lncy—4n
Mandy'— 418
Total —> 2n + 4n + 41 ~ 8 =>$(10n-8)

®) 4x5-8=812






Q6 Grpsofd—>13+1.50~8
8x1.50=12
13-12=1
1+040~2
8x4=32
Most no. — 2 + 32 = 34 lollipops

Q7 %u—>144-(18x3)=90
In—>9+9=10
G —>2u — 2 x10 = 20 green beads

08 MW M: W
@: x4 (Q:5x5
=946:4 =5:15

Ratio=> 16: 15

QY 2016 Diff — (60 - 40)% = 20%
20% — 124
1% —> 124+ 20=86.2
Girls — 40% —>6.2 x 40 = 248
Boys — 60% -->6.2 x 60 = 372
boys ~3757100 x 375 =279
~> 279 + 248 =527 students

QM Tcube—>3x3x3=27
No. cubes needed —->3375 + 27 = 125
More -->125 - 9 => 116 cubes

Qi1 (@ Increase —> 90 - 30 = 60
. % increase — §§x 100% = 200%

{b) 700290 =>410bags






Q12 (a) Vol— 68 x20 x25=>30000 em’

(b Capacity > (60 x 20 x30)+ (10 x40 x 15) =42 0060
Vol. end - > x 42000 = 31 500
Diff — 31 500 - 30 6060 = 1500 ml

Q13 LEDA —>95-70=25
LEAD —> 180 —120 — 25 =135
ZDAB —> (360 — 70— 70) + 2 = 110
Ly —> 360~ 11035 = 215°

Q4 VX—>18+3=6
ZX = Z¥ —> (18.56 - 6)+ 2 = 6.28
ZV = ZW —> (-;_-x 3.14 x12)-6.28 = 12.56
VW >x3.14x18=2826
P—> 28.26 +12. 56 ~>53.38 cm

015 1tri—> %xZD X 20 = 200
20+ 4=35
-;-XZO X5=50
Shaded —> 200 - 50 = 150cm2

Ql6 (a) Jom Jerry
4u +60 4u
1+ 15

%xag: 15 60—~ 15x45 .






Q17

Q18

M)

a)

{b}

#9

Tom Jerry

3u + 45 Su+ 15
Ju+b

2 -

~x3Su=2un

3

-Xx15=6

5

EndSn+51+87 3u+9

So (4u+ 60)x 2 = Su+ 51 + 87
8u+ 120 =5u + 138

80— 5S5u=138- 120

3u =718

Tu > 18+3=6
m+6=2x86+6-—>18 stamps

Su+51+87=5x86+51+87= 168 stamps

50-15 =35

ID->1u+35

1IS—1u

35x3=108

Sn-—>425-105 = 320
In—>320+5=164

Costof dress— 64 + 35 = $99

99~ 50 —>49
425-+99 - 50 = $474

Remaining laptops — 2 x120=96

100

Ne. sold at $850—> >x 96 =72

No. sold (discount) — 96 — 72 = 24
Disconnted price—> f{% x 850 =748

Amt ($850 each) —> 72 x 850 = 67200
Amt (3748) — 24 x 748 =17925

Total collected —> 61200 + 17952 = 79152

Cost of 96 Iaptops —> 79152 - 3792 = 75360
1laptop — 75360 = 96 = 3785
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Questlons 1 to 10 carry 1 mark each. Questicns 11 to 18 canry 2 marks each. For
each question, four options-are given thof them Is the correct answer. Make your -
chioice (1,2, 3 or 4). Shade the oval (1, 2, 3. or 4) ori the Opﬂca! Answer Sheet:

All diagmms in this paper are not driwn fo scale unless stated otherwise,

(20 marks)

1. Round off 813,084 to the nearest hundredih.

(1) 813.00
(2) 81010
(3 800
4) 813
2, Which of the following is eight hundred and eight thousand and eighteen in
figures?
(1) 808018
(2) 818080
(3) 880018
(4) 880080

3. Find the valug of 11y -5 + 7y when y = 4,

(1
@)
3
)

11
21
67
70



Which one of the following fractions is equal fo 4%?

m Z
@ 2
@ =
@ 2

Which ofe of the following Is the cldsest to the reading shown on the weighing
scale below?

A
',!!illiil![!lil
10 12 14 16
() 14.3kg
@) . 14.8kg
3) 154kg
@ 157kg

Six dollars was éxchanged for 10¢ coiris and 20¢ coins. There were equal
number of 10¢ coins and 20¢ coins. How many 10¢ coins were there in the
change?

(1 10
@ 15
3 20
@ 30



7.

Which one of the foliowing fractions is smaller than -;— ?

M =

(2) 2
) 7=

4) 5

A group of 400 children was asked what their favourite food was. The pie chart
shows. thelr choloes and the. number of children who chose each type of food,
Which type of food was chosen by 30% of the childfen? -

Japanese food
120

{1)  Indianfood

{2) Westerh food
(3) Japanese food
(4)  Korean food



M

2

@

“

Which of the following Is a net of g cube?




10, The figure below shows a rectangle ABCD, E is the mid-point of BC. DEF is a
straight line. Find ZAED.

A ) B
: F
74°
E
D [ 84
M 1e°
@ 32°
3 74°
4@ 108°°

11. - There were 200 erasers in & box. Tom gave soine erasers to his friend and had
182 erasers left. What was the percentage decreass in the number of erasers?

n 9%

2  18%
(3) 38%
@ 91%

12.  John could type 150 words every 3 minutes. How long will he take to type an

article of 2000 words?
1 .

n 13-:-3- minutes

(2) 40 minutes

@ 133 minutes

4) - A00 minutes



13, Which of the following statements is TRUE of the diagram shown helow?

14.

()
@
)
“)

Town A Is north-west of Town B.
Town C is north-east of Town B.

Town D is south-west of Town A,
Town A is north-west of Town D.

At first; Kenny had 20 more posteards than Shan. Theh, Shan gave 14 of his
postcards to Kenny, Now, Kénny has 3 times as many postcards as Shan. How
many postcards did Shan have at first?

0
)
&)
@

17
24
31
38



15.  The figure below Is made up of 2 small identical circles and a big circle, The
radius of the big circle is twice the radius of one small circle, Each small circle
is divided into 4 quadrants. Whaet fraction of the big circlé is shaded?

M =
® 5
@ 5

Go 6n to Booklet B
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Questions 186 to 25 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.
Al diagrams in this paper are not drawn to scale unless stated otherwise.

{10 marks)

16.

17.

18.

19.

Find the smallest common multiple of 4 and 8.

Ans:

Find the value of 22.59 + 30.

Ans:

Do not write
in this space

Express 9.014 as a mixed number In its simplest form.

Ans: .

There were 300 people at a park. 45% of the people were women. There
were 120 children and the rest were men, How many men were there at
the park?




Do notwrte
in this space

B is the midpoint of AC, C is the -

midpoint of BD and D Is the midpoint of BE. What is the length of AE?

inthefigure below, AB is 10 cm.

20.

10 om

cm

»
.

A

Philip was born on 9 August 1986. Oliver was born on 9 August 2000.

In which year would Philip be twice as old as Oliver?

21.

L
*

Ans

The figure below Is made up of two identical semicircles. The radius of

22,

22

the semicircle is 7 cm. Find the perimeter of the figure. (Take == =),

ety
P
2O
P! S .
rl(\‘?‘“ O
CLLLPTITENITEN
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o PRSI

W anAad

Y

A
'\.m«r»%
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M.mmwmw «uwa (52X
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Loy a«-s.m vl BTN )
NIYSRITYY l.-u EAVRYES
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RORECITLLIIO TN,
ARy

om

.
.

Ans




23.

24,

The figure below Is made up of two triangles GHL and JHK where

GL = HL and JK = HK. Given that £GLH = 80° and £HJK = 70", find

ZLHK.

G

The grid shown below is made up of 1-cm squares. Draw a symmetrical
triangle ABC that has an area of 6 cm? using the given line of symmetry.

lem

Ans:

=

NN e mu—-m“.

>

W o M JONNE NN e

Do not wiite
in this spaca




The square is divided into 9

2.

27 cm
smaller squares of equal area. What is the area of tjangle AEF?

ABCD is a square whose area is .

25.

o

ol r iy wiln s
rAIIINLNANOT LAY

SR

e eSS NT I ENN
5.«.:(.?3&3‘.,..Ju!o..

SALLCOOR MLl
AN V1 VAN SLFL ML Rt




Questions 26 to 30 carry 2 marks each. Show your workings clearly inthe space Do not wiite
provided for each quesﬂon and write your answers in the - spaces provided. For  |in this space
questions which require units, give your answers in the unils stafed. '
All diagrams in this paper are not drawn fo scale unless stated otherwise.
(10 marks)

28. Annle filled a tank with water using two taps. First, she tumed on Tap A.
After 10 minutes, she also tumed on Tap B, Both taps were tumned off when
the volume of water in the tank was 250 litres.

The graph balow shows the amount of water in the tank during 30 minutes.

250_4
200 : N /
Volume /
of ) /
water 1501 : -

{litres)

100 / | . 1
50 4
L—"_

0 S 10 15 20 25 30

v

Time {min)

In one minute, how many litres of water flowed from Tap B?




27, -Erasers are sold in packets of m erasers. Each packet is sold at $4,
Jon has $39. How many erasers can he buy at most?

Ans:

Do not write
In‘this space

28. After a discount of 20%, a shop Is selling a toaster for $64. A further $10
_discount is given when it is bought online. What was the tolal percentage
discount given when the toaster is bought online?

%




29.

The hexagon (6-sided) figure above is made up of 3 identical equilateral
triangles X, Y and Z. Find the sum of Za, £b, £¢, Zd, Ze and £f.

Ans:

Do not wiite
in this space




30. A total of 90 red and yellow flags are lined along a jogging track. There Do not write
are at Jeast 4 red flags between any 2 yellow flags. What is the largest In this space
possible number of yellow flags along the jogging track?

End of paper. Have you checked your work?

9
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Questions 1 to 5 carry 2 marks each. ‘Show your working' clearly in the space
provided for each question and write your answers in the spaces provided. For
questions which require units, give your-answers in the units stated.

(10

marks)

All diagrams in this paper are not drawn to scale unless stated otherwise,

Number of Students

.........

----------

o wo >0 v wmn

Students in a class were grouped according to the types of CCA they had
enrolled in.
Types of CCA Sports | Clubs Ugfgg;‘:"
Number of
students 11 7 ?
Given that the number of students who enrolled in uniformed groups was
40% of the students in the class, complete the bar graph for Uniformed
Groups.
127 pTTY
7
10 e wewnamengannn W CJUAPPUUOS: TSR SUDIIIUIIOr NN SR
N //
_ 7

Types of CCA

Uniformed Grolips

Do not write
in this space
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Questions 1 to 5 cany 2 marks each. Show your wor!ong clearly in the space
provided for each queshon and write your answers in the spaces provided. For
questions which require units, give your answers in the units stated.

(10 marks)

All diagrams in this paper are not drawn o scale unless stated otherwise.

1. Students in a class were grouped according fo the types of CCA they had

enrolled in.

) Uniformed
Types of CCA Spong | Clubs Groups
Numpber of
students " 7 ?

Given that the number of students who enrolled in uniformed groups was
40% of the students in the class, complete the bar graph for Uniformed

Groups.

N ixmbér of Studenis

---------

-

csmmemase

»7

\&%\

i

///?//4 ~

.......

Crres 24

Types of CCA

o

Bnifonned-@roﬂps

Do not write
in this space




The ratio of the number of watches to the number of caps at a stall was Do not write
8 : 11. When 88 caps were sold, the ratio of the number of walches to the | inthis space
number of caps became 12 : 11. What was the number of watches at the
stall?

Ans:

The figure below shows a rectangular glass box filled partly with unit cubes.
How many more cubes are needed to fill this box completely with unit cubes?




A class of 30 students were playing badminton in school, There were Do not write
4 badminton courts and the students took tums fo play. They played in this space
from 8.00 a.m, 1o 9.30 a.m. At any time, 4 of them played at each court
while the rest watched. If each student in the class had the same
amount of playing time, how many minutes did each of them play?

Ans: min




Wel Kang wrote his test-scores for English, Chinese, Math and Sclence on
a plece of paper. The maximum score for each test was 100. His:average
score for the 4 tesis was 80, He accidentally tore part of the paper. What
could be the largest difference between his Math and Science test scores?

English

Chinese

80

72

-Do not write
in this space




For Questions 6 fo 18 show your working clearly in the space provided for each Do not write
question and write your answers in the spaces provided. The nuiber of marks in this space
available is shown in brackets[ ] at the end of each question or part-question.
For questions which require units, give your answers in the units stated.

All diagrams in this paper are notf drawn to scale unless stated otherwise.
{50 marks)

6. The average of 26 numbers is 45. When 14 more numbers are added, the
average becomes 52. What is the average of the 14 new numbers?

Ans: 3}




7.

The figure below s a rectangle ABCD. The ratio of AE: ED=3:2, The

grea of tnangle ABE is B0° cm2 Fmd the area of fectangle ABCD

8 .

60 cm?

C

=13

Do not write

1t this spacx




8. Molly and Alan had a total of $160.0on-Monday. After Alan‘received $5from | Do not writ
his mother and Molly spent:$20.on a book, Molly had $38 more than Alan. | In ihis spac
How much-did Molly have-at first?

Ans: ; _I3)




9. Efron is 30 years younger than Danny The ratio of Danny's age to Efron’s | Do not write
age nowis'8 : 3. In how many. years™ timie’ ‘will the ratio of Danny’s age to | in this space
Efron's agebe 5: 37

Ans: _I3l




10. There were 64 more buttons in box A than-box B at first. Ken then added | Do not write
some more buttons in box A. For every 1 buiton he added to box A, he |inthis spac
removed 2 buttons from box B. The number of buttons in box B became 28
fewer than before. In the end, the ratio of the total number of buttons In both
boxes to the number of buttons left in box B was 4 : 1. How many buttons
were In box A at first?

Ans: (3]

10



Do not write

11. Tank X was empty. Tank Y was filled with water to the brim. Then, Tap A
‘ in this spact

was firned on to fill Tank X and Tap B was furhed on to draip water from
Tank Y. Both taps were turned on at the same time with water flowing at
the same rate of 2.8 litres per minute. How long did it take for the helght of
water to be the same in both tanks?

,/ ~/
Y 14 cm
oot Y

Ans: _ M

11



12. Mrs Lee had used some daik and white chocolate chips for baking cookies. | Do ;‘wt wirite
’ . in this spas
She used an equal amount of dark and white chocolate chips. She had‘-_z; r IS spast

of the dark chocolate chips and -2— of the white chocolate chips left.

{(a) What fraction of the chocolate chips was used?
(b) If there were 304 g of the chocolate chips left, what was the mass of
chocolate chips at first? ‘

Ans: () 12
Ans:i)______ 12]

12



13. There was a total of 748 oranges and apples at a fruit siall in the moming. | Do notwiite
By aftemoon, the number of aranges sold was thrice the filimber of apples | in'this space
sold. The number of apples left was twice the number of oranges left. There
were 22 more apples left than the apples sold.

(a) How many apples were sold?
(b) How many oranges were there in the morning?

Ans:(@y__ 12

Ans: {(b) __ 2]

13



14. Cheryl and Milton left for the park from their respective homes-at the same | Do not write
time. Miiton travelled 120 km at an average speed of 90 km/h-and reached | in this space
the park first. Cheryl travelled at an average speed of 80 km/h and reached
the park 55 minutes later than Milton. if Cheryl wanted to reach the park the
same time as Milton, what would be her new speed?

Ans: — M

14



15. The figure below Is made up of four quarter circles and straight lines. Al Do not write
comer angles are at right angles. -Each number represents the length of in this spact
the straight line in centimetres. The radius of éach quarter circle is 8 cm,

(a) What Is the area of the figure? Leave your answer in terms of =.
(b) What is the perimeter of the figure? Leave your answer in terms of 7.

Ans: (a) _ 13]
Ans: (b)_ 12]

15



16. There were some pens in boxes A, Band C, Box A had 25% more pens than | Do not write
Box B. Box C had 45 more pens than Box A. 40% of pens from each box | in this space
were taken fo pack into 73 packets. All the packets had an equal number of
pens. A total of 288 pens from Boxes B and G were taken for the packing.
How many pens were there in each packet?

Ans: 4]

16



_ v _ Do not writ
17. A bakery made some buns for charity. -‘g of them were chicken buns and {in u,i;’ épa;e.

the rest were funa buns. -% of the chicken buns and 800 of the funa btins

were eaten. 2% of all the buns were left,

(a) How many buns wers made?
{(b) How many tuna buns were lefi?

Ans: {a)__ 31
Ans: {b) __ 2]

17



18. Mrs Gopal prepared some juice for a parly. She poured half the amount of | Do not wrils
juice in big cups and the other half of the amount of juice in small cups as | i this space

shown in the diagram below.

After filling the big cups and small cups to the brim with the julce, she
counted that there were 48 more small cups than big cups. How much juice
did Mrs Gopal prepare for the party? Give your answer in litres.

Ans: 1B} L

End of Paper
18
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16)12 17)0.753 18)97/500 19)45 20)50cm
21)2014 22)54cm 23)20° 24) !
25)112em2  26)15L 27)9m

- e
o, ° -
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2)8 : 11 = 24u :33u
12:11=24u:22u
33u—22u=11u—>88
1u—>8

24u 2192

3)5x4x3 =60
6013 =47

4)time each student could play

=90 x 16 30

=1440--30

=48 minutes

5)80 + 72 + 90 + 8 = 250

80 x4 =320

320 — 250 = 70->7 tens ones
Math—>90

Sci 278

90-78=12

6)26 x 45 = 1170

26+14 =40

40 x52 = 2080
2080-1170=910
910+14=65



7)Add a new point Fsuchthat BF: FC=3:2

ABFE->60cm2

A FCE>60+3x2=40cm2 = /\ CED

Area of ABCD—}(SOMO) X2 =200cm2
8)SM + $A = 5160

Su +$38 + Su = $160 — $20 + $5 = $145

S2u +$38 = $145

S2u->$107

$1u-9$§3.50

$53.50 + $38 = $91.50

SM->$91.50 + $20 = $111.50
9)Present

D:E

8u 3u

8u~3u=5u->30

1u->6

3u->18

8u—>48

X years later,

D:E
5p 3p
5p-3p=2p—>30
1p~>15
3p>4 5p>75 X>45-18=27



10}{u-28)x3=1u+64+14
3u—84=1u+78
2u—~>84 +78 = 162
1u->81
81+64=145
11)Every min
2800-+50=14=4
Tank X gains a height of 4cm
2800 +50+20=2.8
Tank Y loses a height of 2.8cm
4+2.8=6.8
34--6.8 =5 min
12)a)5u=2p
5p = 12.5u
12.5u+7u=19.5u
Fraction of cholate chips used->10u/19.5u =20u/39u = 20/39
b)9.5u->304g
lu—>32g
19.5u->624g
13)a)ou+2u+1u+11+2u+22=11u+33->748
11u->715
1u—>65
2u—>130
b)eu+1lu+11=7u+11->7 x 65 + 11 =466



14)Time Milton took—>120--90 = 1h 20min
Time Cheryl took->1h 20min + 55min = 2h 15min
Distance Cheryl travelled—>2%h x 80 = 180km
Cheryl’s new speed->180--11/3h = 135km/h
15)a)Area>12x12+6x6x [T -3x3 x4 =108+ 3611 =(36]1 + 108)cm2
b)Perimeter>12 x IT + 48 = (1211 + 48)cm
16)40u + (50u + 18) = 90u + 18->288
90u->270
1u—>3 .
40u +50u + (50u + 18) = 140u + 18->438
438-+73=6
17)a)16u— 600 + 3u = 19u ~ 600
19u - 600/40u = 7/40
19u~600=7u
12u—>600
1u->50
40u->2000
b)16u — 600 216 x 50 — 600 = 200
18)Number of big cups : Number of small cups =150:350=15:35=3u:7u
7u—3u=4u
1u>12
3u—>36
7u—>84
36 x 350ml + 84 x 150ml = 25200ml = 25.2L
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”

Bo‘dkiet A

\ 'Questlons 11010 carry 1 mark each. Questions 111015 carry 2 marks each.
“Foreach qu‘estlon four options are gnven One of them is the correct answer. ~

“Make your choice (1, 2, 3or4). Shade the correct oval (1 2, 3 or 4) on the Optical
~ Answer Sheet (20 marks)

1. . Which of the following is likely to be the mass of this Examination Booklet A you
are usihg now?

4)) 2g

(2 209
(3) 200g
4)  2000g

2.  Round off 37.952 to the nearest tenth.

(1) 370
2) 37.9
3) 380
@ 400

3. The figure is made up of two identical trapeziums, ABEF and BCDE.
AB = BC = FE = ED. Which of the following pairs of lines are parallel?

(1)  ABJFE A __c
(3) AF /I BC
(4  ABJ/CD




6 :10 = | - 35. | What>is the missing number in the box?

1 15
@ 21
(3) 24
@ 31

What is the value of 50 + 20007?

(1) 40
(2) 0.40
(3) 025
(4) 0.025

Mabel paid $4 for 20 packets of stickers. How much did each packet of stickers
" cost? ' ' '

(1  50¢
2  20¢
@ ¢

@ 2



b4

What is the: Va|ll90f mt %’g‘ i

@ 19
@ 38
(4) B8

E In the square grid below, Q, R and S represent three landmarks in a town. In
which direction is R from S$?

() E
@ sw
(3) NwW
(4 NE

Which one of the following decimals is closest to 1%?

(1)  0.006
@ 0012
(3 05
@ 11



M.

12.

13.

@ 175
() 280
(4) 560

The pie. chart shows the favounte actlvmes ofa group of chlldren 70 children -

: "mdlcated cyclmg as theur favounte actwnty ‘How many chsldren llke jogging most?

(1) 105

Skating |

Stanley is (5p + 12) years old. His sister is 9 years younger than him. Find their
total age 3 years ago.

(1) (5p + 3) years
(2) (5p +9)years
(3) (10p +9) years
(4) (10p + 12) years

In the figure below, PQR and RSU are tnangles PQRis an equ:lateral tnangle
UQ = UR and ZURQ = 32°. PTR and STUQ are straight lines.
Find £LTRS.

Q

(1) 320
(2) 40°
(3) 48°
4) e8°




*

14. The table below shows the test scores of 150 students.

T Score R Number of studentéf
35-44 ' ) Y
45-54 — . 36 ]
65-74 | 42
Above75 | %3

60% of the students passed the test. What is the lowest score that a student must
obtain in order to pass the test?

(1) 35
(2) 45
(3 55
4) 65

15. A tank contains 5 litres of water. 40% of the water in the tank is poured into a
24-litre container which is already 25% filled with water. What fraction of the
container is filled with water at the end?

OIED
@ =
®
@ 3
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b4

©_( ) Class:P6SY/C/G/SE/P

5.¢ rry 1 mark each Wnte your answers.in, the spaces, prov:ded
For questlons which. requure units, glve your answers in the units stated. (10 marks)

16. Express 207% as a decimal.

Ans:
17. What is the quotient of 4056 + 8?7
Ans:
. 1
18. Find the value of 66 + s
Ans:

Do notwrite in
this column




Do not write i.

1%9 Each of the followmg shapes was folded usrng a piece of identical square paper
' i y to'hav r penmeter as the ongf_:‘_al prece of |t colum

,sﬁvare. paper?

Original square piece of paper

yd N
N )
Figure A Figure B
e S,
i
L L
Figure C Figure D

Ans: Figures and i 1




20. U§e all the 'dig[tsp 2,3,4,8%0 fo;m_a number closest to 400()_, o ' g?.?s"cf,ﬂf

Ans:

21. A train left Town J on Sunday and reached Town K at 4.10 a.m. on Monday. It
took 6 h 45 min to travel from Town J to Town K. At what time did the train leave

Town J on Sunday?

Ans: p.m.




Lydra then poured water rnto Tank A and Tank B Do ot write i
this column

: Both tanks are: emp y atfirst.
_untrl bath tar ks jf'ﬂlled to therr brim. If both tanks have the same height, how
much more water did Lydra pour into Tank A than Tank B? (Express your answer

in percentage)

TankA ' Tank B

30cm . : 24 cm

Ans: %

23. James walked at a speed of 70 m/min. How far did he walk in 3 h?

Ans: m 2




.
: : ’ Do notwrite ir
24. A car uses 8 litres of petrol to travel a distance of 104 km. How far can the car ~  |this column

.. travel on 30 litres Bf"pe

Ans; -~ km

25. Four different odd numbers add up to 24 and none of them is greater than 13.
The 2 smallest odd numbers add up to 6. What are the four odd numbers?

Ans: , , ,




| Questaons 26 tov‘30 carry 2 marks each Show your workmg clearly |n the space N
for each. questlon and write your answers in the spaces provnded e
’For questlons-whlch-‘requlre units, gwe your answersin the units stated (10 marks)

- 26. - Mrs Goh had some rice. She stored —g— of the rice in a container and packed half

of the remaining fice into 3 bagé. Each bag of rice weighed 4 kg. How much rice
did Mrs Goh have at first?

~ Ans: _ ' kg -

27. Last week, Ah Seng sold a total of (8d + 90) kg of durians during the weekdays.
He sold a total of (6d — 43) kg of durians during the weekend. What is the average
mass of durians sold last week?

Ans: kg

Do not write il

thts column




ho’ws a sequence of numbers starting with 8.-What is the value

8 11, 14 17, 20, ...

Ans:

29. The rectangle is made up of two 12-cm squares. AB // CD // EF. Find the area of
the shaded parts of the rectangle.

A <= B

Ans: cm?

| D& not write in
=} this column




Mr Yap has 65 blcycles and tncycles in hls shop:' The wheels of aII the blcycles Do not wiite i
PRSE e + this column -

and tncycles add up to 174

How many tncycles are there m Mr Yap s shop’?

Ans:

End of Paper 1

Please check your work thoroughly
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Questions 1 to 5 carry 2 marks each. Show your working clearly in the space below

;each questron andwrite your answers in the spaces provrded For questions which

o "requrre umts,, grve your answers in the: unlts stated. . .. ... ... (10 marks)

1 Eleven WOrkers ar:e} needed to sew 176 bieéesbf Qarments When the number of
| pieces. of garments i rs mcreased by 96, how many more workers are needed to
sew aII the garments wrthm the same time, presumrng the rate of sewing by each
worker remams the same'?

Ans:

2  Inthe figure, XY and VZ are straight lines. UVYWX is a rhombus and WYZ is an
isosceles triangle. ZXUV = 83°. Find ZWYZ. |

Ans: o

Do not write in.
this column




G, The ﬁgure below shows a trapezlum dwuded mto three parts A B and C The ratlo Do o not write in
: thts colur '

; ofAtansZ 5andtherat&oothoC|s3 2. R MR "
~ What is the ratio of A to B to C? (Give your answer in the simplest form)

Ans:

4. The table below shdws the rate of water charges for homes. Part of the table was

éccidentally torn off.

$1.19 perm?

First 40 m3

Above 40 m? /f

Mrs Chan used 73 m? of water and paid $95.78 last month. What is the water

charges rate for the use of water above 40 m3?

Ans: $




Do not wiite in’
;} this column

5. IfZoe adds another 65 stalks of camati basket of flowers, the fraction of

'~ did Zoe have at first?

Ans:




"'For questlons ,tolv 18 show your worklng clearly |n the space below each questlon
'n;‘the spaces prowded _The number of marks awarded is
] at the end of each questlon or part-questnon (50 marks)

shown in bracketst

6. Pete, Mark and Jim were given some funfair tickets to sefl. Each ticket cost $5.

Péteéold% of the tickets. Mark and Jim sold the remaining tickets in the ratio 1:3.

" Pete sold 115 tickets more than Mark. How much money did they collect
altogether?

Ans:_ - 3]

7.  The net of the cube shown below has a perimeter of 98 cm. Find the volume of

the cube.

An§: | [3]

Do not write ir
this column




8 Hamzah drove from Town A to Town B ‘He took: 1. d hours to drive. —g- ofthe -

3
dlstance ata speed "of 96 kmlh At what speedr must he contmue'to’dnve |n':order

2
to cover the remammg distance in 5 hour?. (Leave your-answer.in. mlxed number)

Ans: [3]

9. Gopal packed 10 identical vases into Box A. He packed 8 such vases into Box B,
in addition to 5 jugs, each weighing 1.2 kg. The total mass of the vases and jugs
in Box B was 3.8 kg less than the mass of the vases in Box A.
What was the total mass of all the vases and jugs?

Ans: ' 3]

Do not writ_e'.in'

‘_wttjais column




-0: The.ﬁgure below not drawn to scale shows 3 overlappmg |dent|cal tnangles WIth | 54 not write in-
overlappec areas of the same size, as indicated by the shaded portions. Thel e ook

- area of triangle EFG is 11 cm2 and thle" area of the who!e ﬂgure i 323 cm?, what is
4 ’--the area of each shaded part? : SRR

/><\

— 16cm —*

Ans: -~ [4]




f1.1 ] "Tan‘\k & Tank Y each contaln some water If Tank X drams water at a rate of é',?s"é’-.fm";": in

: ':A }} If Tank X drams water at’a rate of 34 Iltres per hour and Tank Y dratns‘water at a

- rate of 102 htres per hour, Tank X would be Ieﬂ w:th 1176 htres of water by the
time Tank Y is fully dramed

How much more water is there in Tank X than in Tank Y?

Ans: _ [4]




ighs 1 5 k' A 'cket of 1 rice welr" hsi_y1 7 kg more than a B0 vctwrisn

thls column

paekets‘of sugar than nce m hls |

shop The total mass of sugar and nee m h|s shep is 225 7 kg How many packets

of sugar d,.v es the shopkeeper have"

Ans: 14




b4

13. _The bar graph shows the number of concert trckets sold for the vanous seat Do fict write in
i : ; ST -this column

"ffcategones' except Category 3

100 - o
80 ' : A
] ) - 7 -
; ; T p T & X
Number 60 L R e
. ] ] 77
of . 77 ]
) . I '//
Tokets |, T
) - (77
| N 7
] . 77
T U 77
20 B = 77
] " 77
] A 77
] . . 7
1 . R 777
0 B 777

Category 1 Category 2 Category3 Category 4
The table shows the prices of the tickets.

Type of Ticket : Price per Ticket
Category 1 $88
Category 2 $68
Category 3 $48
Category 4 - $38

(a) The number of Category 3 tickets sold is equal to the average number of
tickets sold for the other categories.
Complete the bar graph by drawing the bar to show the number of
Category 3 tickets sold. o [1]

(b)  Among the 4 categories, from. which category was the most money
- collected? How much was collected from this category?

Ans:&) Category: (1]

b) Amount: [1]




| dis part of a solld ﬁgure E and F are two dots m the gnd | Do not wite ir
re aocordmg to the mstructrons below \ ' cowmn

R J

[
[
®
®
[ ]
[ 4

| (a) ‘Draw two lines, AE and BF, such that they are both parallel to CD. 1]

~.(b).. - Clearly label and join the points D, E and F to form a triangle DEF that is
' identical to triangle ABC. [2]

(c) - Write down the name of the completed solid figure.

Ans: (c) [1]




15 Meredlth tried to ﬁt some 3-cm cubes into the contamer below. The container has
' '. ‘:’;a dlmenslon of24 cm by 18 cm by 9 cm. A cuboid sohd measunng 4 cm by 4cm
“by9cm -has.been»ﬁxed to the exact centre of"the contamer o

What i is the maxnmum number of cubes Meredlth was able to fi t mto the contamer'?

24cm |

9cm

18 cm

b

24 cm

Top View of Container

Ans:

[4]

Do notwnte in
this column




re were 1600 bluevand yellow ’marbles ina contalner When the »number of blue
ellow marbles mcreaeed' by 15%, the
/ n the container increased by4 5% L '
f' .’How many.blue marbles were there in the oontamer at f rst?

Ans: 51

Do not write ii
this column




Do not write in
: thisoplumn

Ans: [5]




""Usmg then value of the ca!culator find the area of the shaded parts of the ﬁgure.

(Leave your answer correct to two decrmal pI _ces)

emrd-pomtof the

40 cm

151

End of Paper
— Please check your work thoroughly —-

Do not write
this column
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Q1

(75}

Q4

Q7 Q10 | 2 o3

Q2

Q5

=

Q8 Q11 Q14

Q3

b | o

06

[
O (G2 [

Q9

| (W

Q16
Q17
Q18
Q19
Q20
Q21
Q22
Q23
Q24
Q25
Q26

Q27

2.07

507

396
Figures B and C
3842
9:25 pm
50%
1400 m
390 km
1.5 711
60 kg

i4d + &
&

3 245

F44 em?

Q12 3 _le




Q30 44 tricycles

Paper 2

Q1

Q2

Q3

Q4

Q5

Q7

Q8

11 workers —> 176 pieces of garments
176 + 96 =272

176 +11=16

272 +16=17

17 - 11 = 6 workers

300 -
1—';'—83:" => 48.5°

73~ 40 =33

1:19 x 40 = 47.6
95.78 — 47.6 = 48.18
48.18 + 33 => $1.46

5u—->65
fu—>65+5=13
13 x 4 = 52 stalks

8-3=5

S5u—» 115
lu—115+5=23. .
20u = 23 x 20 =460 -
460 x 5 = $2300 '

98 +14=7
7x7x 7= 343 em?

Distance —> 128

ot |
Il

?f:' 128+ 4 — 32
32+ -z- = 30 Kis/in




SCqS  rfee

Q9 12x5=6
38+6=938
10¢—8v =2v
2v—> 9.8
lu—=>98+2=49
18v—>4.9x 18=88.2
88.2 +6 = 94.2 kg

Q10 323-11=312
312 > 3u+3p
112 > 1u+2p ;
336 — 3u + 6p
336—-312=24
3p—>24
Ip—>24+3=8cm?

Q11 8u— 1176 —-420="756
lu— 756+ 8=94.5
X =945+ 1176 =1270.5
Y —>94.5x 3 =283.5
1270.5 — 283.5 = 987 litres

Q12 Sugar — 1.5 kg
Rice = 1.7+ 1.5=3.2 kg
22x1.5=33kg
No. of packets (S + R) —= 225.7 kg
Mass of equal packets of S + R — 225.7 — 33 = 192.7 kg
IS+1IR - 1.5+3.2=4.7
192.7 + 4.7=41
Sugar —> 41 + 22 = 63 packets



Q13 (a) 68+96+64=228
228 +3=>76

Draw bar graph te show 76 no. of tickets

Category 3

(b) 68 x 88 =25984 (Cat 1)
68 x 96= 6528 (Cat 2)
48'x 76 = 3648 (Cat 3)
64 x 38 = 2432 (Cat 4)
“~Category : 2
Amount : $6528

&
¥

Q14 (a-afb)

Q15 7-6=1
4-3=1
1+1+1=3
2x3=6
6x2=12
1layer — 16 + 16 + 12 =44
3 layers —> 44 x 3 = 132 cubes



Q16

Q17

Q18

SCts PrgLit]

b 90B

T — 1600 — 90 = 1510
T15% Y

T — 1672

15% —> 1672 - 1510 = 162
1% —> 162 + 10.8

100% —> 1080

1600 — 1080 = 520 marbles

BC —» Ip+20=2u

CC— 3u+33=3p
2u—20=1p— x3
6u—60=23p
3u + 33 = 6u - 60
6u - 3u =3u
3u—>60+33=93
lu—>93+3=31

Total — 31 x 5~ 20 = 135 cookies

2u— 12
3u-—>-1_;2-xlB=]8
ixnx40x140=4007r

400 7z - 800 = half left

B-»%x13x28=252
c—>§x13x 12 =108

400 7= — 800 - 108 — 152 = 96.64 cm>

“
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Questions 1 to 10 canry 1 mark each. Quastions 11 10 15 carry 2 marks each. For each
question, four options are given. One of them is the correct answer. Make your cholce
(1, 2, 3or4). Shade the oval (1, 2, 3 or 4) on the Optical Answer Shest. (20 marks)

Which one of the following would most likely be the length of our school

canteen iable?
n 1.8cm
(72 18 ecm
{3) 18m
) 18m

By rounding each of the numbers {0 the nearest whole number, estimate

the value of:
18.5 +683.2x9.54
{1) 505
(2) 648
{3) 849
820

@ |

There were 200 people in an auditorium.
60 of them were children and the rest wera adulis.
What pefcentage of the peopls were adults?

1
(2)
3)
{4)

30%
40%
70%
140%

Pagsiof8



4 The figure below shows 11 identical squares. )
How many squaras must be added so that the line AB becomes a fine of

symmetry?
* »
® L ]
® ®
* @&
* »
®* ®
*® »

(1) 5

2 2

@» 3

@ 4
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5 The pie chart below shows the brands of moblle phones A, B, C, Dand E

sold in a year.

How many Brand C mobile phones were soki?

(1)
)
(3
{4

180
320
360

Page20of8



The figure below shows the net of a cube.
The faces are numbered 110 6. _
Which number is opposite 3 when the net is folded to make a cube?

8
N 1
) 2
3) 8
{4 4
Find the area ofiﬁang!e ABC,

C 7 ;k N3
) Lot -3
6em 8Boih
o) 20em*
2 28 om®
{3) 35 cm?
{3) 49 cm®

Lydla cycles at an average speed of 16 km/h.
How long does she take o cycle 20 kn?

(1) 48 min

{2) 1h4min
(3) 1 b 15 min-
{3) 1 h20min

Page3ol 6



8 In the figure below, AC and DF are straight lines.
F

A B '

Which of the following Is a trapezium?

()  BCDE
(2 BCDF
(3) ABDF
) - ACDF

10 Min Ho bought k pens at a bookshop.
_. He bought 6 more rulers than pens.
How many-pens and rulers did he buy in total?

{n k-8
{2) k+86
{3 =~ 2k-6
{4 . 2k+6

1 Acer, Beth and Candy sold a number of funfalr tickets.
Acer sold % of the tickets.

Beth sold 4 more tickets than Acer.
Candy sold 15 tickets,
How many tickets did Beth sell?

(1 18
(2 22
) 38
) 42

Pasndol'8



12

13

Anson will face the zoo if he makes a 226° anti-clockwise tum.
Where will Anson face if he makes a 270° clockwise tum, from his starting
position? i

{1 Home

{2) Cinema

(3) Supermarket -
{4) Amusement Park

Figure 1 and Figure 2 below are not drawn 1o scale.
Flgure 1 Is a reclangle with a perimeter of 28 cm.
Figure 2.is made up of 4 such rectangles.

The perimeter of Figure 2is 84 cm. |

Find the length of the side AB in Figure 2.

. A .
1B
 Figure 1
{1) 8cm
(2) 2cm Figure 2
3 9 cm
4 12cm

Rajesois



14 A student has to complete a total of four quizzes in Round 1 of a Math competition.
The scores for Kate’s first three quizzes are shown below.

Round 1
Quiz Score
1 18
2nd 13
3w 20
45 7?7

Kate will qualify for Round 2 if her average score for three of the four quizzes is 20 or
more. ‘
What is the lowest score Kate must get in the 4% quiz to qualify for Round 2?

i) 17

2 22
{3) 27
4 29

15 A repeated pattem is formed using the numbers 0, 1 and 2.
" The first.16 numbers are shown bslow. -

[ 2n ] 39 4B 6B Jen | 75 | g | 96 [ 100 | 11P ] 120 ] 139 | 149 ] 159 | 160
6l2 2(1l2{0l212zl1]2]0]2]2 ‘

What is tha sum of the first 58 numbers?

() 56
@ 63
3) 77
@ 82

Pagstol8
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Questions 16 to 25 camy 1 mark each. Write your answers in the spaces provided.

For questions which require units, give your answers In the units stated. (10 matks)

16 Whatis the value of 40 -2 x (8 + 10) + 27

17 Ewvaluate 561ens + '51(% + 6 hundredths.

,
Ans:
3

18  The figure below is made up of 4 identical rectangles and 1 shaded

triangle.
What fraction of the figure is shaded?

Page 1oty

Do not write
inthisspwc




19 Inthe grid below, lines AB.and BC form two sides of a parallelogram. go&m
Complete the parallelogram by drawing the other two sides in the arid pace

below.
B A B
N f
\ |
\\

20  The figurebelow is made up of triangles OAB and OCD.
Find Za+ Zb + Lo+ Zd.

Page 2017



21 Express 4.16 as a mixed number in the simplest form.

Ans:

22  Express 0.7% as a fraction,

23  John'completed a race in 160 seconds.
He was 35 seconds slower than Peter.
How long did Peter take to complete the race?
Give your answer in terms of minutes and seconds.

Pago 3of7
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24

The solid below consists of 1-cm cubes.
Find the volume of the solid.

Do not writs
in this space

25

Find the value of 4g + 10 +g~-T7wheng=5.

Ans:

Paged A7




Questions 26 to 30 cary 2 marks each. Show your working clearly in the space
your answers in the space provided for each question and write your answers in
the spaces provided. For questions which require units, give your answers in the
units stated. . {10 marks)

26 A drink mixture is made using 400 mt of water and 50 m! of syrup.
To make 1.35 litres of this mixture, how many litres of water will be .
needed? —— U o

Ans: £

Z7  The figure below is formed by 2 identical circles with centres F and H.
EFGH is a square and the length of FG Is 7 cm,
Find the perimeter of the shaded figure. ( Take 7 = 22 )

Page 50F7
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ABCD and CDEF are parallelograms.
ADEG is a rhombus.
Find ZADE.

118°,

Ans: °

Three groups of students sold notebooks and markers for charity.
They sold a notebock for $5 and a marker for $3. ,
The table shows the number of notebooks and markers sold by the three

groups.

Number of items sold

Group Notebook . Marker
7 ) 5
Z o G

{a) Which group collected the most amount of money?
{b) What was the amount collected by that group?

Ans: (a) Group

(b)$

Pogedol7

Do pot write
in this space |




30

There are 3 types of roses in a box.

The ratio of the'total number of red roses to the total number of pink
rosesis1:2.

Theratio of the total number of white roses to the total number of red
roses and pink roses is 7 : 5.

What fraction of all the roses in the box are pink roses?

Give your answer as a fraction in its simplest form.

Ans:

END OF PAPER
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Questions 1 to 5 camy 2 marks each. Show your'working clearly in the space
provided for each question and write your answers in the spaces provided. For

questions which require units, give your answers in the units stated. (10 marks)

1 Faith saves $6w.
Her sister saves $7 more than her.
How much do Faith and her sister save altogether?
Give your answer in terms of w.

Ans: $

2 -The figure below Is formex using 2 identical squares.of side 15 cmand 2
equilateral triangles.
Find the perimeter of the figure.

Pagetof14
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3 Inthe figure below, AEF and FGH are isoscoles triangles.
GC is parallel to FD.
Given that ZEBC = 61°, find Zy.

A

dow

¥y 7 81° 4

Ans:

4 The number of visitors to a 200 was 10 000 in Sepiember:
This was a 20% decrease from the in August.
How many visitors were there in August?

Pago20f 14

Do not wike
in this space




§ The graph below shows the amount of water used by Tom’s family from

January o April. Part of the graph was accidentally tom away.

The average amount of water used from January o April was 18.75 m3,

- -

-

Januzary '

Fabrumy. - March

What was the family’s water usags in April?

L2 4

Apnd

Do not write
in this space

Pagu3olisg
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For questions 6 to 18, show your working clearly i the space provided for each ?,“,,‘,;.?‘;Z’f,.g

question and write your answers in the spaces provided. The number of marks
available is shown in brackets [ ] at the end of each question or pant-question.
{50 marks)

6 Mr Max bought 6 Identical red shirts and 6 identical blue shirts.
The total cost of the shirts was $372.
Each blue shirt cost $6.80 more than each red shirt.
What was the cost of one red shirt?

Ans: {3]

7 Andy and Brady travelled from Town C to Town D along the same route.
Andy started his journey 18 minutes earlier than Brady.
Brady travelled 84 km at an average speed of 70 km/h for the whols
journey. .
Both Andy and Brady anived at Town D at the same time. -
Find Andy’s average speed in kmsh,

Pago4of 14



8

David bought soms 30-cent stamps and some 80-cent slamps for $28.90. -
There were three times as many 30-cent stamps as 80-cent stamps.
How many 30-cent stamps were there?

Ans: {3}

The original price of a washing machine was $900.
Mrs Les bought the washing machine at a discount of 15%.

(a) What was the discounted price of the washing machine?

(b) If there was a GST of 7% on the discounted price of the washmg
machine. how much did Mrs Lee pay in total?

1

(a)
" (b)

E E

Do not write
in this space

PapaSolid



10 The bar graph below shows the number of visitors who visited a camival

for the first 8 months of the year.
Number
of
visitors
In June, —2— of the visitors were adults and the rest were chikdren.
The number of girls in June was the same as the number of visitors in
March.
(a) How.many boys visited the camival in June?.
{b) What fraction of the visitors in June were boys? .
Give your answer as a fraction in its simplest form.
Ans: {a) | [2]
{b) [1]

Do notwiite
in this space

Poge Sof14




11

In the figure below, PQRS is a thombus afd RSTW Is a trapezium,
Find ZQPR.

P
28'0
T 5 Q
68°
w R
Ans:

Do not write
inthis space

Page7 of 14




12

John's ageis —;— of his grandmother’s age now.

His grandmother will be 89 years old in 18 years’ time.
{a) How old is John's grarkimother now?

(b} In how many years' time will Jobn’s age be % that of his

grandmother?

Do notwrite
in this space

Page 3of 14




13

In the figure below, 2 identical right-angled triangles overlap.
AC is 5 om and the area that overlaps is CDE.
Find the area of the shaded part. -

12¢n

PagoBoti4

Do not write
inthis space




14

Tank A is filled with water to a helght of 11-cm.

The water in Tark A is poured slowly into an emply rectangular tank until

the water In both tanks reach the same helght without spilling.

(a) What is the volume of water in Tank A at first?

{b) Find the height of the water level in each tank.

dem Emply Taink
Tank A
Ans: {a)
b)

| kb

| Do not write

in this space

Page 100114




15

Nathan had some money.
He spent 33" of it ona T-shirt and % of the remainder on a pair of shoes.
After that, his parents gave him $715.
“The ratio of the total amount of money he had left at the end to the
amount of money he had at firstwas 9: 4
How mugch did Nathan have at first?
Ans: - [41

Do not write
in this space

Pagettofid



16

The figure below is made up of 2 identical semicirdles enclosed in a quarter | D020t write

circle.

The radius of the quarter circle is 42 cm.
Find the area of the shaded part.

(Take n=3.14)

{5

in this space

Pape 120113




17

A fruit stall owner had some pears, apples and oranges.
ForevmyZpeaxs there were 3 apples.
For every 9 apples, there were 5 oranges.

(a) What was the ratio of the numbar of peats fo the number of applesto
the number of oranges the frult stall owner had?
Give your answer in the simplest form.

(b) 40 pears were rotten and thrown away.
Then the ratio of the remaining pears to the total number of apples
and orangeswas 1: 4,
How many fruits did the fruit stall owner have at first?

Ans: {(a) [1}

Do notwrite
In this space

{b) [4]

Page 13 of 14
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18

At a camival, the number of children is thres times the number of adults.

% of the boys is equal to g of the girls,

The number of cockies given fo each adult, boy and glil is'9, 6 and 3
respectively.

The total number of cookies given to the boys is 1440 more than the total
number of cookles given o the adults,

(a) Find the total number of cookies given out at the camival,
{b) Find the number of girls at the camival.

Ans: {(a) (4]

Do not write
In this spacs

() [11

END OF PAPER
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ANSWER SHEET

EXAM PAPER 2017 (P6)
SCHOOL : ST. HILDA’S
SUBJECT : MATHEMATICS

TERM : PRELIM
Q1 o2 Q3 Q4 Q5 Q6 Q7 Q38 Q9 Qio
3 3 3 1 2 1 3 3 2 4
Q11 Q12 Q13 Q14 Q15 ’
4 2 2 2 4
16)22 17)560.21 18) % 19) ]
B -, A
20)230°  21)4as 22)7/1000 717 L
INEEN N
23)2min5s 24)8cm3  25)28 | N N
26)1.2L 27)66cm 28)145° —N N
1 N
29)a)2  b)$63 Tt .

30)5/18



Paper 2
l)ew+7=6w+7
6w+bw+7=12w+7
ANS: ${12w+7)
2)15 x4 =60
30x2=60
60 + 60 = 120cm
3)180° —61° =119°
Z£y=180° —61° —61° =58°
4)80% ~>10000
20% ->2500
100% —>12500
5)18.75 x4 = 75 |
75-18-13~-24 = 20m3
6)6.8 + 6 = 40.8 ’
372 -40.8 = 331.2
331.2< 12 = $27.60
7)84+-70=1.2
1.2x60=72
72+18=90
84-1.5 = 56km/h



8)3x0.3=0.9
0.9+0.8=17
28.9+-1.7 =17 (set)
17x3~51 starﬁps
9)a)85% x 900 = 765
b)107% x 765 = 818.55
10)a)2/5 x 4500 = 1800
b)4500 — 1800 — 2000 = 700 boys
700/4500 = 7/45
11) /TSR = 180° —68° =112°
180° -28° —-28° =124°
360° —-124° -112° =124°
180° -124° —56°
ZQPR=56° 2=28"
12)99 - 18 = 81
9u—>81
1u>9
2u—>18
81-18=63
3u—>63
1u—>21
21—-18=3
a)81 years old
b)3 years



13)7+2=79
Y2+7+5=175
175 +49 = 66.5cm2

14)10x 12 x 11 =1320
10x 12 =120
5x6=30
120 +30 =150
320150 =8.8
a)1320cm3
b)8.8cm

15)1/8 x 352 = 44
352—-44 =308
308 x % =231
308x% =77
77 +715 =792
792+ 9=88
88 x4 = $352



16) % x 21 x21=220.5
% x3.14 x 21 x 21 = 346.185
346.185 ~ 220.5 = 125.685
125.685 x 2 = 251.37
Y% 21 x21x3.14 =692.37
6592.37 - 251.37 =441
692.37 +441 = 1133.37
Y% x3.14 x42 x 42 =1384.74
1384.74 - 1133.37 = 215.37cm?2
17)a)6 :9 :5
b)320 fruits
18)a)33120 cookies
b)1920 girls
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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 canry 2 marks each:. For
each question, four options are given. One of them is the correct answer. Make your
choice (1, 2, 3 or 4). Shade the comrect oval (1, 2, 3, or 4) on the Optical Answer

Shest.
{20 marks)

1. In 42.315, what does the digit 3 stand for?

(1) 3ones
(2} 3tenths
(3) 3hundreds

(4) 3 thousandths

2. Which one of the following fractions is the smallest?

M 2
@ =
@) -g-
@ 3

3. Express 6% as a decimal.

(1) 6.129
(2) 6.34
(3) 6.75

@) 6912



4.  Part of a scale is shown below. What is the value indicated by the arrow?

1.9 2.0 I 2.1
?
(1) 2.003
(2) 2.006
(3) 2.03
(4) 2.06

5. A machine can pack 10f boxes of chocolates in 5 hours. At this rate, how many boxes
of chocolates can it pack in 1 hour?

M S
2 2
@) 15

(4) 50j

6. Which one of the following would be the most likely length of a bed for an adult?

(1) 1.9cm
(2) 19 cm
(3)1.9m

(4)19m



7. Steven completed a puzzle in 132 seconds. He was 39 seconds faster than Thomas.
How long did Thomas take to complete the puzzle?

(1) 1min33s
(2) 1minS5s
(3) 2min51s

4) 3min25s

8.  The figure below shows a line DE and 4 points, L, M, N and P.
Which point will form an angle greater than 45° but smaller than 90° at pojnt E?

E
D
L é P
M
N

1) L
2y M
3) N
4 P



Which one of the following unit shapes cannot be tessellated?
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10. During a promotion, Tasty Bakery gave away a free pancake for every 4 pancakes
purchased. What was the percentage discount offered during the promotion?

(1) 20%
(2) 25%
(3) 75%

(4) 80%

11.  In the figure below, DBF is an equilateral triangle. ABF and ACE are straight lines.
What is the difference between the marked angles, ZCED and £ BFD?

{1y 300°
(2) 261°
(3) 219°

(4) 180°



12.

13.

The table below shows the charges for bicycle rental.

Bicycle for Rent

Deposit $40

Charges per 15 minutes | $0.50

Chang wants to renta bicycle for 3 hours. How much does he need to pay, including the
deposit?

(1) $46
(2) $42
(3) $41.50

(4) $40.50

The table below shows the number of 11-year-old and 12-year-old childrenin a
horse-riding class. Some information is missing.

11-year-old | 12-year-oid Total
Boys 9 16 25
Girls . o 40
Total : ' 48

Based on the given information in the table, which one of the following statements is
comreci?

(1) There are 17 girls who are 11 S/ears 6ld.
(2) The total number of girls is fewer than the i{otal number of boys.

(3) The number of 11-year-old boys is 36% of the total number of bpys.

1(4) The ratio of the number of 12-year-old giris to the number of 11-year-old girls

T is1:4.



14.  Mrs Tang bought some sugar. She used % qf,"the_ sugar on Monday and % of it

on Tuesday. The amount of sugar she had left was 132 g. How much sugar did
Mrs Tang buy?

(1) 220g
(2) 330g
(3) 363g

(4) 495g

15.  The figure below, notdrawn to scale, shows a circle that is divided into 4 parts,
A, B, C and D. Line XY is the diameter of the circle.

Area Ais —12— of Area B. Area C is 5 times of Area D. The area of A is 26 cm®. Find

the area of C.

(1) 13cm?
(20 52om?
(3) 65cm?
@) 130 cm?

** END OF BOOKLET A™
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Questions 16 fo 25 camry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units stated.
(10 marks)

16. Given e =9, find the value of 20e - 1Be+4+(e x“5).

Ans :

17. The number of visitors to a tourist attraction last year was 212 000 when |

rounded off fo the nearest thousand. What was the largest possible number of
visitors to this tourist atiraction last year?

" Ans:

18.  Using any two of the numbers in the box below, form the largest 2-digit number |

which is a multiple of 4.

8, 8,9

Ans:

Do not
wrile In
this space




19.  Atrain travelled 390 km at an average speed of 90 km/h. What was the time Do not

taken? Leave your answer as a mixed number in the simplest form. write in
this space

Ans

20. How many cubes are used to form this solid?

Ans:




21.  Find the area of the shaded triangle.

12 cm

22. Inthe figure below, which two st;uares should be removed to make line AB
the line of symmetry? Shade the two squares.

Do not
write In
this space




Use the information given below to answer questions 23 and 24.

During a class party, some games were played. Each game was played only

once,

The table shows the number of games some children played during the class

party.
Number of games played 0 1 2 3
Number of children 10 7 12 9
23. How many children played at least 1 game?
Ans:

24.  The games lasted 15 minutes each. What was the longest time that one of
these children could have been playing games?

Ans: min

Do not
wiite in
this space




Use the information below to answer question 25.

The figure shows a park.

Qg} Playground

Café A

Jogging track N
g 9jed

v Pond

Jogging track M

g stands for a yellow flame tree
v - stands for a saga tree
O; stands for a rain tree

25.  Which type of trees, yellow flame trees, saga trees or rain trees, forms a line

parallel to jogging track M?

Do not
write in

this space




Questions 26 to 30 carry 2 marks each. Show your working clearly and wiite your | Donot
answers in the spaces provided. For questions which require units, give your | Writein

answers in the units stated. {10 marks) gg: e

26. The participants in a contest are Primary 5 and Primary 6 pupils in the ratio 7 : 6.
All the Primary § participants are boys. Among the Primary 6 participants, the
ratio of the number of girls to the number of boys is 2 : 3. What fraction of the
total humber of Primary 5 and Primary 6 participants are boys?

Ans:




27.

A group of kindergarten children were asked to vote for their favourite food.
The bar graph below shows their choices.

The difference between the number of children who voted for the most popular
food and the number of children who voted for the next most popular food was

30.

How many children voted for porridge as their favourite food?

30‘ 3

porridge  pasta fries nocdles  burger

Number of Children

Ans:

Do not
write in
this
space




28. LiWen had two pieces of wire of the same length. She used one piece of wire to | Donot
form an equilateral triangle of side 27 cm. She used the other piece of wire to | Witein

form a square but had 17 cm of the wire left. What was the length of the square? | :’;:ce

Ans: cm

29.  Atfirst, on a bookshelf, -;;% of the books were non-fiction books and the rest

were fiction books, % of the fiction books and -;» of the non-fiction books were

removed. Twelve non-fiction books were removed. How many books were left
on the bookshelf altogether?




30. The figure below is made up of 3 big quadrants and 1 small quadrant. Do not
O is the centre of the circle and the diameter of the circle is 28 cm. s

Find the perimeter of the figure. (Teken = %—,2-) space

Ans i . i __om

** END OF BOOKLET B* l
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Questions 1 1o § canry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your

answers in the units stated.

{10 marks)

Joon Kee wants to move from point A to point E. He can only move south or east
along the grid lines. He also must not cross points B, C and D. The grid below
shows one way Joon Kee can move from point A to point E.

g
BO-
e
b‘
_IE

T

In each of the grids below, illusirate another two different ways that Joon Kee
can move south or east from point A to point E, without crossing points B, C and

D.
A A
$. .. & —
B B
t ! ;
. Gc OC
,QL D}
oE —

Do not
write in
this space




2.

The mass of a pot was (3 + 97) kg. The mass of a flask was 3 kg less than
the pot. Find the total mass of 1 such pot and 2 such flasks.

Ans:__ . kg

Jenny had a bottle of 0. 127 of medicine. She was supposed to take an equal
amount each day, She did not take the medicine on the 3" day. At the end of the
5™ day, she stopped taking the medicine. Half the bottle of medicine was left.
How much medicine did Jenny take each day?

Ans: mi

Do not
write

in this
space




4.,  Tim wantis to use triangular cards to cover a rectangular cardboard of length

Do not

36 cm and breadth 21 cm completaly, with no overlapping. One such triangular Wge in
car